					LOCATION LIST									
		Notice for App	ointment				nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in KIs	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	TEKAL VILLAGE, MALUR TALUK	KOLAR	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
2	Manjili Village, Chowdadenahalli Panchayat, Kolar Taluk	KOLAR	RURAL	90	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
3	IRAGAMPALLI VILLAGE, CHINTAMANI TALUK	CHIKKABALLAPUR	RURAL	72	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
4	PATHEPALYA, SIDHLAGATTA TALUK	CHIKKABALLAPUR	RURAL	90	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
5	N.GANADAKATTE	DAVANAGERE	RURAL	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
6	Biderakere	DAVANAGERE	RURAL	96	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
7	Karalahalli - Sarathi road	DAVANAGERE	RURAL	83	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
8	Gopanal cross on Bada Road	DAVANAGERE	RURAL	66	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
9	MALLADIHALLI CROSS NOT ON NH 369 (NEAR DUGGANAHAL GATE)	CHITRADURGA	RURAL	40	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
10	Jade	SHIMOGA	RURAL	100	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
11	kalalavadi village to doora , mysore dist	MYSORE	RURAL	62	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
12	Mirle Village Limits (KR Nagar Mandal)	MYSORE	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
13	KOLALA VILLAGE, TUMKUR	TUMKUR	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
14	Kothagere Not on SH	TUMKUR	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
	GADAG TO BELDAHADI VILLAGE ROAD, NEAR AND													
15	WITHIN LIMITS OF NAGAVI VILLAGE	GADAG	RURAL	67	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
16	Gamangatti Industrial Area	DHARWAD	RURAL	110	ST	CFS CFS	30	25	750	0	0	Draw of Lots	0	2
17	YELLAMMA TEMPLE, WITHIN 2-3 KM RADIUS	BELGAUM	RURAL	78	SC	UFS	30	25	750	U	0	Draw of Lots	0	2
18	CHILLARGI VILLAGE (TOWARDS TELANGANA BOARDER), BIDAR TALUK	BIDAR	RURAL	140	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
19	WITHIN 1KM FROM ORIENT CEMENT FACTORY GATE ON ITGA ROAD TOWARDS CHITTAPUR	GULBARGA	RURAL	200	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
20	mallapur village-raichur taluka	RAICHUR	RURAL	160	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
21	K NARAYANAPURA CROSS TO REVA COLLEGE ON THANISANDRA MAIN ROAD	BANGALORE URBAN	REGULAR	250	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
22	K.NARAYANPURA CROSS TO KOTHANUR	BANGALORE URBAN	REGULAR	250	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
23	Hosakerehalli, Bangalore city	BANGALORE URBAN	REGULAR	400	ST	CFS	20	20	500	0	0	Draw of Lots	0	3
24	ON KANAKAPURA ROAD BETWEEN DODAKALSNDRA & NICE ROAD JN ON LHS	BANGALORE URBAN	REGULAR	380	ST	CFS	20	20	500	0	0	Draw of Lots	0	3

					LOCATION LIST									
		Notice for App	ointment				nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensio	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
25	CHANDRA LAYOUT NEAR VIJAYANAGAR	BANGALORE URBAN	REGULAR	170	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
26	BETWEEN COMMERCIAL TAX CHECK POST AND M.KOLATHUR LHS ON NH75 (Old NH4)	BANGALORE RURAL	REGULAR	355	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
27	BETWEEN HOSKOTE TO MALUR ON SH95	BANGALORE RURAL	REGULAR	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
28	ATTIBELE TOWN TOWARDS SARJAPUR ON RHS	BANGALORE URBAN	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
29	CHANDAPURA TOWN	BANGALORE URBAN	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
30	BETWEEN BOMMASANDRA TO NERLUR ON HOSUR MAIN ROAD, LHS TOWARDS NERLUR	BANGALORE URBAN	REGULAR	560	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
31	Gerahalli, Banashankari, Bangalore South	BANGALORE URBAN	REGULAR	500	ST	CFS	20	20	500	0	0	Draw of Lots	0	3
32	BOMMASANDRA INDUSTRIAL AREA, HEBBAGODI	BANGALORE URBAN	REGULAR	240	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
33	GOLLAHALLI ON GOLLAHALLI ECITY ROAD	BANGALORE URBAN	REGULAR	140	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
34	BETWEEN BBMP OFFICE VARTHUR AND GUNJUR	BANGALORE URBAN	REGULAR	260	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
35	Kenchenhalli - Mysore Road towards Bangalore City	BANGALORE URBAN	REGULAR	280	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
36	Nagarakatte on Jaglur road	DAVANAGERE	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
37	ON NH13 KALLEDEVARAPURA(ON LHS OF NH13 FROM KUDLIGI TO CHITRADURGA)	DAVANAGERE	REGULAR	195	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
38	Hosakere on SH 45 between Jagalur and Kottur	DAVANAGERE	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
39	BENKIKERE ON NH13	DAVANAGERE	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
40	TAMMENAHALLI, ON NH 150A	CHITRADURGA	REGULAR	205	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
41	HULAGALAKUNTE CIRCLE, HIRIYUR ON NH 150A.	CHITRADURGA	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	ON LHS,ON NH 04, WITH IN 5 KILOMETERS FROM													
42	HIRIYUR TO BANGLORE.	CHITRADURGA	REGULAR	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
43	Amanahal towards Aarehalli RHS within 3 kms on NH 369	CHITRADURGA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
43	B DURGA ON SH 48 WITHIN 1 KM	CHITRADURGA	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
45	HOLALKERE TO CHEERANAHALLI GATE (RHS) ON SH 47	CHITRADURGA	REGULAR	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
45	STRETCH BETWEEN PADIL AND ADYAR ON NH	DAKSHINA KANNADA	REGULAR	190	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
40	ALANGAR	DAKSHINA KANNADA	REGULAR	225	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
48	BHADRAVATHI BETWEEN RANGAPPA CIRCLE & NEW BRIDGE ROAD BHANDRAHALLI	SHIMOGA	REGULAR	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area d	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
49	RHS, JANNAPURA TO MUDIGERE ON NH234 WITHIN 1.5 KM, CHIKMAGALUR DISTRICT	CHIKMAGALUR	REGULAR	175	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
50	Galehali on SH-57	CHIKMAGALUR	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
51	BELLARE	DAKSHINA KANNADA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
52	VENOOR	DAKSHINA KANNADA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
53	LHS ON NH275 B/W RAMANAGARAM AND BIDADI	RAMANAGARA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	LHS ON NH75 B/W SOLUR AND GUDEMARANAHALLI													
54	HANDPOST WITHIN RAMNAGARA DIST	RAMANAGARA	REGULAR	235	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	LHS ON NH275 FROM MADDUR TO MANDYA													
55	(WITHIN 3KMS FROM MADDUR BUS STAND)	MANDYA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
56	From Alanahally Ring Road Junction to T Narsipura on NH 212 RHS	MYSORE	REGULAR	310	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
57	LHS, ON NH75,CHANNARAYAPATNA TO HIRISAVE, HASSAN DISTRICT	HASSAN	REGULAR	190	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
58	Magadi to Gudemaranahalli road	RAMANAGARA	REGULAR	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
59	sakleshpur town , saraswatipuram area	HASSAN	REGULAR	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
60	hassan city on belur ring road within 500 mtr from apmc , rhs	HASSAN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
61	Harohalli town	RAMANAGARA	REGULAR	220	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
62	RAMANAGARAM TOWN (NOT ON SH AND NH)	RAMANAGARA	REGULAR	210	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
63	TIPTUR TOWN(CHAMUNDESHWARI LAYOUT)	TUMKUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	MADDUR TOWN LIMITS on VAIDYANATHAPURA	-				-								
64	VILLAGE ROAD	MANDYA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
65	Bandipalya to Kadukola LHS on NH 212/765	MYSORE	REGULAR	300	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	NANDIKESHWAR VILLAGE LIMITS IN BADAMI TALUKA													
66	ON SH 14	BAGALKOT	REGULAR	113	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
67	WITHIN 3KM OF MAJALATTI VILLAGE	BELGAUM	REGULAR	100	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
68	Navanagar, Hubli	DHARWAD	REGULAR	159	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
69	In and around 8 Kms of Banhatti	BAGALKOT	REGULAR	160	SC	CFS	35	35 20	1225 500	0	0	Draw of Lots	0	3
70	MARIGUDDI CROSS TO MARIGUDDI VILLAGE	BAGALKOT	REGULAR	110 200	SC ST	CFS CFS	25		500 1225	0	0	Draw of Lots	0	3
71 72	WITHIN 2KM OF BACHI VILLAGE ON SH-20 WITHIN 1 km of TIMMAPUR CROSS	BELGAUM BELGAUM	REGULAR REGULAR	200	SC	CFS	35 25	35 20	500	0	0	Draw of Lots Draw of Lots	0	3
L			REGULAR							-	-			-

					LOCATION LIST									
		Notice for App	ointment				nins in the	e state d	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area d	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
73	Rayapur Village, Hubli- Dharwad Road.	DHARWAD	REGULAR	175	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
74	Unkal Cross to Hosur Circle (on PB Road), Hubli City	DHARWAD	REGULAR	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
75	Pale Village (On NH4)	DHARWAD	REGULAR	220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
76	Tarihal Industrial Area, Hubli	DHARWAD	REGULAR	262	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
77	From Anchatgiri to Kalghatgi (on NH 63)	DHARWAD	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
78	WITHN 1KM FROM BHANGOOR CROSS ON SH-122 TOWARDS CHINCHOLI	BIDAR	REGULAR	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
79	BETWEEN MANGALGI AND KAPPARGAON VILLAGE ON NH-09(65) LHS TOWARDS HUMNABAD	BIDAR	REGULAR	405	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
80	FROM METHAGAL TO GUNNAL, ON NH 50(OLD NH 13), LHS TOWARDS KUSHTAGI	KOPPAL	REGULAR	153	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
81	BUKSAGAR, KADAIBAGELU CIRCLE TO SANGAPUR ON SH 130	KOPPAL	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
82	BETWEEN 1KM AND 5KM OF BIJAPUR KASABA TOLL PLAZA TOWARDS HOSPET SIDE ON RHS ON NH50	BIJAPUR	REGULAR	680	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
83	WITHIN 5KM RADIUS OF ALMEL TOWN ON INDI AFZALPUR ROAD	BIJAPUR	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
84	KOTTURU TOWN WITHIN MUNICIPAL LIMITS	BELLARY	REGULAR	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
85	LHS ON PROPOSED BELLARY BYPASS (NH 67) TOWARDS GOOTY	BELLARY	REGULAR	300	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
86	BELLARY TOWN, KALAMMA STREET AP BORDER TO PARAMADEVANAHALLI LHS ON NH	BELLARY	REGULAR	254	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
87	67	BELLARY	REGULAR	295	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
88	KALMALA TO SIRWAR ON SH-20, RHS	RAICHUR	REGULAR	223	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
89	KAVITAL ON SH 20	RAICHUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
90	DUNNASANDRA, HOSKOTE TALUK	BANGALORE RURAL	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
91	NANGALI VILLAGE, MULBAGAL TALUK	KOLAR	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
92	NANDHAGUDI VILLAGE, HOSKOTE TALUK	BANGALORE RURAL	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
93	MYLANAHALLI, DEVANAHALLI TALUK	BANGALORE RURAL	RURAL	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
94	VEERAPURA VILLAGE, DODDABALLAPUR TALUK	BANGALORE RURAL	RURAL	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
95	SUGATTUR VILLAGE, KOLAR TALUK	KOLAR	RURAL	90	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
96	BUDIGERE VILLAGE	BANGALORE RURAL	RURAL	150	SC	CFS	30	25	750	0	0	Draw of Lots	0	2

					LOCATION LIST									
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state (of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area d	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
97	CHIKKENAHALLI VILLAGE ON VIJAYAPURA TO CHIKKABALLAPUR ROAD	BANGALORE RURAL	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
51	ON SOUKYA ROAD, BETWEEN DEVALAPUR BUS STOP	DANGALORE NURAL	NUKAL	110	UPEN		30	23	730	12	30		5	4
	(MAKANAHALLI ROAD) AND SOUKYA HOSPITAL													
98	JUNCTION	BANGALORE RURAL	RURAL	150	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
99	BUDIKOTE HOBLI, BANGARPET TALUK	KOLAR	RURAL	90	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
100	WITHIN 3KM FROM UGANAVADI CIRCLE, ON IVC ROAD, DEVANAHALLI TALUK	BANGALORE RURAL	RURAL	140	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
100	YELLODU VILLAGE, GUDIBANDA TALUK	CHIKKABALLAPUR	RURAL	140	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
101	HEBBANI VILLAGE, MULBAGAL TALUK	KOLAR	RURAL	90	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
102	From Mulbagal taluk office towards Ramasamudram	KOLAN	NUNAL	30	OBC	DC	30	25	750	12	30	Draw of Lots	5	5
103	road upto 3 kms	KOLAR	RURAL	75	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
104	Indranagar(narsapura) to udaya complex (vemgal) on connecting road	KOLAR	RURAL	150	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
105	BETWEEN AIRPORT SECOND GATE AND BEGUR VILLAGE, DEVANAHALLI TALUK	BANGALORE RURAL	RURAL	75	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
106	TALAROLLAPALLI VILLAGE, CHINTAMANI TALUK	CHIKKABALLAPUR	RURAL	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
107	THOTLI VILLAGE, KOLAR TALUK	KOLAR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
108	PERESANDRA VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
109	IRAGAMPALLI, CHINTAMANI TALUK	CHIKKABALLAPUR	RURAL	80	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
110	BILLUR VILLAGE, BAGEPALLI TALUK	CHIKKABALLAPUR	RURAL	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
111	MANCHANABELE VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
112	GOWDALLI VILLAGE, KOLAR TALUK	KOLAR	RURAL	90	OPEN CC 2	DC	30	25	750	12	30	Draw of Lots	5	4
113	LAKKUR, MALUR TALUK	KOLAR	RURAL	90	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
114	yallagondahalli village, devarayasamundra panchayat, mulbagal taluk	KOLAR	RURAL	142	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
114	MEDIHALA VILLAGE, KOLAR TALUK	KOLAR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
115	KONDARAJANAHALLI VILLAGE, KOLAR TALUK	KOLAR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
110	THIMMAMPALLI VILLAGE, BAGEPALLI TALUK	CHIKKABALLAPUR	RURAL	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
117	KANCHALA VILLAGE, MALUR TALUK	KOLAR	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
119	KODI RAMASANDRA VILLAGE, KOLAR TALUK	KOLAR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
120	KODI KANNUR VILLAGE, KOLAR TALUK	KOLAR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
120													-	

					LOCATION LIST									
		Notice for App	ointment		Rural Retail O		nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
121	SOMAGHATTA VILLAGE, BAGEPALLI TALUK (WITHIN KARNATAKA LIMITS)	CHIKKABALLAPUR	RURAL	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
121	MUSTOOR VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
123	GUNDLAGURKI VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
124	KADRIPURA VILLAGE, KOLAR TALUK	KOLAR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
125	GOPINDEVARAPALLI VILLAGE, GUDIBANDA TALUK	CHIKKABALLAPUR	RURAL	90	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
126	ALIPUR VILLAGE, GAURIBIDNUR TALUK	CHIKKABALLAPUR	RURAL	80	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
127	MASTHI VILLAGE, MALUR TALUK	KOLAR	RURAL	90	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
128	KARISANDRA VILLAGE, MALUR TALUK	KOLAR	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
129	HOLUR VILLAGE, KOLAR TALUK	KOLAR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
130	HAROBANDE VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
131	KANCHISAMUDRAM VILLAGE, GAURIBIDANUR TALUK (WITHIN KARNATAKA LIMITS)	CHIKKABALLAPUR	RURAL	240	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
132	KYASAMBALLI VILLAGE, BANGARPET TALUK	KOLAR	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
133	CHANNASANDRA VILLAGE, KOLAR TALUK	KOLAR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
134	BELLUR VILLAGE, KOLAR TALUK	KOLAR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
135	KAMASAMUDRA, BANGARPET TALUK (not on SH)	KOLAR	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
136	CHELUR VILLAGE, BAGEPALLI TALUK	CHIKKABALLAPUR	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
137	AVALAGURKI VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
138	ARABIKOTHANUR VILLAGE, KOLAR TALUK	KOLAR	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
139	KAIVARA, CHINTAMANI TALUK	CHIKKABALLAPUR	RURAL	90	OBC PH	DC	30	25	750	12	30	Draw of Lots	5	3
140	SRIRAMAPAURA VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	60	SC PH	CFS	30	25	750	0	0	Draw of Lots	0	2
141	AROOR VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	150	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
142	Tayalur Village, Mulbagul Taluk	KOLAR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
143	KYALANUR VILLAGE , KOLAR TALUK	KOLAR	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
144	KALLUDI, GOWRIBIDANUR TALUK	CHIKKABALLAPUR	RURAL	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
145	NAGARAGERE VILLAGE, GAURIBIDANUR TALUK	CHIKKABALLAPUR	RURAL	90	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
146	GOWNIPALLI VILLAGE, SRINIVASPUR TALUK	KOLAR	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
147	AGALAGURKI VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	150	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
148	GANGREKALUVE VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
149	DODDAMARALLI VILLAGE, CHIKBALLAPUR TALUK	CHIKKABALLAPUR	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2

					LOCATION LIST	- BPCL								
		Notice for App	ointment				nips in the	e state (of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
150	MANDARTHI TO HERADY	UDUPI	RURAL	120	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
151	Renukapura Village, Chitradurga dist	CHITRADURGA	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
152	YEREKOPPA VILLAGE, SHIMOGA DISTRICT	SHIMOGA	RURAL	75	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
153	MADAVU NOT ON SH	DAKSHINA KANNADA	RURAL	75	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
154	Harakanulu	DAVANAGERE	RURAL	95	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
155	GERSOPPA VILLAGE	UTTARA KANNADA	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
156	HANGARKETTE PORT	UDUPI	RURAL	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
157	SAJIPA	DAKSHINA KANNADA	RURAL	75	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
158	MALLANDUR VILLAGE, CHICKMAGALUR DISTRICT	CHIKMAGALUR	RURAL	75	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
159	MULLIKATTE VILLAGE NOT ON NH	UDUPI	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
160	TRASI TO GANGOLLI NOT ON NH	UDUPI	RURAL	115	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
161	TALLUR TO NERALAKATTE	UDUPI	RURAL	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
162	Bilichodu	DAVANAGERE	RURAL	63	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
163	BELAGURU VILLAGE NOT ON SH 152	CHITRADURGA	RURAL	65	ST CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
164	Kattehakkalu	SHIMOGA	RURAL	65	OPEN PH	DC	30	25	750	12	30	Draw of Lots	5	4
165	CHANDAVARA VILLAGE - WITHIN 2 KMS RADIUS OF CHANDAVARA BUS STOP CIRCLE.	UTTARA KANNADA	RURAL	90	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
166	KASARKOD PORT TO HONNAVAR NOT ON NH	UTTARA KANNADA	RURAL	140	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
167	PILALI TOWARDS HULIYAR	CHITRADURGA	RURAL	65	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
168	BETWEEN KUMBRA AND THINGALADI	DAKSHINA KANNADA	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
169	SAIBARAKATTE TO YEDTHADY - ON EITHER SIDE OF SAIBARKATTE-BRAHMAVARA MAIN ROAD.	UDUPI	RURAL	105	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
170	WITHIN 2 KMS FROM LINGADAHALLI ON LINGADAHALLI TO BIRUR ROAD, CHICKMAGALUR DISTRICT	CHIKMAGALUR	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
	within 2km from Bevinahalli circle on Arsikere													
171	Huchangidurga road	DAVANAGERE	RURAL	115	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
172	SIREKOLA VILLAGE	CHITRADURGA	RURAL	65	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
173	UPPOOR TO KUKKEHALLI ON EITHER SIDE OF UDUPI –PERDOOR- AGUMBE ROAD.	UDUPI	RURAL	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
174	Kalasapura	CHIKMAGALUR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4

					LOCATION LIST	- BPCI								
		Notice for App	ointment		/ Rural Retail O		nips in the	e state (of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c		- (e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
175	Between Shagle and Kandgal at Shagle village	DAVANAGERE	RURAL	80	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
176	SINGATAGERE	CHIKMAGALUR	RURAL	95	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
177	BIDKALKATTE TO JENNADY ON LHS WITHIN 3 KM OF BIDALKATTE JUNCTION / CIRCLE.	UDUPI	RURAL	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
	SHIRUR MURKAI JUNCTION (NOT ON NH) - WITHIN 3													
178	KMs OF JUNCTION.	UDUPI	RURAL	135	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
179	BARKUR TO BRAHMAVARA (NOT ON NH66)	UDUPI	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
180	KODAGAVALLI	CHITRADURGA SHIMOGA	RURAL RURAL	75 60	OBC	DC CFS	30 30	25 25	750 750	12 0	30 0	Draw of Lots Draw of Lots	5	3
181 182	Bandalike Village , Shikarpur Taluk , Shimoga District KOTA JUNIOR COLLEGE JUNCTION WITHIN 3 KMs ALONG KOTA - SAIBRAKATTE ROAD	UDUPI	RURAL	95	SC OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
183	KONDLAHALLI VILLAGE TOWARDS MOLAKALMURU (WITHIN GRAMA PANCHAYAT LIMIT)	CHITRADURGA	RURAL	40	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
184	BHEEMSAMUDRA TOWARDS KONANUR ROAD	CHITRADURGA	RURAL	90	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
185	MELPAL VILLAGE, Narasimharajapura Taluk, CHICKMAGALUR DISTRICT	CHIKMAGALUR	RURAL	65	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
186	SHIRVA - WITHIN 3 KMS OF SHIRVA CIRCLE.	UDUPI	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
187	AMASEBAILU VILLAGE	UDUPI	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
188	Nallur	DAVANAGERE	RURAL	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
189	Basavanalu Cross on Jagalur Road	DAVANAGERE	RURAL	60	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
190	ALEVOOR VILLAGE - NOT ON SH.	UDUPI	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
191	Adur Village , Sagar Taluk , Shimoga District	SHIMOGA	RURAL	55	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
192	MUTHINAKOPPA	CHIKMAGALUR	RURAL	85	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
193	Kakkarogalla on Davangere Kondajji Road	DAVANAGERE	RURAL	78	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
194	SHANTHIGRAMA VILLAGE, KOPPA TALUK,CHIKMAGALUR DISTRICT	CHIKMAGALUR	RURAL	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
195	SHAKATAPURAM VILLAGE, KOPPA TALUK,CHICKMAGALUR DISTRICT	CHIKMAGALUR	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
196	Gama	SHIMOGA	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
197	Kunchur on Yarabalu road	DAVANAGERE	RURAL	84	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
198	Chirastahalli village on Machihalli Road	DAVANAGERE	RURAL	65	SC	CFS	30	25	750	0	0	Draw of Lots	0	2

					LOCATION LIST	- BPCL								
		Notice for App	ointment	of Regular	Rural Retail O	utlet Dealersh	nips in the	e state (of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area d	n Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
199	KATAPADI VILLAGE (NOT ON NH66) - WITHIN 3 KMs FROM KATAPADI NH JUNCTION	UDUPI	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
200	Belalagere on Davangere Basavapatna Road	DAVANAGERE	RURAL	81	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
200	CHITRADURGA TO TURUVANNUR ROAD WITHIN 5	DittillitioEnt	NOTIVIE	01	OFEN		50	23	750		50	Draw of Lots	5	
201	KMS	CHITRADURGA	RURAL	40	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
202	HEGDEKATTA VILLAGE	UTTARA KANNADA	RURAL	75	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
203	BELAGUTTI VILLAGE, SHIMOGA DISTRICT	SHIMOGA	RURAL	85	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
204	MURDESHWAR NOT ON NH	UTTARA KANNADA	RURAL	150	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
205	BADA	DAVANAGERE	RURAL	29	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
206	SIDDAKKATTE-SANGABETTU	DAKSHINA KANNADA	RURAL	90	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
207	MAGUNDI VILLAGE NOT ON SH, Narasimharajapura Taluk, CHIKMAGALUR DISTRICT	CHIKMAGALUR	RURAL	65	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
207	MEERASABIHALLI VILLAGE (NOT ON SH 48)	CHITRADURGA	RURAL	65	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
200	RAYAPURA VILLAGE	CHITRADURGA	RURAL	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
200	Kakadahalli cross at Harapanahalli Talug	DAVANAGERE	RURAL	70	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
210	BAILOOR TO KUKKANDOOR	UDUPI	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
211	PANOLIBAIL	DAKSHINA KANNADA	RURAL	100	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
212	Devarabelakere	DAVANAGERE	RURAL	31	OPEN CC 2	DC	30	25	750	12	30	Draw of Lots	5	4
214	Garthikere to Shanthpura Road on Halandur Village	SHIMOGA	RURAL	62	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
215	RO in JN Kote village	CHITRADURGA	RURAL	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
216	KULAGGATTE CROSS ON NALLUR ROAD	DAVANAGERE	RURAL	65	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
217	ALAGAVADI	CHITRADURGA	RURAL	65	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
218	BELANDURU VILLAGE, SHIMOGA DISTRICT	SHIMOGA	RURAL	75	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
219	SIDDAPURA THANDA, BADRAVATHI TALUK, SHIMOGA DISTRICT	SHIMOGA	RURAL	120	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
220	AIMANGALA TOWN	CHITRADURGA	RURAL	65	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
221	AMRUTHAPURA, CHIKMAGALUR DISTRICT	CHIKMAGALUR	RURAL	75	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
222	Sigandur Road, Sagar Taluk, Shimoga District	SHIMOGA	RURAL	75	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
223	ISHWARAMANGALA	DAKSHINA KANNADA	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
224	HIPLA VILLAGE, CHIKMAGALUR DISTRICT	CHIKMAGALUR	RURAL	55	OBC	DC	30	25	750	12	30	Draw of Lots	5	3

ļ					LOCATION LIST	- BPCI								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area o				e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
225	KALMANE VILLAGE, SAGAR TALUK, SHIMOGA DISTRICT	SHIMOGA	RURAL	75	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
	STRETCH BETWEEN MELKAR AND MUDIPU WITHIN 5													
226	KM	DAKSHINA KANNADA	RURAL	76	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
227	YELANADU VILLAGE NOT ON SH 24	CHITRADURGA	RURAL	40	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
228	MALALUR VILLAGE, Chickmagalur Taluk ,CHICKMAGALUR DISTRICT	CHIKMAGALUR	RURAL	65	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
229	MATHODU VILLAGE	CHITRADURGA	RURAL	75	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
230	Kattalagere	DAVANAGERE	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
231	Nuggihalli Cross	DAVANAGERE	RURAL	75	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
232	PAKSHIKERE	DAKSHINA KANNADA	RURAL	130	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
233	MADANTHYAR ON BALLMANJA ROAD	DAKSHINA KANNADA	RURAL	85	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
234	Karurgadi on Kondajji Road	DAVANAGERE	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
235	H D PURA VILLAGE, HOLALKERE TALUK,CHITRADURGA DISTRICT	CHITRADURGA	RURAL	45	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
· · · · · · · · · · · · · · · · · · ·	GOWTAMPUR VILLAGE,NOT ON STATE													
236	HIGHWAY(SH01), SHIMOGA DISTRICT	SHIMOGA	RURAL	130	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
237	KIRIMANJESHWARA NOT ON NH	UDUPI	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
238	ANDANUR NOT ON SH 47	CHITRADURGA	RURAL	25	SC PH	CFS	30	25	750	0	0	Draw of Lots	0	2
239	HIREBANDADI	DAKSHINA KANNADA	RURAL	90	OBC PH	DC	30	25	750	12	30	Draw of Lots	5	3
240	NANNIVALA village	CHITRADURGA	RURAL	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
241	SRI RAMANAGARA NEAR ALOOR CROSS NOT ON SH	DAVANAGERE	RURAL	76	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
242	KERADI VILLAGE	UDUPI	RURAL	75	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
243	Hurali Koppa on Kotipura to Tilvali	SHIMOGA	RURAL	100	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
244	Haleyuru Village on Chunchanakatte main Road	MYSORE	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
245	kochanahalli village limits on Kadukola Main ROad	MYSORE	RURAL	40	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
246	TAGARAPURA NOT ON NH, KOLLEGAL TALUK	CHAMARAJANAGAR	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
247	TAMADAHALLI ON UDIGALA ROAD , CHAMRAJNAGAR TALUK	CHAMARAJANAGAR	RURAL	60	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
248	SRIMANGALA VILLAGE LIMITS	KODAGU	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
249	Virajpet By Pass road (From Bittangala to Perumbadi)	KODAGU	RURAL	105	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
250	PONNAMPET TOWN TOWARD BELALI	KODAGU	RURAL	54	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nins in the	e state d	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
251	Siddapura Village, Kodagu	KODAGU	RURAL	70	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
252	TADAKALUR	TUMKUR	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
253	Sampaje Village	KODAGU	RURAL	50	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
254	KUDIGE	KODAGU	RURAL	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
255	Javagal, outside Town Limits	HASSAN	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
256	Bannithalapura Village limits (Gundulpet Taluk)	CHAMARAJANAGAR	RURAL	50	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
257	Mosale village	HASSAN	RURAL	139	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
258	Bikkodu, Belur to Sakaleshpur Road	HASSAN	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
259	BELAGODU VILLAGE, SAKALESHPUR TALUK, HASSAN DISTRICT NOT ON SH	HASSAN	RURAL	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Byathahalli Village limits on Kadakola Main Road													
260	(Near TVS Plant Mysore)	MYSORE	RURAL	180	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
261	Heragu Village Limits	HASSAN	RURAL	47	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
262	THIRUMANI, NEAR SOLAR PLANT	TUMKUR	RURAL	70	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
263	Shettahalli Village (MALAVALLI TO MANDYA ON TIPPU SULTAN ROAD)	MANDYA	RURAL	26	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
264	Rathnapuri Village on Hunsur Main Road (Hunsur Taluk)	MYSORE	RURAL	80	OPEN PH	DC	30	25	750	12	30	Draw of Lots	5	4
265	BETWEEN AMCHAWADI AND HARDANHALLI ON RURAL ROAD , CHAMRAJNAGAR TALUK	CHAMARAJANAGAR	RURAL	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
266	Kodiyala	MANDYA	RURAL	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
267	BELAGOLA VILLAGE LIMITS ON KRS ROAD	MANDYA	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
268	Beby village	MANDYA	RURAL	40	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
	Magge Village limits on Manandvadi Road , HD Kote		-	-		055		a -			-		_	_
269	Taluk	MYSORE	RURAL	60	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
270	batsandra near food park of india	TUMKUR	RURAL	65	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
271	VARUNA	MYSORE	RURAL	150	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
272	Thandavapura Village Limits (not on National Highway) , Mysore Taluk	MYSORE	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
273	KOPPA (ON MADDUR TO YEDIYUR ROAD)	MANDYA	RURAL	45	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
274	SUTTURU	MYSORE	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
275	Singarajapura (Chennapatna to sathanur road)	RAMANAGARA	RURAL	72	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4

					LOCATION LIST	- BPCL								
		Notice for Apr	ointment		/ Rural Retail Ou		hips in th	e state	of Kar	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area o	n Dimensio	ion (in	Finance to b	be arranged by applicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	(Rs in Lakhs)
	HEJJALA VILLAGE (WITHIN RAMANAGARA DIST.													·'
276		RAMANAGARA	RURAL	60	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
277	MADAPURA VILLAGE	MYSORE	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
278	GADDIGE	MYSORE	RURAL	55	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
279	Uddur Village Limits (Hunsur Taluk)	MYSORE TUMKUR	RURAL	60 40	OPEN OBC	DC DC	30	25	750 750	12	30 30	Draw of Lots	5	4
280	muddenahalli village		RURAL	40 74		DC DC	30	25		12	30 30	Draw of Lots	-	3
281	DOMMATHAMARI VILLAGE, PAVGADA TALUK	TUMKUR	RURAL	74 48	OPEN	DC DC	30	25 25	750 750	12	30 30	Draw of Lots	5	4
282	RANTAVALALU	TUMKUR	RURAL	48 90	OPEN ST	-	30 30	25 25	750	12	30	Draw of Lots	-	4
283		TUMKUR	RURAL	90	51	CFS	30	25	/50		U	Draw of Lots	0	<u> </u>
284	BANNIKUPPE VILLAGE LIMITS (NOT ON NATIONAL HIGHWAY) HUNSUR TALUK	MYSORE	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
284	Amminabhavi village	DHARWAD	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
285	Bekkinakeri	BELGAUM	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
286	Shirol village limits	GADAG	RURAL	75	SC	CFS	30	25	750	0	30	Draw of Lots	0	2
287	Sulla Village , Dharwad District	DHARWAD	RURAL	75	OBC	DC	30	25	750	12	30	Draw of Lots	5	2
288	BADAKUNDRI VILLAGE, HUKKERI TALUKA	BELGAUM	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
-205	M K HUBLI VILLAGE, WITHIN 2KM RADIUS OF M K	BLUGOW	NUMPE	100	UFLIN			- 23	1.50	14		Diawortou		
290	HUBLI VILLAGE, WITHIN ZKIM RADIOS OF MIR HUBLI VILLAGE	BELGAUM	RURAL	95	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
291	MAGADI VILLAGE LIMITS	GADAG	RURAL	66	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
292	HOLEALUR VILLAGE LIMITS	GADAG	RURAL	50	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
293	AIHOLE	BAGALKOT	RURAL	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
294	Garag	DHARWAD	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
(T	SHINDHIHATTI VILLAGE,WITHIN 2 KM RADIUS OF	1	1	<u> </u>	1	+		1	\vdash	1	1	1		
295	SHINDHIHATTI VILLAGE	BELGAUM	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
296	DANDAPUR CROSS	BELGAUM	RURAL	45	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
297	Hirehonnehalli Village	DHARWAD	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
	BAVANSOUNDATTI TO BHIRADI ON ANKALI	1		1			1		t	1			1	
298	CHINCHALI ROAD	BELGAUM	RURAL	75	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
299	DAMBAL VILLAGE LIMITS	GADAG	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
300	Annigeri (Inside Town)	DHARWAD	RURAL	75	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4

					LOCATION LIST	- BPCI								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
301	ABBIGERI VILLAGE, WITHIN 1 KM RADIUS OF ABBIGERI VILLAGE LIMITS	GADAG	RURAL	44	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
301	HOOLAKATTI VILAGE LIMITS	BELGAUM	RURAL	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
303	UDAGATTI VILAGE	BELGAUM	RURAL	72	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
303	HAROBELWADI, DHARWAD TO SOUNDATTI ROAD	DHARWAD	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
305	BELDAHADI VILLAGE LIMITS	GADAG	RURAL	40	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
306	SOMSAGAR	HAVERI	RURAL	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
307	KADARMANDALGI IN HAVERI DISTRICT	HAVERI	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
	Within village limits of Satti On Hipparagi Athani													
308	Road	BELGAUM	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
309	Uppin Betageri Village	DHARWAD	RURAL	43	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
310	MADLUR-NOT ON SH	HAVERI	RURAL	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
311	Outer Ring Road, A.Timmasagar Village, Hubli City (L.H.S from Bagalkot Road to Karwar Road)	DHARWAD	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
312	KARIKATTI VILLAGE	BELGAUM	RURAL	42	OPEN CC 2	DC	30	25	750	12	30	Draw of Lots	5	4
313	SHIRSANGI VILLAGE,RAMDURG TO SAUDATTI ROAD , SHIRSANGI VILLAGE LIMITS	BELGAUM	RURAL	46	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
314	TAVALAGERI CROSS, WITHIN 1 KM RADIUS OF TAVALAGERI CROSS	BELGAUM	RURAL	41	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
315	LAKKUNDI VILLAGE LIMITS	GADAG	RURAL	66	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
-	SATTIGERI VILLAGE, WITHIN 0.5 KM RADIUS OF	-	1	-		-	-	-			-		-	1
316	SATTIGERI VILLAGE	BELGAUM	RURAL	65	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
317	MELWANKI VILLAGE	BELGAUM	RURAL	45	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
	SHANTAGERI VILLAGE, WITHIN 1 KM RADIUS OF													
318	SHANTAGERI VILLAGE	GADAG	RURAL	39	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
319	Within village limits of Tukanatti Village	BELGAUM	RURAL	65	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
320	Narendra Village, Dharwad	DHARWAD	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
321	BELLATTI VILLAGE	GADAG	RURAL	44	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
322	HIPPARGI WITHIN VILLAGE LIMITS ON JAMKHANDI ATHANI ROAD	BAGALKOT	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
323	TADAS VILLAGE-NOT ON SH	HAVERI	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
324	WITHIN KONNUR VILLAGE LIMITS , GOKAK TALUKA	BELGAUM	RURAL	56	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4

					LOCATION LIST	- BPCI								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
325	KONNUR TO NARGUND ROAD ON BOTH SIDES,NOT ON NH	GADAG	RURAL	43	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
326	KALASAPUR VILLAGE,WITHIN 2 KM RADIUS OF KALASAPUR VILLAGE LIMITS	GADAG	RURAL	50	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
320	SURNAGI VILLAGE LIMITS	GADAG	RURAL	42	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
328	SHIGLI VILLAGE	GADAG	RURAL	42	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
329	HIREBIDARI,HAVERI	HAVERI	RURAL	52	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
330	MEDLERI	HAVERI	RURAL	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
331	SAMPGAON VILLAGE, WITHIN 1 KM RADIUS OF SAMPGAON VILLAGE	BELGAUM	RURAL	30	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
	HIREHAL TO BADAMI ROAD, WITHIN HIREHAL		-										-	-
332	VILLAGE LIMITS	GADAG	RURAL	50	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
333	SANGOLLI VILLAGE LIMITS	BELGAUM	RURAL	48	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
334	GANGAPUR VILLAGE, WITHIN 1 KM RADIUS OF GANGAPUR VILLAGE.	GADAG	RURAL	48	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
335	AIRANI, HARIHAR TO MEDELERI ROAD	HAVERI	RURAL	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
336	Tahiriyal Village, Hubli taluk	DHARWAD	RURAL	140	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
337	BIDARALLI VILLAGE LIMITS,NOT ON SH 136 ,GADAG DISTRICT	GADAG	RURAL	28	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
338	Karwar Road (From Dharwad City)	DHARWAD	RURAL	130	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
339	CHACHADI VILLAGE	BELGAUM	RURAL	45	OBC PH	DC	30	25	750	12	30	Draw of Lots	5	3
	GANJENDRGADA TO RON ROAD ON BOTH SIDES NOT													
340	ON SH	GADAG	RURAL	65	SC PH	CFS	30	25	750	0	0	Draw of Lots	0	2
341	Naregal to Gajendragad road in Naregal town limits	GADAG	RURAL	105	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
342	GUNDURU, GANGAVATHI TALUK	KOPPAL	RURAL	64	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
343	YEDRAMI VILLAGE, JEVARGI (TQ)	GULBARGA	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
344	DABKA VILLAGE, AURAD (TQ)	BIDAR	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
345	BELKUNI BHOPALGAD VILLAGE ON AURAD - KAMALNAGAR ROAD	BIDAR	RURAL	110	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
346	WITHIN 0.5KMS FROM NH-09(65) TOWARDS Ranjolkheni (NOT ON NH)	BIDAR	RURAL	230	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
347	CHIMMANCHOD VILLAGE, CHINCHOLI (TQ)	GULBARGA	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3

					LOCATION LIST	- BPCI								
		Notice for App	ointment		/ Rural Retail O		nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area d	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
348	GANAGAPUR VILLAGE, AFZALPUR (TQ)	GULBARGA	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
	WITHIN 0.5KMS FROM HUNSNAL CROSS (GANDHI													
349	CHOWK) TOWARDS GHODWADI	BIDAR	RURAL	110	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
350	MEDAK VILLAGE, SEDAM TALUK	GULBARGA	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
351	KAPPUGAL	BELLARY	RURAL	118	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
352	KODADUR VILLAGE, CHITAPUR (TQ)	GULBARGA	RURAL	85	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
353	DHARMAPUR VILLAGE, BIDAR (TQ)	BIDAR	RURAL	105	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
354	PEDDA TANDA (VILL), CHINCHOLI (TQ)	GULBARGA	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
	WITHIN 1KMS FROM RAVOOR-WADI ROAD ON													
355	YADAGIRI-CHITTAPUR ROAD	GULBARGA	RURAL	260	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
356	PATTAN VILLAGE, GULBARGA (TQ)	GULBARGA	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
357	TELLUR, TALUK AFZALPUR	GULBARGA	RURAL	93	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
358	MALPANGUDI, HOSPET TALUK NOT ON SH	BELLARY	RURAL	125	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
359	Yetthina Budihal Village, Bellary Taluk	BELLARY	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
360	BASARAKODU VILLAGE, BELLARY TALUK	BELLARY	RURAL	140	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
361	HOLEGUNDI (HADAGALLI TALUK) NOT ON SH	BELLARY	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
362	DEVASAMUDRA, HOSPET TALUK NOT ON SH	BELLARY	RURAL	103	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
363	UTTANGI (HADAGALLI TALUK) NOT ON SH	BELLARY	RURAL	110	ST CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
364	SULADAHALLI (KUDLIGI TALUK) NOT ON SH	BELLARY	RURAL	111	OPEN PH	DC	30	25	750	12	30	Draw of Lots	5	4
365	MAGALA, HUVINAHADAGALLI TALUK	BELLARY	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
366	ASUNDI VILLAGE, KAKKABEVINAHALLI TO ASUNDI ROAD, NOT ON NH	BELLARY	RURAL	200	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
367	KOLAGALLU, BELLARY TALUK NOT ON SH	BELLARY	RURAL	102	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
368	matmari village,near railway station,3 km radius from IOC outlet raichur	RAICHUR	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
369	CHIKSUGUR VILLAGE, RAICHUR TALUKA	RAICHUR	RURAL	250	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
370	yelahar village,yadgir	YADGIR	RURAL	120	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
371	NARAYANAPUR VILLAGE, BASAVAKALYAN TALUK	BIDAR	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
372	YALGI VILLAGE, YADGIR	YADGIR	RURAL	160	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
373	MARCHETAHALA VILLAGE, TALUKA RAICHUR	RAICHUR	RURAL	120	OBC	DC	30	25	750	12	30	Draw of Lots	5	3

					LOCATION LIST	- BPCL								
		Notice for App	ointment	of Regular ,	/ Rural Retail O	utlet Dealersh	nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	M.)/Area c	Dimension Dif the site M.). *			e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
274	gurgunta bus stop-1km radius within gram	DALCUUD		245	0051	2.0	20	25	750	12	20		-	
374 375	panchayat DHADESUGUR NOT ON NH/SH	RAICHUR	RURAL RURAL	245 120	OPEN OPEN CC 1	DC DC	30 30	25 25	750 750	12 12	30 30	Draw of Lots Draw of Lots	5	4
375	HUNSAGI VILLAGE	YADGIR	RURAL	120	ST	CFS	30	25	750	0	30	Draw of Lots	5	4
370	NIDGUNDI NOT ON NH	BIJAPUR	RURAL	90	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
378	BANGARGA CROSS NOT ON SH, DISTRICT GULBARGA	GULBARGA	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	4
570	HAVINAL VILLAGE, NOT ON NH-150A, SHORAPUR	GOLDANGA	NONAL	00	OFEN	DC	50	25	750	12	50	Draw of Lots	5	4
379	TALUK	YADGIR	RURAL	140	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
380	baichbal taluk shorapur	YADGIR	RURAL	115	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
381	SANTEKALLUR NOT ON NH, LINGSUGUR TALUKA	RAICHUR	RURAL	160	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
382	BALSHETTINAL VILLAGE, SHORAPUR TALUKA	YADGIR	RURAL	55	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
383	DEVARNAVADGI VILLAGE IN INDI TALUKA	BIJAPUR	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
384	LACHYAN VILLAGE IN INDI TALUKA	BIJAPUR	RURAL	120	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
385	TADVALGA TO NIMBAL IN INDI TALUKA	BIJAPUR	RURAL	105	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
386	MANAGULI VILLAGE	BIJAPUR	RURAL	105	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
387	ARAKERI VILLAGE ON UMADI PANDARPUR ROAD	BIJAPUR	RURAL	107	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
388	Within 5km of Jalageri Village on Yatnal Road	BIJAPUR	RURAL	125	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
389	SINDAGI TO HARNAL ROAD	BIJAPUR	RURAL	60	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
390	KANNUR VILLAGE	BIJAPUR	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
391	MUDDEBIHAL TO HULLUR TANDA	BIJAPUR	RURAL	150	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
392	NIDONI VILLAGE ON BABLESHWAR GOTHE ROAD	BIJAPUR	RURAL	102	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
393	HULIGI, KOPPAL TALUK	KOPPAL	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
394	HOOLAGERE	KOPPAL	RURAL	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
395	KAVALUR, KOPPAL TALUK	KOPPAL	RURAL	67	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
396	TALKERE, YELBARGA TALUK	KOPPAL	RURAL	67	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
397	KONCHAVARAM (VILL), CHINCHOLI (TQ)	GULBARGA	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
398	BEVINAL, GANGAVATHI TALUK	KOPPAL	RURAL	67	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
399	SOMALAPURA CROSS NOT ON SH	BELLARY	RURAL	130	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
400	RAJARAJESWARI NAGAR, BANGALORE CITY	BANGALORE URBAN	REGULAR	450	OPEN	СС	20	20	500	25	10	Bidding	30	5
401	COX TOWN	BANGALORE URBAN	REGULAR	300	OBC	DC	20	20	500	25	60	Draw of Lots	15	4

					LOCATION LIST	- BPCI								
		Notice for Appo	ointment				nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
402	ON KANAKAPURA ROAD BETWEEN NICE ROAD JN & KAGALIPURA	BANGALORE URBAN	REGULAR	270	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	JARGANAHALLI ON KANAKPURA ROAD, BANGALORE													_
403	CITY	BANGALORE URBAN	REGULAR	330	OPEN	CC	20	20	500	25	10	Bidding	30	5
404	PILLAGANAHALLI	BANGALORE URBAN	REGULAR	440	OPEN	CC	20	20	500	25	10	Bidding	30	5
405	DEVANAPALYA TO YESHWANTPUR ON TUMKUR ROAD (INCL SERVICE ROAD)	BANGALORE URBAN	REGULAR	430	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
405			REGULAR	300		CFS		45 20	500					
	CHANASANDRA VILLAGE, UTTARAHALLI HOBLI	BANGALORE URBAN		300	SC	CFS	20 20	20		0 25	0	Draw of Lots	0 30	3
407	VISHWESHWAHARAAIH LAYOUT, BANGALORE CITY Bannerghata Road, Between Jaydeva Underpass and	BANGALORE URBAN	REGULAR	390	OPEN		20	20	500	25	10	Bidding	30	5
408	Nice Road junction	BANGALORE URBAN	REGULAR	380	OPEN	СС	20	20	500	25	10	Bidding	30	5
408	BETWEEN SASALU AND KOLALA ON SH-94	BANGALORE BURAL	REGULAR	115	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	4
409	BILEKAHALLI VILLAGE, BEGUR HOBLI	BANGALORE URBAN	REGULAR	400	OPEN	СС	20	20	500	25	10	Bidding	30	5
410	Kumbalgodu on Mysore- Bangalore Highway	BANGALORE URBAN	REGULAR	380	ST	CFS	35	45	1575	0	0	Draw of Lots	30 0	3
411 412	ARUDI VILLAGE ON SH-94	BANGALORE RURAL	REGULAR	150	OBC	DC	35	45 35	1225	25	60	Draw of Lots	15	4
412	SIDLAGHATTA TOWN TOWARDS JANGAMAKOTE	CHIKKABALLAPUR	REGULAR	150	OBC OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
413	BANASHANKARI 6TH STAGE, BANGALORE CITY	BANGALORE URBAN	REGULAR	350	OPEN CC I	CC	20	20	400 500	25	45 10	Bidding	30	5
414	Gnanabharathi,Kengeri Satellite Town	BANGALORE URBAN	REGULAR	330	SC	CFS	20	20	500	0	0	Draw of Lots	30 0	3
415	BETWEEN SHIVAGANGA AND BANAWADI ON SH-03	BANGALORE RURAL	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
416	TALAGHATTAPURA,ON KANAKAPURA ROAD	BANGALORE URBAN	REGULAR	400	OBC	СС	20	20	500	25	10	Bidding	30	5
417	KOTHANUR MAIN ROAD, JP NAGAR, BANGALORE	DAINGALORE URBAIN	REGULAR	400	OPEN		20	20	300	25	10	ыцину	30	5
418	SOUTH	BANGALORE URBAN	REGULAR	400	OPEN	сс	20	20	500	25	10	Bidding	30	5
419	Bannerghata Main Road	BANGALORE URBAN	REGULAR	520	ST	CFS	20	20	500	0	0	Draw of Lots	0	3
.15	BETWEEN DODDABALLAPURA TO MARASANDRA ON		Leocern		<u> </u>	0.0					Ŭ		Ŭ	
420	SH09(WITHIN BANGALORE RURAL DISTRICT LIMITS)	BANGALORE RURAL	REGULAR	156	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
421	JP NAGAR 1st PHASE, BANGALORE SOUTH	BANGALORE URBAN	REGULAR	400	OPEN	CC	20	20	500	25	10	Bidding	30	5
422	KOLAR TOWN (ON BANGARPET ROAD WITHIN 1 KMS FROM BANGARPET CIRCLE)	KOLAR	REGULAR	210	OPEN CC 2	DC	25	20	500	25	45	Draw of Lots	15	5
422	JIGANI TOWN	BANGALORE URBAN	REGULAR	300	OPEN CC 2 OBC CC 1	DC	20	20	400	25	43	Draw of Lots	15	4
423	HOPE FARM JUCTION TO VARTHUR LAKE ON	DANGALORE URBAIN	REGULAR	300			20	20	400	23	40		15	4
424	WHITEFIELD MAIN ROAD	BANGALORE URBAN	REGULAR	450	SC CC 1	CFS	20	20	500	0	0	Draw of Lots	0	3
425	KANAKAPURA ROAD (NEAR KONANKUNTE CROSS)	BANGALORE URBAN	REGULAR	500	OPEN	CC	20	20	500	25	10	Bidding	30	5

					LOCATION LIST	- BPCL								
		Notice for App	ointment		/ Rural Retail Ou		hips in the	e state (of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	M.)/Area o	n Dimensio of the site M.). *			e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
426	VALAGERAHALLI, KENGERI-UPANAGAR RING ROAD	BANGALORE URBAN	REGULAR	360	OPEN	СС	20	20	500	25	10	Bidding	30	5
427	BAGEPALLI BUS STAND TO TB CROSS ON SH 05	CHIKKABALLAPUR	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
428	BAGALUR TO DODDAJALA ON BK HALLI ROAD	BANGALORE URBAN	REGULAR	250	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
429	MALAGALA, BANGALORE CITY	BANGALORE URBAN	REGULAR	440	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
430	ITTAMADU MAIN ROAD, BANGALORE SOUTH	BANGALORE URBAN	REGULAR	480	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
	DODDABALLAPUR TOWN TOWARDS KONAGHATTA		, <u>, , , , , , , , , , , , , , , , , , </u>		0					_				
431	ON KONAGHATTA ROAD	BANGALORE RURAL	REGULAR	105	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	ON KANAKAPURA ROAD BETWEEN RAVUGODLU &	,	· · · · · · · · · · · · · · · · · · ·				-	-					-	1
432	KAGALIPURA	BANGALORE URBAN	REGULAR	330	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
433	MARGONDANAHALLI, BIDARAHALLI HOBLI	BANGALORE URBAN	REGULAR	270	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
434	Huluvenahalli, Bangalore South	BANGALORE URBAN	REGULAR	220	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
435	HOSKOTE TOWN TOWARDS JANGAMAKOTE	BANGALORE RURAL	REGULAR	135	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
436	SRINIVASPURA TOWN TOWARDS KOLAR	KOLAR	REGULAR	150	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
437	YELAHANKA TO DODDABALLAPUR ROAD	BANGALORE URBAN	REGULAR	200	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
438	NELAMANGALA (ON SONDEKOPPA ROAD WITHIN 2 KMS FROM TOWN)	BANGALORE RURAL	REGULAR	150	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
439	Sulivara, Bangalore south	BANGALORE URBAN	REGULAR	230	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
440	Jayanagar, Bangalore City	BANGALORE URBAN	REGULAR	500	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
441	DODDABALLAPUR TOWN	BANGALORE RURAL	REGULAR	170	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
442	JAKKUR MAIN ROAD, BANGALORE CITY	BANGALORE URBAN	REGULAR	300	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
443	JP Nagar 2nd Phase to 9th Phase, Bangalore city	BANGALORE URBAN	REGULAR	500	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
444	KENGERI SATELLITE TOWN, BANGALORE SOUTH	BANGALORE URBAN	REGULAR	340	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
445	TIRUMALSHETTY HALLI not on NH 207	BANGALORE RURAL	REGULAR	150	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
	BETWEEN CMH PARK 100FT RD INDIRANAGAR TO	, ,	, ,	1	1					1	1			1
	BDA COMPLEX KORAMANAGLA ON INTERMEDIATE	1	1 '			· · · · ·				1	'			
446	RING ROAD ON LHS	BANGALORE URBAN	REGULAR	400	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
447	VIJAYANAGAR, BANGALORE SOUTH	BANGALORE URBAN	REGULAR	450	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
448	UTTARAHALLI - KENGERI MAIN ROAD	BANGALORE URBAN	REGULAR	300	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
449	GAURIBIDNUR TOWN TOWARDS CHIKBALLAPUR	CHIKKABALLAPUR	REGULAR	150	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
450	TB Cross to Singanaikanadinne on SH 5	CHIKKABALLAPUR	REGULAR	252	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BANASHANKARI - 1st TO 5th STAGE, BANGALORE	1	1								-		. –	_
451	SOUTH minimum dimension mentioned here is different fr	BANGALORE URBAN	REGULAR	320	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area d	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in KIs	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
452	Kengeri,Bangalore City	BANGALORE URBAN	REGULAR	540	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
453	ON SOUKYA ROAD NEAR KACHARAKANAHALLI WITHIN 5KMS FROM VIZAG STEEL STOCK YARD	BANGALORE RURAL	REGULAR	270	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
454	BANASWADI	BANGALORE URBAN	REGULAR	250	OPEN	CC	20	20	500	25	10	Bidding	30	5
455	ULLAL, BANGALORE SOUTH	BANGALORE URBAN	REGULAR	240	ST	CFS	20	20	500	0	0	Draw of Lots	0	3
456	KOGILU	BANGALORE URBAN	REGULAR	200	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
457	NELAMANGALA TOWN TOWARDS HESARAGHATTA (WITHIN BANGALORE RURAL DISTRICT LIMITS)	BANGALORE RURAL	REGULAR	105	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
458	PATTEGARPALYA	BANGALORE URBAN	REGULAR	200	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
459	BETWEEN CHANDAPURA CIRCLE AND DOMMASANDRA	BANGALORE URBAN	REGULAR	150	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
460	NELAMANGALA TOWN TOWARDS BANGALORE(NOT ON NH)	BANGALORE RURAL	REGULAR	170	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
461	MOTHER DAIRY CROSS, YELAHANKA, 5KM RADIUS	BANGALORE URBAN	REGULAR	350	OPEN	CC	20	20	500	25	10	Bidding	30	5
462	Venkatagiri Kota to Kuppam (within Karnataka Limits) on NH 42	KOLAR	REGULAR	580	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
463	BETWEEN KATTANALLUR GATE AND SEEGEHALLI ON WHITEFIELD HOSKOTE RD - LHS	BANGALORE URBAN	REGULAR	260	OBC	DC	20	20	500	25	60	Draw of Lots	15	4
161	BET MARATHAHALLI AND SILK BOARD JN ON ORR (INCL. SERVICE ROAD) - LHS TOWARDS SILK BOARD		DECULAR	500		050	20	20	500					2
464	JN.	BANGALORE URBAN	REGULAR	500	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
465 466		BANGALORE URBAN	REGULAR	350 220	OPEN	CC	20 20	20	500 500	25 25	10 60	Bidding	30 15	5
466	HESARGHATTA MAIN ROAD Between Medihalli & Belathur, Bangalore City	BANGALORE URBAN BANGALORE URBAN	REGULAR REGULAR	400	OPEN OBC	DC DC	20	20 20	500	25	60	Draw of Lots Draw of Lots	15	4
467	NAGADEVANHALLI	BANGALORE URBAN	REGULAR	220	ST	CFS	20	20	500	0	0	Draw of Lots	0	4
468	ANDRAHALLI	BANGALORE URBAN	REGULAR	220	OPEN	CFS	20	20	500	25	10	Bidding	30	5
409	VIJAYANAGAR TO TAVARKERE ON MAGADI ROAD	BANGALORE URBAN	REGULAR	160	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
	TIN FACTORY TO HEBBAL ALONG OUTER RING ROAD													
471	(INCL SERVICE ROAD)	BANGALORE URBAN	REGULAR	250	OPEN	20	20	20	500	25	10	Bidding	30	5
472	SIDLAGHATTA TOWN TOWARDS CHINTAMANI BETWEEN DOBASPETE TO DODDABALLAPUR ON NH-	CHIKKABALLAPUR	REGULAR	150	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
473	207	BANGALORE RURAL	REGULAR	290	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3

					LOCATION LIST	BPCI								
		Notice for Apr	ointment		/ Rural Retail Ou		hins in th	e state	of Kar	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area o	n Dimensio	ion (in	Finance to be	be arranged by applicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	of	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
474	HOSKOTE TOWN	BANGALORE RURAL	REGULAR	140	OPEN PH	DC	20	20	400	25	45	Draw of Lots	15	5
	KUNDANAHALLI GATE TO BROOKEFIELD (TILL ITPL							-						-
475		BANGALORE URBAN	REGULAR	550	OBC	DC	20	20	500	25	60	Draw of Lots	15	4
476	HEBBAL TO BANGALORE INTL AIRPORT ROAD	BANGALORE URBAN	REGULAR	320	OPEN	CC	20	20	500	25	10	Bidding	30	5
477	BETWEEN CHIKKABELLANDUR AND SARJAPUR ON SARJAPUR MAIN ROAD, LHS TOWARDS SARJAPUR	BANGALORE URBAN	REGULAR	260	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
477	SARJAPUR MAIN ROAD, LHS TOWARDS SARJAPUR SINGAPURA	BANGALORE URBAN BANGALORE URBAN	REGULAR	260	OPEN	DC	20	20	500	25	60	Draw of Lots Draw of Lots	15	5
4/0	TIN FACTORY TO INDIRANAGAR ON OLD MADRAS	DANGALONE ONDANG	REGULAN	200		+ ····			- 500	- 23		Diaworlos		+'
479	ROAD	BANGALORE URBAN	REGULAR	300	OBC	DC	20	20	500	25	60	Draw of Lots	15	4
480	JAYAMAHAL MAIN ROAD, BANGALORE CITY	BANGALORE URBAN	REGULAR	220	OPEN	CC	20	20	500	25	10	Bidding	30	5
481	Dasarahalli Main Road	BANGALORE URBAN	REGULAR	300	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
	BETWEEN MEDAHALLI AND TINFACTORY, LHS	1	· ['	· [·		, ,	· [· · · · · · · · · · · · · · · · · ·		,,		· † '			
482	TOWARDS TIN FACTORY	BANGALORE URBAN	REGULAR	410	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
	BETWEEN BANGALORE AIRPORT TOLL GATE AND	1	1 '	1	1	'	1 '	1	1 '		'	1		
402	CHADALAPURA RHS ON NH-44 (WITHIN BANGALORE			200	0.00		25	45	4575	25	75	Dervief Lots	15	
483 484	RURAL LIMITS) VIDYARANYAPURA	BANGALORE RURAL BANGALORE URBAN	REGULAR REGULAR	300 220	OBC OPEN	DC DC	35 20	45 20	1575 500	25 25	75 60	Draw of Lots Draw of Lots	15 15	4
404	VIDYAKANYAPUKA TAMAKA INDUSTRIAL AREA TO SEESANDRA ON NH	BANGALUKE UNDAIN	REGULAN	220	UPEN	+	20	20	500	25		Draw or Lots	1.5	3
485	75	KOLAR	REGULAR	380	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
486	MANYATA TECH PARK 3KM RADIUS	BANGALORE URBAN	REGULAR	250	ST	CFS	20	20	500	0	0	Draw of Lots	0	3
487	KOLAR TOWN TOWARDS KGF	KOLAR	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
488	MALLESWARAM	BANGALORE URBAN	REGULAR	300	OPEN	CC	20	20	500	25	10	Bidding	30	5
489	CHAMUNDI NAGAR	BANGALORE URBAN	REGULAR	210	OPEN	CC	20	20	500	25	10	Bidding	30	5
490	Bagepalli to Singanaikannadinne on SH 05	KOLAR	REGULAR	430	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	HUSKUR GATE TO GULIMANGALA OFF HUSKUR	1	· ·			· ·	· [· · ·		· · ·		· · ·			
491	ROAD , ELECTRONIC CITY	BANGALORE URBAN	REGULAR	250	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
492	THIGALARPALYA MAIN ROAD	BANGALORE URBAN	REGULAR	250	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
493	BYTARAYANAPURA ON BELLARY ROAD	BANGALORE URBAN	REGULAR	250	OPEN	СС	20	20	500	25	10	Bidding	30	5
104	From T cross jn (SH 99 & SH 82 cross) upto	10140		205	0.00		1 25	25	1 1225	25			45	
494 495	Rayalpadu on SH 82 ARASHINAKUNTE TO KUNIGAL CROSS (ON NH 4)	KOLAR BANGALORE RURAL	REGULAR REGULAR	205 300	OBC SC	DC CFS	35 35	35 45	1225 1575	25 0	60 0	Draw of Lots	15 0	4
490	ARASHINAKUNTE TO KUNIGAL CROSS (ON NH 4) THOTIGERE. DASANPURA	BANGALORE RURAL BANGALORE URBAN	REGULAR	300 250	SC OPEN	DC	35 20	45 20	1575 500	25	60	Draw of Lots Draw of Lots	15	3

					LOCATION LIST	- BPCI								
		Notice for App	ointment	of Regular			nips in the	e state (of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area d	Dimensi	on (in	Finance to b	pe arranged by pplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
497	DASARAHALLI METRO STN TO JALAHALLI CROSS	BANGALORE URBAN	REGULAR	300	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
498	BETWEEN HOSKOTE TO DODDARALAGERE ON SH-35	BANGALORE RURAL	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
499	BET MARTHAHALLI RING ROAD JN AND DIAMOND DIST ON OLD AIRPORT RD, LHS TOWARDS DIAMOND DIST	BANGALORE URBAN	REGULAR	500	ST	CFS	20	20	500	0	0	Draw of Lots	0	3
500	MS PALYA TO YELAHANKA ROAD	BANGALORE URBAN	REGULAR	240	OPEN	CC	20	20	500	25	10	Bidding	30	5
501	MALUR TOWN	KOLAR	REGULAR	380	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
502	MYLANAHALLI NEAR AIRPORT 2ND GATE	BANGALORE RURAL	REGULAR	260	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
503	MAHALAKSHMI LAYOUT, BANGALORE CITY	BANGALORE URBAN	REGULAR	225	OPEN	СС	20	20	500	25	10	Bidding	30	5
504	CHIKBALLAPUR TO GAURIBIDANUR ON NH 206	CHIKKABALLAPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
505	BEECHAGANAHALLI TO GUDIBANDA ON SH 94	CHIKKABALLAPUR	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
506	BETWEEN NELAMANGALA TO CHIKKAHALLI VILLAGE ON NH48 LHS TOWARDS CHIKKAHALLI	BANGALORE RURAL	REGULAR	400	OPEN	сс	35	45	1575	25	10	Bidding	30	5
507	BETWEEN CHIKKAHALLI VILLAGE AND NELAMANGALA LHS TOWARDS NELAMANGALA ON NH4	BANGALORE RURAL	REGULAR	370	OPEN	сс	35	45	1575	25	10	Bidding	30	5
508	SONDEKOPPA ON NELAMANGALA ROAD, NELAMANGALA TALUK	BANGALORE RURAL	REGULAR	105	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
	KADERAPALLI TO HINDUPUR ON SH 09 (WITHIN													
509	KARNATAKA LIMITS)	CHIKKABALLAPUR	REGULAR	380	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
510	DEVANAHALLI TOWN TOWARDS NANDI HILLS	BANGALORE RURAL	REGULAR	115	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
511	Kolar to Srinivaspura on SH-99	KOLAR	REGULAR	160	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
512	BETHAMANGALA TO KOLAR ON SH 96	KOLAR	REGULAR	180	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
513	Parswaganahalli cross (Muduvathi) upto 3KM either side on SH 99	KOLAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN M.KOLATHUR AND COMMERCIAL TAX		DECULAT	205	0.0501		25	45	4575	25	10		20	
514	CHECK POST LHS ON NH75 (Old NH4)	BANGALORE RURAL	REGULAR	295 205	OPEN	CC DC	35	45	1575 1575	25 25	10	Bidding	30 15	5
515	BETWEEN HOSKOTE AND DEVANAHALLI ON NH-648	BANGALORE RURAL	REGULAR	205	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
516	CHENNASANDRA ON CHINTAMANI BANGALORE ROAD	CHIKKABALLAPUR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
517	kempapura to ap border on SH 96	KOLAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

					LOCATION LIST	- BPCI								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area o				e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
518	FROM HOSATHOTA TO DEVANAHALLI RLY STN (LHS) ON NH 44	BANGALORE RURAL	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
519	BETWEEN DEVANAHALLI AND DODDABALLAPUR ON		REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lata	15	5
213	NH207 From Civil court complex towards Malur Hosur road	BANGALORE RURAL	REGULAR	180	UPEN		35	45	1575	25	/5	Draw of Lots	15	5
520	upto Yuken India Limited on SH 17	KOLAR	REGULAR	210	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	HOSKOTE TO CHIKKA TIRUPATHI ON NH 648 (WITHIN				1									† 1
521	BANGALORE RURAL DISTRICT LIMITS)	BANGALORE RURAL	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
522	GOWRIBIDNUR TO HINDUPUR ON SH 09 (WITHIN KARNATAKA LIMITS)	CHIKKABALLAPUR	REGULAR	200	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
523	MULBAGAL TOWN TOWARDS NANGLI	KOLAR	REGULAR	100	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
524	CHIKKA TIRUPATHI TO BAGALUR ON NH 648	BANGALORE RURAL	REGULAR	260	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
525	GUNJUR VILLAGE ON SH09, LHS TOWARDS DODDABALLAPUR	BANGALORE RURAL	REGULAR	185	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
526	BET TIN FACTORY AND MARATHAHALLI RING ROAD JN ON OUTER RING ROAD (INCL. SERVICE ROAD)	BANGALORE URBAN	REGULAR	500	ST	CFS	20	20	500	0	0	Draw of Lots	0	3
527	From Gems international school towards Alipura on SH 94 (upto 2.5 kms)	CHIKKABALLAPUR	REGULAR	175	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
528	BETWEEN NELAMANGALA & DODDABALLAPUR ON SH-74	BANGALORE RURAL	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
529	BETWEEN DABASPETE TO MAKENAHALLI VILLAGE ON SH03	BANGALORE RURAL	REGULAR	164	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
530	From H cross towards Kadapa Bangalore highway upto 5 kms	CHIKKABALLAPUR	REGULAR	195	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
531	DUNNASANDRA CROSS (NOT ON NH 207)	BANGALORE RURAL	REGULAR	150	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
532	WITHIN 2 KMS FROM TB CIRCLE ON SH09 RHS TOWARDS GAURIBIDANUR	BANGALORE RURAL	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
533	WITHIN 1KM FROM H CROSS JN LHS TOWARDS KOLAR ON SH 96	BANGALORE RURAL	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
534	Tamaka highway underpass junction towards MB road (upto 1 km)	KOLAR	REGULAR	155	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
535	HINDUPUR TO MADAKASIRA ON SH 96 (WITHIN KARNATAKA LIMITS)	CHIKKABALLAPUR	REGULAR	430	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

					LOCATION LIST	- BPCL								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to be	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
536	CMH ROAD CONNECTING 100FT ROAD INDIRANAGAR TO 80FT ROAD INDIRANAGAR	BANGALORE URBAN	REGULAR	400	OPEN	сс	20	20	500	25	10	Bidding	30	5
536	MAREPALLI TO B.KOTHAKOTA ON SH 99	KOLAR	REGULAR	200	OPEN CC 1	DC	20 35	35	1225	25	60	Draw of Lots	30 15	5
537	Bagepalli to Beechaganahalli on NH 44	KOLAR	REGULAR	380	OPENCCI	DC	35	45	1225	25	75	Draw of Lots	15	4
538	MULBAGAL TO NANGALI ON NH 206 (RHS)	KOLAR	REGULAR	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
555	BETWEEN HOSA ROAD AND ELECTRONIC CITY ON	NOLAN	REGULAR	200	51		55	45	1373		0	Draw of Lots	U	5
540	HOSUR MAIN ROAD, LHS TOWARDS E CITY	BANGALORE URBAN	REGULAR	400	OPEN	сс	20	20	500	25	10	Bidding	30	5
541	INDIRANAGAR ON OLD MADRAS ROAD	BANGALORE URBAN	REGULAR	400	OPEN	СС	20	20	500	25	10	Bidding	30	5
542	KOLAR TOWN TOWARDS TEKAL	KOLAR	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
543	Panathur to Varthur on Balagere Road	BANGALORE URBAN	REGULAR	540	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
	Chintamani Chelur road Jn (Chintamani) upto		[<u> </u>										
544	Doddaganjur on NH 206	CHIKKABALLAPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
545	Munnekollal on Varthur Main Road, Bangalore City	BANGALORE URBAN	REGULAR	450	OPEN	CC	20	20	500	25	10	Bidding	30	5
546	KGF TO SATHU ON SH 96 (WITHIN KARNATAKA LIMITS)	KOLAR	REGULAR	200	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
547	HAL MUSEUM TO D.A.R.E. VIA MALLESHPALYA ROAD AND KAGGADASPURA MAIN ROAD	BANGALORE URBAN	REGULAR	220	OPEN	сс	20	20	500	25	10	Bidding	30	5
	MALUR - HOSUR ROAD (WITHIN 3 KMS FROM	1	1 '											
548	MASTHI CIRCLE)	KOLAR	REGULAR	200	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
549	SRINIVASPURA TOWN TOWARDS MADIKERE	KOLAR	REGULAR	150	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
550 551	PANATHUR MAIN ROAD AAVALAHALLI TO RAMPURA ROAD	BANGALORE URBAN BANGALORE URBAN	REGULAR REGULAR	220 200	OPEN OPEN	CC CC	20 20	20 20	500 500	25 25	10 10	Bidding Bidding	30 30	5
551	KOLAR TO BANGARPET ON SH 05	KOLAR	REGULAR	200	OPEN	DC	35	35	1225	25	60	Draw of Lots	30 15	4
553	JAYAMANGALA -BAGALUR ROAD ON SH 17	KOLAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	4
333	KUDLU GATE TO SARJAPUR MAIN ROAD VIA SILVER	NULAN	REGULAR	130	30	Сгэ			1223	0	0		U	
554	COUNTY ROAD - HOSA ROAD	BANGALORE URBAN	REGULAR	200	OPEN	сс	20	20	500	25	10	Bidding	30	5
555	CARMELARAM TO GUNJUR VILLAGE ON GUNJUR - DODDAKANNELLI RD	BANGALORE URBAN	REGULAR	250	OPEN	сс	20	20	500	25	10	Bidding	30	5
555	Vemgal industrial area on SH 96	KOLAR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	30 15	4
556	GAURIBIDNUR TOWN TOWARDS MADHUGIRI	CHIKKABALLAPUR	REGULAR	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
558	BETWEEN MARATHAHALI TO SILK BOARD JN ON ORR (INCL. SERVICE ROAD) - RHS TOWARDS SILK BOARD	BANGALORE URBAN	REGULAR	400	OPEN	CC	20	20	500	25	10	Bidding	30	5

					LOCATION LIST									
		Notice for App	ointment				nins in the	e state d	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
	BET CHANDAPURA CIRCLE TO MADIWALA ON													_
559 560	HOSUR MAIN RD ON LHS TOWARDS MADIWALA	BANGALORE URBAN	REGULAR	400 500	OPEN	CC DC	35 20	45 20	1575 500	25 25	10 60	Bidding	30 15	5
560	KORAMANGALA 3RD AND 4TH BLOCK	BANGALORE URBAN	REGULAR	500	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
561	From intersection of Chintamani Bangalore rd & SH 82 upto 8kms on SH 82 (towards AP side)	CHIKKABALLAPUR	REGULAR	205	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
562	With in 5KM from AP Border towards Rayalpadu on	KOLAD	DECLUAD	150		CTC	25	25	1225	0	0	Danua of Late	0	2
562 563	SH 82(LHS) KOLAR TOWN (MB ROAD)	KOLAR KOLAR	REGULAR REGULAR	150 200	SC OPEN CC 1	CFS DC	35 25	35 20	1225 500	0 25	0 45	Draw of Lots Draw of Lots	0 15	3
503	From Tekal towards Malur road upto 7 kms from	KULAK	REGULAR	200	OPEN CC I	DC	25	20	500	25	45	Draw of Lots	15	5
564	Tekal on SH 95	KOLAR	REGULAR	155	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Between Hosa Road Junction & Doddanagamangala													
565	on RHS, Bangalore City	BANGALORE URBAN	REGULAR	300	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
566	GUDIBANDA TOWN	CHIKKABALLAPUR	REGULAR	125	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
567	HOSAPALYA MAIN ROAD, BOMMANAHALLI	BANGALORE URBAN	REGULAR	500	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
568	KOLAR TOWN	KOLAR	REGULAR	280	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
569	BET ST JOHN MEDICAL COLLEGE AND AGARA JN. ON SARJAPUR MAIN ROAD	BANGALORE URBAN	REGULAR	250	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
570	BELLANDUR DODDAKANNELLI RD	BANGALORE URBAN	REGULAR	200	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
570	KSRTC BUS STAND (BANGARPET) TOWARDS KGF	DANGALORE UNDAN	NEGULAR	200	UPEN		20	20	500	23	00		15	5
571	(UPTO 3 KMS) LHS	KOLAR	REGULAR	195	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
572	KOLAR TOWN TOWARDS BANGARPET	KOLAR	REGULAR	150	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
573	Imadahallli Road	BANGALORE URBAN	REGULAR	350	OPEN	DC	20	20	500	25	60	Draw of Lots	15	5
	KSPCB regional office kolar towards Bethamanagala				-	-	-	-					-	-
574	road on SH 96 utpo 5 kms	KOLAR	REGULAR	110	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
575	VIJAYAPURA TOWN, DEVANAHALLI TALUK	BANGALORE RURAL	REGULAR	155	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
576	BANGARPET TOWN	KOLAR	REGULAR	180	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
577	Hulimangala Road near Electronic City	BANGALORE URBAN	REGULAR	390	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
578	ROBERTSONPET TOWN	KOLAR	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
579	GAURIBIDNUR TOWN TOWARDS TONDEBHAVI	CHIKKABALLAPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
580	ATTIBELE TOWN TOWARDS SARJAPUR ON LHS	BANGALORE URBAN	REGULAR	210	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
581	ANEKAL TOWN	BANGALORE URBAN	REGULAR	180	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
582	SARJAPUR TOWN	BANGALORE URBAN	REGULAR	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
583	CHINTAMANI TOWN	CHIKKABALLAPUR	REGULAR	330	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
584	GOWRIBIDANUR TOWN	CHIKKABALLAPUR	REGULAR	280	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
585	MULBAGAL TO NANGALI ON NH 206 (LHS)	KOLAR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
586	FROM MULBAGAL TO SRINIVASPURA ON NH 206	KOLAR	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
587	CHIKBALLAPUR TOWN	CHIKKABALLAPUR	REGULAR	160	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
588	GAURIBIDNUR TOWN	CHIKKABALLAPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
589	FROM GAJALBAVI TO KANNATHA ON NH 75	KOLAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	MALPE HARBOUR TO KARAVALI BYPASS JUNCTION													
590	NOT ON NH 66	UDUPI	REGULAR	190	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	DEVAPURADAHATTI VILLAGE ON NH 369 (LHS													
591	TOWARDS HOLALKERE)	CHITRADURGA	REGULAR	210	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
592	LOKIKERE (Indl Area)	DAVANAGERE	REGULAR	115	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
593	TOGARSHI, SHIMOGA DISTRICT	SHIMOGA	REGULAR	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	ON NH 13, LHS FROM CHIKKAGONDANAHALLY TO													
594	MADANAIKANAHALLI	CHITRADURGA	REGULAR	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
595	BASAVAPATANA	DAVANAGERE	REGULAR	103	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
596	LINGADAHALLI	CHIKMAGALUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	BETWEEN SRIRAMNAGARA TO GHANDINAGARA ON	D.N.(A.N.) 0777	DE01:: 15	455		050	2-		4355				-	-
597	SH65	DAVANAGERE	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
598	KALSANKA JUNCTION TO AMBAGILU JUNCTION IN UDUPI CITY	UDUPI	REGULAR	165	OBC	сс	20	20	400	25	10	Bidding	30	4
330	ON NH4, BANGLORE PUNE HIGHWAY,LHS TOWARDS	00000	NEGOLAN	105	000		20	20	-00	23	10	Diddillg	30	4
	DAVANAGERE FROM CHITRADURGA, ADJACENT TO													
599	KOLAHAL VILLAGE.	CHITRADURGA	REGULAR	230	OPEN	СС	35	45	1575	25	10	Bidding	30	5
600	on NH 206, TALAGUPPA, SHIMOGA DISTRICT	SHIMOGA	REGULAR	190	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	EITHER SIDE ON MEDHEHALLLI ROAD IN								1			Ŭ Ŭ		
	CHITRADURGA CITY, FROM NH4 TO													
601	MAHATMAGANDHI CIRCLE.	CHITRADURGA	REGULAR	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	ON SH 57, WITHIN 2 KM FROM SAVALANGA,										_		_	
602	SHIMOGA DISTRICT	SHIMOGA	REGULAR	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

					LOCATION LIST	- BPCL								
		Notice for App	ointment				nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
	VINOBANAGARA, SHIMOGA TOWN, SHIMOGA										10			_
603 604	DISTRICT BYNDOOR TO JADKAL ON SH 27	SHIMOGA UDUPI	REGULAR REGULAR	210 170	OPEN OPEN	CC DC	20 35	20 35	400 1225	25 25	10 60	Bidding Draw of Lots	30 15	5
604	ON SH52, WITHIN 5 KM FROM HOSANAGAR TO	UDUPI	REGULAR	170	OPEN	DC	30	35	1225	25	00	Draw of Lots	15	5
605	RIPPONPET,	SHIMOGA	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
606	on SH 25, Gondichatnahalli, Shimoga District	SHIMOGA	REGULAR	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
607	ON NH4, RHS ON CHITRADURGA TO HIRIYUR ROAD AT PALLAVVANAHALLI.	CHITRADURGA	REGULAR	370	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
600	BETWEEN SURATKAL AND PAVANJE ON NH 66 RHS		DECLUAR	104	ODEN	66	25	45	4575	25	10	Diddia	20	F
608	TOWARDS UDUPI	DAKSHINA KANNADA	REGULAR	184	OPEN OBC	CC DC	35 35	45 35	1575 1225	25 25	10 60	Bidding	30	5
609	Kudligere, On Badravathi to Channageri Road	SHIMOGA	REGULAR	190								Draw of Lots	15	4
610	BELMAN VILLAGE ON SH 1	UDUPI	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
611	MOLAKALMURU (WITHIN TOWN LIMITS ON SH 65) AMBAGILU JUNCTION TO MANIPAL UPENDRA PAI CIRCLE ON EITHER SIDE OF PERAMPALLI	CHITRADURGA	REGULAR	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
612	KRISHNADASA ROAD.	UDUPI	REGULAR	190	OBC	CC DC	20	20	400	25	10	Bidding	30	4
613	SANTHEKATTE TO KODAVOORU NOT ON NH ON NH4 FROM KOGGANUR TO HEBBALU,DAVANGERE DISTRICT(ON RHS TOWARDS BANGALORE)	UDUPI DAVANAGERE	REGULAR	160	OPEN CC 1 OPEN	DC CC	20 35	20 45	400	25	45	Draw of Lots Bidding	15 30	5
615	ALLAMPURA on SH57(On Chikmagalur- Tarikere Road)	CHIKMAGALUR	REGULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
616	MARAVANTHE TO KAMBADAKONE ON EITHER SIDE			245	0.50		25	45	1575	25	10	Diddin -	20	4
616 617	OF NH66 CHANNAGIRI TO BIRUR ROAD ON SH76	UDUPI DAVANAGERE	REGULAR REGULAR	215 150	OBC OPEN	CC DC	35 35	45 35	1575 1225	25 25	10 60	Bidding Draw of Lots	30 15	4 5
617	MUTTINAKOPPA ON SH65, SHIMOGA DISTRICT	SHIMOGA	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
010	ON SH93 WITHIN 2 KM FROM TALAGUPPA TO	SHIIVIUGA	REGULAR	110	UPEN		30	35	1225	25	00		12	5
619	SIDDAPUR, SHIMOGA DISTRICT	SHIMOGA	REGULAR	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
620	VANDSE TO IDUR-KUNHADI JUNCTION ON EITHER SIDE OF SH27	UDUPI	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
621	ON NH206, MALLIGEHALLI VILLAGE LIMIT, ON SHIMOGA SAGAR ROAD	SHIMOGA	REGULAR	230	OPEN	сс	35	45	1575	25	10	Bidding	30	5

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
622	SORABA TO CHANDRAGUTTI ON SH50	SHIMOGA	REGULAR	100	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
	SIDDAPURA (KAMALASHILE ROAD JUNCTION) TO													
623	HOSANGADI ON LHS OF SH 52	UDUPI	REGULAR	105	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
624	RIPPONPET, SHIMOGA DISTRICT	SHIMOGA	REGULAR	110	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
625	SANTHEKATTE TO HAMPANKATTE CROSS - NOT ON			110	ODEN	56	25	20	500	25	45	Duraw of Late	15	-
625 626	NH RAMNAGAR ON SH 34	UDUPI UTTARA KANNADA	REGULAR REGULAR	110 135	OPEN OPEN	DC DC	25 35	20 35	500 1225	25 25	45 60	Draw of Lots Draw of Lots	15 15	5
626	GORTE TO SHIRALI ON EITHER SIDE OF NH 66.	UTTARA KANNADA UTTARA KANNADA	REGULAR	135	OPEN	CC	35	35 45	1225	25	10	Bidding	30	4
628	BILCHODU	DAVANAGERE	REGULAR	130	SC	CFS	35	45 35	1225	0	0	Draw of Lots	0	3
629	HALIYAL TO MURKWAD ON SH	UTTARA KANNADA	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
029	AT ULLAL NEAR HAZRATH SEYYID MADANI SCHOOL		REGULAR	110	OPEN	DC	33	- 55	1225	25	60	DIAW OF LOUS	15	5
630	WITHIN 2 KMS	DAKSHINA KANNADA	REGULAR	210	OPEN	сс	20	20	400	25	10	Bidding	30	5
631	Holalur on SH-25	SHIMOGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
632	AT GUNJIMUTT NEAR PUNJA TILE FACTORY	DAKSHINA KANNADA	REGULAR	250	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
633	YELLAPUR WITHIN TOWN LIMITS ON SH	UTTARA KANNADA	REGULAR	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
634	WITHIN 1KM FROM GUNDI CIRCLE ON DENTAL COLLEGE ROAD,DAVANGERE	DAVANAGERE	REGULAR	170	OPEN	сс	20	20	400	25	10	Bidding	30	5
635	B KALAPANAHALLI,SH150 (WITHIN 1KM FROM BKALAPANAHALLI CIRCLE ON EITHER SIDE ON SH150)	DAVANAGERE	REGULAR	145	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
636	SHIMOGA TOWN ON SHANKAR MUTT ROAD	SHIMOGA	REGULAR	170	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
637	RAMPURA	CHITRADURGA	REGULAR	250	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
638	AT ALANKAR BETWEEN UPPINANGADY AND KADABA ON SH 113	DAKSHINA KANNADA	REGULAR	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
639	ON NH 369 (old 13), HOLEHONNUR, SHIMOGA DISTRICT	SHIMOGA	REGULAR	230	OPEN	сс	35	45	1575	25	10	Bidding	30	5
640	AMMENALLI TO KATGAL ON EITHER SIDE OF SH 69 OF SIRSI-KUMTA ROAD.	UTTARA KANNADA	REGULAR	120	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
641	HOSANGADY ON SH 70 BETWEEN VENOOR AND MOODBIDIRI	DAKSHINA KANNADA	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
642	CHALLAKERE TOWARDS CHITRADURGAÂ (WITHIN TOWN LIMITS).	CHITRADURGA	REGULAR	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

					LOCATION LIST									
		Notice for App	ointment				nips in the	e state (of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c) Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
643	ON NH13, MADAMUTTANAHALLI(ON RHS TOWARDS CHITRADURGA)	DAVANAGERE	REGULAR	184	OPEN	сс	35	45	1575	25	10	Bidding	30	5
	BETWEEN CHIKKATOGALERI AND DYAMENAHALLI													
644	ON SH76	DAVANAGERE	REGULAR	106	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
645	CHITRADURGA TO DAVANGERE RHS	CHITRADURGA	REGULAR	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
646	KINNIGOLI	DAKSHINA KANNADA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
647	Davangere within city limits 2	DAVANAGERE	REGULAR	170	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
648	Bandre Village- Shivani Railway Station on SH-153	CHIKMAGALUR	REGULAR	135	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
649	THIRTHAHALLI ON SH-52 TOWARDS KONANDUR	SHIMOGA	REGULAR	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
650	Holalkere to Hosadurga LHS within 5 kms.	CHITRADURGA	REGULAR	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
	STRETCH BETWEEN THOKKOTTU AND TALAPADY LHS													
651	TOWARDS KOCHI	DAKSHINA KANNADA	REGULAR	260	OPEN	CC	35	45	1575	25	10	Bidding	30	5
652	MANGALORE CITY 1	DAKSHINA KANNADA	REGULAR	285	OPEN	CC	20	20	400	25	10	Bidding	30	5
653	ANKOLA TOWN LIMITS - WITHIN 3 KM RADIUS OF ANKOLA BUS STAND (NOT ON NH66)	UTTARA KANNADA	REGULAR	110	OBC	сс	20	20	400	25	10	Bidding	30	4
654	ON SH 70 BETWEEN MULKI AND KILPADY	DAKSHINA KANNADA	REGULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
655	SAVALANGA TO HONALLI ON SH 52 WITHIN SHIMOGA DISTRICT LIMITS	SHIMOGA	REGULAR	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
656	NEAR SP OFFICE, DAVANGERE	DAVANAGERE	REGULAR	175	OPEN	CC	20	20	400	25	10	Bidding	30	5
657	PANJA ON SH 100	DAKSHINA KANNADA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
658	Beeranakere on SH 57	SHIMOGA	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
659	GARTHIKERE, SHIMOGA DISTRICT	SHIMOGA	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BELMAN TOWN - ON SH 67 WITHIN 3 KMs FROM			-						-	-		-	_
660	BELMAN JUNCTION ALONG BELMAN SHIRVA ROAD.	UDUPI	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	DIANA CIRCLE TO KINNIMULKI WITHIN UDUPI TOWN	1101121	DECLUAR	100	0551	5.0	20		400	25	45	Dame ()	45	-
661	LIMITS.		REGULAR	122	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
662	PUTTUR TOWN	DAKSHINA KANNADA	REGULAR	160	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
663	MANGALORE EXIT FROM NANTOOR TO KULASEKHAR		REGULAR	200	OPC	сс	35	45	1575	25	10	Pidding	30	4
664	ON NH 13 ON LHS HALE SORABA	DAKSHINA KANNADA SHIMOGA	REGULAR	135	OBC SC	CFS	35	45 35	1575	25 0	0	Bidding Draw of Lots	30 0	3
665		CHIKMAGALUR	REGULAR	135	OPEN	CFS	35	35 45	1225	25	10	Bidding	30	3
662	Kudlur on NH-206	CHIKIVIAGALUK	KEGULAK	150	UPEN		35	45	12/2	25	10	віадіпд	30	5

					LOCATION LIST	- BPCL								
		Notice for App	ointment				nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensio	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
666	Kaimara on NH-13	SHIMOGA	REGULAR	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5
667	Aldur in SH-27	CHIKMAGALUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
668	SAGAR TOWN-SORABA ROAD, SHIMOGA DISTRICT	SHIMOGA	REGULAR	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
669	NEAR RAVI MILL ON PB ROAD, DAVANGERE	DAVANAGERE	REGULAR	252	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
	UJIRE WITHIN 2 KM TOWARDS CHIKMAGALUR ON													
670	NH 73	DAKSHINA KANNADA	REGULAR	230	OPEN	CC	35	45	1575	25	10	Bidding	30	5
671	Magadi Hand Post- on Chikmagalur-Belur Road SH 57	CHIKMAGALUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
672	STRETCH BETWEEN KAIKAMBA AND GUNJIMUTT	DAKSHINA KANNADA	REGULAR	250	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
	ON SH27, SRINGERI TO BEGUR WITHIN 5 KM,									_	_			
673	CHICKMAGALUR DISTRICT	CHIKMAGALUR	REGULAR	110	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
674	A.B.SHETTY CIRCLE TO MANGALADEVI TEMPLE ROAD	DAKSHINA KANNADA	REGULAR	230	OPEN PH	DC	20	20	400	25	60	Draw of Lots	15	5
675	Chikkanalluru on SH-153	CHIKMAGALUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
676	Shikaripura Town- On Honnali Road	SHIMOGA	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
677	JAGALUR TOWN (ON DAVANGERE ROAD)	DAVANAGERE	REGULAR	106	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
678	Shikaripura Town- on Anandapura Road-SH1	SHIMOGA	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
679	STRETCH BETWEEN THOKOTTU AND ASSAIGOLI	DAKSHINA KANNADA	REGULAR	170	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
680	KARKALA TOWN TO NAVODAYA CIRCLE ON SH 1 BETWEEN GMIT AND RAILWAY STATION WTIHIN 3KM FROM RAILWAY STATION ON LHS OF OLD PB	UDUPI	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
681	ROAD	DAVANAGERE	REGULAR	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
682	SULAKERE ON SH	DAVANAGERE	REGULAR	104	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
683	Maruthipura on SH-77	SHIMOGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
684	UMMACHGI TO MANCHIKERI ON EITHER SIDE OF SH 93	UTTARA KANNADA	REGULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
685	ON SH65, KOPPA TO NR PURA WITHIN 5 KM, CHICKMAGALUR DISTRICT	CHIKMAGALUR	REGULAR	155	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
686	KATEEL ON SH	DAKSHINA KANNADA	REGULAR	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
687	VANIVILASPURA.	CHITRADURGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
688	MANIPAL TIGER CIRCLE JUNCTION TO SHIVAPURA ON EITHER SIDE OF NH 169A	UDUPI	REGULAR	240	OPEN	СС	35	45	1575	25	10	Bidding	30	5
689	BALA JUNCTION BETWEEN KANA JUNCTION AND MRPL GATE WITHIN 500M	DAKSHINA KANNADA	REGULAR	280	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	M.)/Area o	Dimension of the site M.). *			e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
690	ISLOOR TO MALGI ON SH 69	UTTARA KANNADA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
691	DEVARAHALLI ON SH	DAVANAGERE	REGULAR	101	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
692	UPPUNDA TO SHIROOR - ON EITHER OF NH66.	UDUPI	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
693	HEMMADI BUS STOP JUNCTION TO TRASI ON EITHER SIDE OF NH 66	UDUPI	REGULAR	230	OPEN	СС	35	45	1575	25	10	Bidding	30	5
694	within 500m from Hunsehalli junction on SH,Hunsehalli	DAVANAGERE	REGULAR	103	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
695	MUNDUGOD-SHIVAJI CIRCLE TO TIBETAN COLONY ON SH 6	UTTARA KANNADA	REGULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
696	UDUPI TO BRAHMAVARA ON EITHER SIDE OF NH 66.	UDUPI	REGULAR	210	OPEN	CC	35	45	1575	25	10	Bidding	30	5
697	HEJMADY TO YERMAL ON EITHER SIDE OF NH66.	UDUPI	REGULAR	233	OPEN	CC	35	45	1575	25	10	Bidding	30	5
698	Bidaragodu on SH-65	SHIMOGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
699	CHALLAKERE TOWARDS HIRIYUR LHS WITHIN 3 KM	CHITRADURGA	REGULAR	165	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
700	BAJEGOLI TO ALADANGADY ON SH 37 BOTH SIDES	DAKSHINA KANNADA	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
701	Karthikere on SH-57	CHIKMAGALUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
702	ON SH 57, ARALAGUPPE, CHICKMAGALUR District	CHIKMAGALUR	REGULAR	190	OPEN	CC	35	35	1225	25	10	Bidding	30	5
703	KULASHEKAR TO VAMANJOOR ON NH	DAKSHINA KANNADA	REGULAR	180	OPEN	CC	35	45	1575	25	10	Bidding	30	5
704	ON LHS, WITHIN 1 KM FROM CHORDI TO SAGARA, ON NH206, SHIMOGA DISTRICT	SHIMOGA	REGULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
705	Suthu kote on SH-57	SHIMOGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
706	DOOPADA KATTE TO NITTE COLLEGE ON EITHER SIDE OF SH1	UDUPI	REGULAR	122	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	MUNIYAL TO MUDRADY JUNCTION - EITHER SIDE ON													
707	SH 1	UDUPI	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
708	LHS, ON NH206, GADIKOPPA VILLAGE, SHIMOGA TO SAGAR ROAD, SHIMOGA DISTRICT	SHIMOGA	REGULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
709	BANAVASI WITHIN TOWN LIMITS - ON EITHER SIDE OF SH	UTTARA KANNADA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
710	MANGALORE CITY WITH 3 KMS OF MANGALA DEVI TEMPLE	DAKSHINA KANNADA	REGULAR	250	OPEN	СС	20	20	400	25	10	Bidding	30	5
711	Mugulavalli on SH-57	CHIKMAGALUR	REGULAR	110	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
712	Lakkinakoppa	SHIMOGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by pplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
713	KALASA	CHIKMAGALUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
713	OPPOSITE MRPL SCHOOL GATE WITHIN 500M	DAKSHINA KANNADA	REGULAR	480	OPEN	CC	35	35	1225	25	10	Bidding	30	5
714	ON LHS. ON NH206 FROM KADUR TO BANAVARA		REGOLAR	400	OFEN		35	35	1225	25	10	Diddillg	50	5
715	WITHIN 20 KM, CHICKMAGALUR DISTRICT	CHIKMAGALUR	REGULAR	210	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
716	BADRAVATHI TO ARALIHALLI ON SH-65	SHIMOGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
717	ATHRADI TO MOODUBELLE	UDUPI	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
718	Ramanahalli (On Linghadahalli Road- SH 57)	CHIKMAGALUR	REGULAR	175	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	STRETCH BETWEEN PUTHIGE AND AIKALA ON SH 70													-
719	BOTH SIDES	DAKSHINA KANNADA	REGULAR	220	OPEN	CC	35	35	1225	25	10	Bidding	30	5
720	TARIKERE TO LAKKAVALLI(SH57)	CHIKMAGALUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	THODAMBILA BETWEEN KALLIGE ROAD AND													
721	KALPANE JN.	DAKSHINA KANNADA	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
722	TAVERECHATANALLI ON SH-25, SHIMOGA DISTRICT	SHIMOGA	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
	LHS, WITH IN 5 KMS FROM HIRIYUR TO													
723	CHITRADURGA ON NH 4.	CHITRADURGA	REGULAR	177	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
724	KADABA	DAKSHINA KANNADA	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
725	Hiremagalur - Near Dr. Ambedkar Circle on SH-57	CHIKMAGALUR	REGULAR	220	OPEN	CC	35	35	1225	25	10	Bidding	30	5
726	HALIYAL TO YELLAPURA ON SH 93	UTTARA KANNADA	REGULAR	115	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
727	VADDINAKOPPA TO SANTHEKADUR ON SH57	SHIMOGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
728	THODAR ON NH 169 BETWEEN KAIKAMBA AND MOODBIDRI	DAKSHINA KANNADA	REGULAR	210	OPEN	СС	35	45	1575	25	10	Bidding	30	5
	BETWEEN UPPINANGADY AND GURUVAYANKERE ON												1	
729	SH 118	DAKSHINA KANNADA	REGULAR	104	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
730	Hariyabbe	CHITRADURGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
731	HALADY VILLAGE ON SH 27	UDUPI	REGULAR	108	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
732	PUTTUR SUBRAHMANYA ROAD WITHIN 3 KM FROM		REGULAR	130	OPEN	DC	20	20	400	25	45	Draw of Late	15	F
732	DARBE CIRCLE	DAKSHINA KANNADA SHIMOGA	REGULAR	130 150	OPEN	DC	20 20	20 20	400	25 25	45	Draw of Lots Draw of Lots	15 15	5
	Ilyas Nagar - 100 feet Outer Ring Road, Shimoga City												-	-
734	Sunnadhakoppa on sh-62(Shiralkoppa- Hirekerur)	SHIMOGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
735	KARGAL TO BHATKAL ON SH 50	UTTARA KANNADA	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
736	Navule- Between JNNCE College and University of Agricultural and Horticultural Sciences on SH-57	SHIMOGA	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	M.)/Area c	Dimension of the site M.). *			e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
737	HIRIYUR TOWN (WITHIN 1 KMS OF TALUK OFFICE)	CHITRADURGA	REGULAR	150	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
-	ON LHS OF SH47 FROM ANAJI TO HOSPET ROAD													
738	BETWEEN KM STONE 106KM AND 109KM TOWARDS HOSPET	DAVANAGERE	REGULAR	114	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
750	ON SH152,KADUR TO BELAGURU WITHIN 10	Divitividence	REGOLAR	114	000	00	35	33	1225	25		Draw of Lots	15	
739	KM,CHICKMAGALUR DISTRICT	CHIKMAGALUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
740	Davangere within city limits 1	DAVANAGERE	REGULAR	160	OPEN	CC	20	20	400	25	10	Bidding	30	5
741	CHANNAGIRI to CHITRADURGA(NH-13) ON LHS WITHIN 4KM FROM CHANNAGIRI	DAVANAGERE	REGULAR	215	OPEN	СС	35	45	1575	25	10	Bidding	30	5
741	Maganahalli,Davangere	DAVANAGERE	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	4
742	Kadaba/Kodimbala towards Panja Road	DAKSHINA KANNADA	REGULAR	130	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
743	KANSUR VILLAGE ON SH 93	UTTARA KANNADA	REGULAR	130	SC	CFS	35	35	1225	0	45	Draw of Lots	0	3
745	DAVANGERE: SS HOSPITAL NITUVALLI ROAD	DAVANAGERE	REGULAR	250	OPEN	CC	20	20	400	25	10	Bidding	30	5
746	SAVLANGA	DAVANAGERE	REGULAR	101	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
747	Vidhya Nagar Shimoga City - Between MRS shayadri circle and tunga river bridge	SHIMOGA	REGULAR	290	OPEN	сс	20	20	400	25	10	Bidding	30	5
748	MARDHALA(PUTTUR TALUK)	DAKSHINA KANNADA	REGULAR	115	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
749	GOLIANGADI VILLAGE TO ALBADI ON SH27	UDUPI	REGULAR	110	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
750	MYSORE CITY , KUVEMPUNAGAR	MYSORE	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
751	HEBBAL INDUSTRIAL AREA 1st stage	MYSORE	REGULAR	160	OPEN	CC	20	20	400	25	10	Bidding	30	5
752	MYSORE CITY LIMITS NOT ON ORR	MYSORE	REGULAR	250	OBC	CC	20	20	400	25	10	Bidding	30	4
753	Left Hand Side from Heggavadi X to Badanaguppe	CHAMARAJANAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	LHS from Bharat Cancer Hospital to Sesadripuram													
754	College on ORR Mysore City	MYSORE	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
755	KALIDASA MAIN ROAD, MYSORE	MYSORE	REGULAR	260	OPEN	CC	20	20	400	25	10	Bidding	30	5
756	between Yelwala Bus stand to Lingderra Koppal Bus Stand on NH 275	MYSORE	REGULAR	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
757	SIT MAIN ROAD, TUMKUR CITY	TUMKUR	REGULAR	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
758	Metagalli (Industrial Area), Mysore	MYSORE	REGULAR	180	OPEN	CC	20	20	400	25	10	Bidding	30	5
759	Madarhalli to Begur on NH (LHS toward begur)	CHAMARAJANAGAR	REGULAR	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
760	Chikkahole Dam to Suvarnavathy Dam on NH-948 (Right Hand Side towards Sathyamanglam)	CHAMARAJANAGAR	REGULAR	170	OPEN	СС	35	45	1575	25	10	Bidding	30	5
	minimum dimension mentioned here is different f											8		-

					LOCATION LIST	- BPCL								
		Notice for App	ointment				nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensio	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
761	Channarayapatna town limits towards Hassan	HASSAN	REGULAR	105	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
762	3 km from Uttamballi Cross on NH-209 towards Kollegal	CHAMARAJANAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
763	Betweem Virajpet to Ammathi on SH	KODAGU	REGULAR	190	OPEN CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
764	CHINAKURULI MANDYA DISTRICT	MANDYA	REGULAR	160	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
765	Anchepalya to Marur hand post (LHS on NH 75)	RAMANAGARA	REGULAR	250	OPEN	CC	35	45	1575	25	10	Bidding	30	5
766	BYRAPURA TO BHAGE ON NH, LHS	HASSAN	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
767	SRIRANGAPATNA TO MANDYA (LHS ON NH275 TOWARDS BANGALORE WITHIN 10KMS)	MANDYA	REGULAR	170	OPEN	сс	35	45	1575	25	10	Bidding	30	5
768	MALAVALLLI TOWARDS KOLLEGAL ON NH 209 (WITHIN MANDYA DISTRICT LIMITS)	MANDYA	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
769	LEFT HAND SIDE ON NH-275 FROM HUNSUR JUNCTION TOWARDS COORGA (UPTO KOTHEGAL VILLAGE X ROAD)	MYSORE	REGULAR	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
770	AJJAGONAHALLI VILLAGE ON NH 48 LHS TOWARDS SIRA	TUMKUR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
771	KABBAHALLI ON STATE HIGHWAY (BEGUR ROAD)	CHAMARAJANAGAR	REGULAR	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
772	BIKKODU-CHOKANAHALLI ON SH 112	HASSAN	REGULAR	150	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
773	NEAR NITTUR BUS STAND ON NH 73 WITHIN 2KMS	TUMKUR	REGULAR	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
774	Hosaramanhalli to Krishnapura on State Highway	MYSORE	REGULAR	140	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
775	Within 5 km from Gandasi post towards Arsikere	HASSAN	REGULAR	101	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
776	Kadabahalli, RHS from Hirisave to Bellur Cross NH 75	HASSAN	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
777	SIRA TOWN TO BADAVANAHALLI, LHS ON NH234, TOWARDS BADAVANAHALLI	TUMKUR	REGULAR	265	OPEN	сс	35	45	1575	25	10	Bidding	30	5
	Hanumathapura, LHS opposite Madhu coffee 5km from Bittagowdanahalli circle, Hassan-Arakalgud						_				_			
778	road	HASSAN	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
779		TUMKUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
780	TUMKUR TO NELAHAL ON LHS FROM TUMKUR ON NH-4	TUMKUR	REGULAR	230	OPEN	сс	35	45	1575	25	10	Bidding	30	5
781	VASANTHANARSAPURA, LHS ON NH 48 (OLD NH4), TOWARDS PUNE	TUMKUR	REGULAR	280	OPEN	СС	35	45	1575	25	10	Bidding	30	5

					LOCATION LIST	- BPCI								
		Notice for Apr	ointment		/ Rural Retail Ou		hips in th	e state	of Kar	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area o	n Dimensio	ion (in	Finance to be	be arranged by pplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
782	SIRA TO BUKKAPATNA ON NH 206	TUMKUR	REGULAR	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
783	MYSORE ORR TO NANJANGUD ON NH	MYSORE	REGULAR	400	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
784	Hunsur town on Kattemalwadi road	MYSORE	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
785	NH 48- SEEBI AGRAHARA LHS TOWARD SIRA	TUMKUR	REGULAR	180	OPEN	CC	35	45	1575	25	10	Bidding	30	5
786	sh 71, ATTAVARA	HASSAN	REGULAR	150	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
787	HALEBEEDU TOWN	HASSAN	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
788	Ramnathapura to Yachana-Kuppe on Saligrama Road	HASSAN	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
789	Konehalli on NH 206	TUMKUR	REGULAR	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
700	LHS ON SH3 FROM BANAWADI TO	BANAANIACABA	DECULAR	100	0.00	56	25	25	1225	1 25		Danue of Laste	45	, '
790	GUDEMARANAHALLI HANDPOST	RAMANAGARA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
701	BETWEEN KRISHNAPURA AND BEDATTUR - LHS ON	TUNAKUD		150	ODEN		25	25	1225	25	60	Down of Late	15	
791	SH 3 TOWARDS MEDIGESHI	TUMKUR	REGULAR	150 150	OPEN	DC	35	35 35	1225 1225	25 25	60 60	Draw of Lots	15 15	5
792	BETWEEN GULUR AND NAGAVALLI - LHS ON SH 33	TUMKUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
793	LHS, SH-57, BELUR TO CHICKMANGALURU ROAD WITHIN 5 KMS FROM BELUR.	HASSAN	REGULAR	240	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Ramnathpura to Ragimarur on periyapatna State			1 100	200		25	1 25		1 25				
794		HASSAN	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
795	PAVAGADA 2KM WITHIN KSRTC BUS STAND	TUMKUR	REGULAR	130	OPEN	CC	20	20	400	25	10	Bidding	30	5
796	TUMKUR CITY, towards Rangapura within 1 km from KSPCB office	TUMKUR	REGULAR	350	OPEN	сс	20	20	400	25	10	Bidding	30	5
797	Channarayapatna to Sathenahalli on SH-7	HASSAN	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
798	SH 102 Shantigrama to Dudda	HASSAN	REGULAR	102	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	TUMKUR TOWN, BTW BGS CIRCLE AND BADRAMMA		'	<u> </u>			T							<u> </u>
799	CHAULTRY CIRCLE	TUMKUR	REGULAR	160	OPEN	СС	20	20	400	25	10	Bidding	30	5
800	PAVGADA WITHIN TOWN LIMITS	TUMKUR	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
801	Periyapatna town Limits toward Hassan	MYSORE	REGULAR	115	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
802	BETWEEN DWARALU TO TAVAREKERE ON NH	TUMKUR	REGULAR	162	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
803	Tumkur city bet Gubbi gate circle to Ring Road circle	TUMKUR	REGULAR	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
	MADIKERE TOWN LIMITS NOT ON SOMWARPET	1	· [· · · · · · · · · · · · · · · · · ·											
804	ROAD	KODAGU	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
805	NAPOKOLU ON HIGHWAY	KODAGU	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
806	MYSORE CITY LIMITS	MYSORE	REGULAR	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

					LOCATION LIST									
		Notice for Appo	ointment				nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
007	TUMKUR TOWN FROM SHETTIHALLI UNDERPASS 1	TUNAKUD	2501114.0	250	0.0551		20	20	100	25	10	D: 1 //		<u> </u>
807 808	KM TOWRADS RING ROAD	TUMKUR TUMKUR	REGULAR REGULAR	350 120	OPEN OPEN	CC CC	20 20	20 20	400 400	25 25	10 10	Bidding Bidding	30 30	5
808	SS PURAM MAIN ROAD, TUMKUR CITY KONANUR ON ROAD TO RAMNATHPURA WITHIN 1.5	TUIVIKUK	REGULAR	120	OPEN	LL LL	20	20	400	25	10	Bidding	30	5
809	KM	KODAGU	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Ramanagaram Town Towards Magadi (within 1km													
810	from Ramanagaram bus Stand - Within town limits)	RAMANAGARA	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
811	T NARSHIPURA TOWN LIMITS	MYSORE	REGULAR	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
812	Purigaali town limits	MANDYA	REGULAR	105	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
813	SANTHEMARAHALLI (EXCEPT NH)	MYSORE	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
814	TUMKUR CITY BETWEEN KYATSANDRA AND SAPTHGIRI EXT	TUMKUR	REGULAR	350	OPEN	СС	20	20	400	25	10	Bidding	30	5
815	THAVARAKERE ON NH-4, LHS TOWARD BANGLORE	TUMKUR	REGULAR	325	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
816	Hunsur Town Limits	MYSORE	REGULAR	250	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
817	Mandya Town limits near Hosahalli circle on 100 ft road(Not on NH or SH)	MANDYA	REGULAR	170	OPEN	СС	20	20	400	25	10	Bidding	30	5
818	hosahalli to pallahalli limits on krs road	MANDYA	REGULAR	150	OPEN	CC	35	35	1225	25	10	Bidding	30	5
819	MADAPURA TO SANTHEMARAHALLI ON NH (CHAMRAJNAGAR HIGHWAY)	CHAMARAJANAGAR	REGULAR	185	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
819	AMMATHI , ON VIRAJPETE ROAD IN TOWN LIMITS	KODAGU	REGULAR	185	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
820	Kushalnagar (Maruthi Temple Junction to 2 KM	KODAGO	REGOLAR	150	OBC	DC	20	20	400	25	00	Diaw of Lots	15	4
821	toward Hassan on State Highway)	KODAGU	REGULAR	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
822	SIRA TOWN	TUMKUR	REGULAR	220	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
823	Haranhalli enroute Dudda to Arsikere, Hassan	HASSAN	REGULAR	105	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
824	honganoor to yelandur, LHS, on SH	CHAMARAJANAGAR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
825	TEXTILE SEZ KIADB HASSAN	HASSAN	REGULAR	100	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
826	Left Hand Side from MANAGALLI to BASAVAPURA on NH towards Bandipur	CHAMARAJANAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
827	RHS, SH 91, BASAVANA HALLI VILLAGE, GUDDEHOSUR TO SIDDAPURA ROAD	KODAGU	REGULAR	200	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
828	madhuvanhalli limits on SH (LHS from Kollegal)	CHAMARAJANAGAR	REGULAR	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
829	Chamrajanagr on Bypass Road	CHAMARAJANAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

					LOCATION LIST									
		Notice for App	ointment				nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c				e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
830	Hardanhalli to Chikkahole Dam on Highway	CHAMARAJANAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
831	kamagere to doddinduvadi on State Highway (Kollegal - Hanur Road)	CHAMARAJANAGAR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
832	Kanakpura Town	RAMANAGARA	REGULAR	160	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
833	kowdalli on state highway-79 (kollegal taluk)	CHAMARAJANAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
834	BETWEEN DODDATHUPPUR TO SHINDANAPURA ON STATE HIGHWAY-81, GUNDULPET ROAD	CHAMARAJANAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
835	LHS FROM MANDYA BUS STAND TOWARDS MADDUR WITHIN MANDYA TOWN LIMITS	MANDYA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
836	Alur town limit	HASSAN	REGULAR	105	OPEN CC 1	DC	25	20	500	25	45	Draw of Lots	15	5
837	TIPTUR ON SH 71	TUMKUR	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
838	On Madikeri-Virajpet Road on LHS from Madikeri towards Virajpet	KODAGU	REGULAR	105	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
839	5 km from Arsikere town LHS on Arsikere- Shivamoga on NH	HASSAN	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
840	ON NH-75, FROM CHANNAPATNA CIRCLE TO Anachihalli Junction	HASSAN	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
840	MALAVALLI TOWN LIMITS ON BANNUR ROAD	MANDYA	REGULAR	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	4
842	Hebbale to Manajur on Highway	KODAGU	REGULAR	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
843	CHIKKANAYAKANAHALLI TO HULIYAR	TUMKUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
844	Kithoor to Kolur on State Highway (KRNagar Taluk)	MYSORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
845	Ramanathapura, Arkalgud Taluk, Hassan District	HASSAN	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Odeyarplaya to Lakkanhalli on Kollegal Road													
846	(Kollegal Taluk)	CHAMARAJANAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
847	CHANNAPATTANA CIRCLE TO MYSORE ROAD ON SH 57 WITHIN 5 KM, HASSAN DISTRICT	HASSAN	REGULAR	180	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	MARUR HAND POST TO RAGHUNATHAPURA VILLAGE		DECUMAR	202	0.0551	20	25	45	4575	25		D	45	_
848 849	(LHS ON NH 75) DODDAMUDUVADI CROSS TO RAMANAGARAM	RAMANAGARA	REGULAR REGULAR	200 115	OPEN OBC PH	DC DC	35 35	45 35	1575 1225	25 25	75 60	Draw of Lots Draw of Lots	15 15	5
849 850	HONNUDIKE ON SH 94	RAMANAGARA TUMKUR	REGULAR	115	SC PH	CFS	35	35	1225	25	60 0	Draw of Lots Draw of Lots	0	4
050	LHS, SAKALESHPUR TO BALUPET, NH-75, HASSAN	IUIVINUK	REGULAR	100	3C PT	UL2	33	33	1223	U	U		U	3
851	DISTRICT	HASSAN	REGULAR	320	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nins in the	e state d	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c) Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
852	MARALENAHALLI ON NH4 LHS TOWARDS SIRA	TUMKUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
853	PONNAMPET TOWN LIMITS	KODAGU	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
854	SIDDAPURA ON NH 206, RHS TOWARDS MADHUGIRI	TUMKUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
855	HAROHALLI ON MYSORE BANNUR ROAD	MYSORE	REGULAR	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
856	Hassan town limit towards Belur	HASSAN	REGULAR	115	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
857	Bettadapura	MYSORE	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
858	KB Cross to TURUVEKERE on NH 150A	TUMKUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
859	HD Kote Ring Road Junction to Manadavadi	MYSORE	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
860	VIRAJPET TOWN ON GONICOPPA ROAD	KODAGU	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
861	between amruthur and yedawani , LHS on SH 84	TUMKUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
862 863	SH 110 Susane, Hasan Dist	HASSAN	REGULAR	180	OPEN CC 1	DC DC	35 35	35 35	1225	25 25	60 60	Draw of Lots	15	5
863	from KR Nagar town toward Mysore on SH	MYSORE	REGULAR	100 100	OBC SC	CFS	35	35	1225 1225	0	0	Draw of Lots	15 0	4
864	Shravanabelagola- Hirisave main road HEBBUR ON SH33	HASSAN TUMKUR	REGULAR REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots Draw of Lots	15	3
866	CHAUDAYYANAPALYA ON SH 94	TUMKUR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
867	GONIKOPPA TOWN (TOWARDS THITHIMATHI)	KODAGU	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	4
807	RHS, TENDEKERE VILLAGE, SHEELANERE HOBLI, KR PET TO PANDAVPURA ROAD, SH-7, MANDYA	KODAGO	REGOLAR	115	OBC		20	20	400	25	45		15	4
868	DISTRICT	MANDYA	REGULAR	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
869	AMRUTUR ON SH 84	TUMKUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
870	CHOWDLAPURA NEAR 62KM MILE STONE ON SH 73	TUMKUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
871	gonicoppa Town limtis	KODAGU	REGULAR	120	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
	Periyapatna Chaurasta to Rajapura X Road (on					_				_				
872	Highway toward Tithimathi)	MYSORE	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
873	Melahalli Circle to Bannur	MYSORE	REGULAR	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
874 875	T Narsipura to Nanjangud Road (State Highway 84) CHANNAPATNA TOWN LIMITS (LHS ON BANGALORE- MYSORE HIGHWAY NH275)	MYSORE RAMANAGARA	REGULAR	108 250	OPEN PH OBC	DC DC	35 20	35 20	1225 400	25	60 45	Draw of Lots Draw of Lots	15 15	5
875	GULUR ON SH33	TUMKUR	REGULAR	110	OPEN	DC	35	35	400	25	60	Draw of Lots	15	4
876	Teraknambi	CHAMARAJANAGAR	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
878	KADABA ON SH 84	TUMKUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

					LOCATION LIST									
		Notice for App	ointment				nins in the	e state (of Karr	nataka				
				Estimated			-							
			Type of RO	monthly Sales Potential #	Category	Type of Site*	M.)/Area c	Dimension of the site M.). *			e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
879	FROM RAMANAGARA BUS STAND TOWARDS KANAKAPURA WITHIN RAMANAGARAM TOWN LIMITS	RAMANAGARA	REGULAR	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
880	MARLUR GP 2KMS ON SH 33	TUMKUR	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
881	kallur cross on SH 84	TUMKUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
882	KADLUR ON SH112	HASSAN	REGULAR	190	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
883	BTW KALLUR X AND MAYASANDRA LHS ON SH-84	TUMKUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
884	NEAR NITTUR BUS STAND ON SH 73 WITHIN 2KMS	TUMKUR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
885	Ummathur Village Limits on SH	CHAMARAJANAGAR	REGULAR	140	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
886	LHS on NH275 from Ramanagaram towards Bidadi(within ramanagaram town limits)	RAMANAGARA	REGULAR	190	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
887	Chennapatna (within town limits)	RAMANAGARA	REGULAR	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
888	KALLAMBELLA ON SH 84 LHS TOWARDS NITTUR	TUMKUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
889	Maddur Adigas circle to Kestur	MANDYA	REGULAR	156	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
890	Holenarsipura town limit	HASSAN	REGULAR	105	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
891	Kollegal Town Limits on Satyagala ROad	CHAMARAJANAGAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
892	Ramnathpura to Doddamagge on Arkalagud Road	HASSAN	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
893	Nagarahalli near Vasantnarsapura Industrial area Tumkur	TUMKUR	REGULAR	102	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
894	Harohalli town limits on Siddhapura-bidadi road	RAMANAGARA	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
895	PERIYAPATNA TOWN LIMITS	MYSORE	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
896	KR Nagar Town	MYSORE	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
897	KUNIGAL ROAD WITHIN 1KM FROM SSIT	TUMKUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
898	LHS FROM CHANNAPATNA BUS STAND TOWARDS MADDUR (WITHIN CHANNAPATNA TOWN LIMITS)	RAMANAGARA	REGULAR	195	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
899	GUNDLPETE TOWN LIMITS	CHAMARAJANAGAR	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
900	TIPTUR INSIDE MUNICIPAL LIMITS	TUMKUR	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
901	pandavpura town	MANDYA	REGULAR	105	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
902	Urdigere within 2kms from sub post office	TUMKUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
903	PAVGADA ON HINDUPUR ROAD	TUMKUR	REGULAR	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
904	Chamrajnagar Town	CHAMARAJANAGAR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
905	kanakapura town limits on sangam road	RAMANAGARA	REGULAR	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
906	KORATAGERE 1KM FROM PWD OFFICE	TUMKUR	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
907	Nittur Town,Tumkur	TUMKUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	Doddakavalande (Nanjangud Taluq), To Nanjangud													
908	on NH	MYSORE	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
909	Shanivaarshante TOWN LIMITS	KODAGU	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
910	Arasikere, Pavgada Taluk	TUMKUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
911	belur town limits on haleebedu road	HASSAN	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
912	NANJANGUD TOWN LIMITS	MYSORE	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
913	Hagare, towards Hassan on SH 57	HASSAN	REGULAR	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
914	Yediyuru Town	TUMKUR	REGULAR	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
915	TURUVEKERE	TUMKUR	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	Hassan town limits LHS on Dairy circle to													
916	Boovanahalli ciclE	HASSAN	REGULAR	102	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
917	HAMPAPURA TO MANCHANAHALLI CROSS	MYSORE	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
918	hassan city , jaynagar area on ring road	HASSAN	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
919	Channarayapattana city,	HASSAN	REGULAR	140	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
920	Kushalnagar town	KODAGU	REGULAR	150	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
921	belur town on mudigere road	HASSAN	REGULAR	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
922	Kotekere to Belchwadi on SH 86	CHAMARAJANAGAR	REGULAR	105	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
923	Samwarpet town	KODAGU	REGULAR	100	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
924	Madikere Town Limits	KODAGU	REGULAR	110	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
925	Virajpet Town Limits	KODAGU	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
926	MAGADI TOWN LIMITS ON RAMANAGARAM ROAD	RAMANAGARA	REGULAR	105	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
927	BELUR TOWN LIMIT, HASSAN DISTRICT	HASSAN	REGULAR	240	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
928	Kutta Town	KODAGU	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	Maddur Town Limits (LHS on NH 275 towards													
929	Mysore)	MANDYA	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
930	Mandya to Keregodu Road	MANDYA	REGULAR	113	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
931	Chennapatna - Halgur Road (Sunnaghatta to Halgur)	RAMANAGARA	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

					LOCATION LIST	- BPCL								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
932	Malavalli-Bannur (Within Mandya District Limits on SH 33)	MANDYA	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
932	Kowdle on Madhugiri Road (Maddur Taluk)	MANDYA	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
934	HOSAKAVI - MANDYA TO KOUDLE ROAD ON SH84	MANDYA	REGULAR	104	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
935	HD Kote	MYSORE	REGULAR	230	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
555	MARALAGONDALA VILLAGE (ONLY ON BANGALORE	MISONE	REGOLAR	230	30	615	33	33	1225		Ŭ	Draw of Lots	Ū	5
936	TO MAGADI ROAD)	RAMANAGARA	REGULAR	190	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
937	chunchunkatte to bhuvanahalli on kr nagar highway	MYSORE	REGULAR	170	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
938	Hunsanahalli	RAMANAGARA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
939	MADDUR TO KOPPA ROAD (WITHIN MADDUR TOWN LIMITS AND NOT ON NH)	MANDYA	REGULAR	180	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
940	KODIHALLI ON SH-03	RAMANAGARA	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	Tagachakuppe Village (only on Magadi to													
941	Thaverekere main road)	RAMANAGARA	REGULAR	180	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
942	BEERIHUNDI TO GADDIGE ON RHS	MYSORE	REGULAR	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
943	Kalikere, within 9 km LHS on Channarayapatna- Tiptur road	HASSAN	REGULAR	132	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
943	Yelandur Town	CHAMARAJANAGAR	REGULAR	132	SC	CFS	20	20	400	25	0	Draw of Lots	0	3
944	FROM GADDIGE CIRCLE TOWARDS HUNSUR ON RHS	MYSORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
946	Devarayapatna to Melkote Road	MANDYA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
947	Kirugavalu (On Bannur to Malavalli Road)	MANDYA	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
948	MAGADI ROAD NEAR TAVAREKERE	RAMANAGARA	REGULAR	180	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Shanivarshante to Mallipatna on SH towards										-			-
949	Arkalgud	KODAGU	REGULAR	100	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
950	Rangasamudra to Bannur on SH	MYSORE	REGULAR	230	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
951	Chelur Town on Sira Road	TUMKUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
952	KR Pete town limit	MANDYA	REGULAR	116	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
953	CHALYA ON SH08	HASSAN	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
954	Ponnampet to Hudikeri on SH 89	KODAGU	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
955	PERUMBADI JUNCTION TOWARD MANGOLIA HOTEL ON, VIRAJPET SH, (WITHIN 5 KM)	KODAGU	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
05.0	Hospattana to Nanjarayapattana on SH 91,	KODACU	DECULAR	105	0.00		20	20	100	25	CO		45	
956 957	Siddapura Road Hassan city	KODAGU HASSAN	REGULAR REGULAR	105 120	OBC ST	DC CFS	20 20	20 20	400 400	25 0	60 0	Draw of Lots Draw of Lots	15 0	4
957	Bittangala to Kaikeri on SH 90, Virajpet Road	KODAGU	REGULAR	120	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
958	RHS from Kadanoor Junction (Tala Kaveri Road) to 2	KUDAGU	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
959	KMS from Radanoor Junction (Tala Raveri Road) to 2 KM toward Madikere on Virajpet- Madikere Highway	KODAGU	REGULAR	105	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
960	Kollegal to Madhuvanhalli on highway	CHAMARAJANAGAR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
961	LHS,on SH-7, ARSIKERE TO CHANARAYAPATNA	HASSAN	REGULAR	180	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
962	KR PET TOWN ON SRAVANABELAGOLA ROAD	MANDYA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
963	Hassan City on MG Road	HASSAN	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
964	PERIYAPATNA TO SEEGUR , LHS ON HIGHWAY	MYSORE	REGULAR	100	OPENCET	DC	35	35	1225	25	60	Draw of Lots	15	4
965	Hosa Agrahara , on KR Nagar to Bherya, LHS	MYSORE	REGULAR	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
965	GUBBI TOWN TO BIDARE ON SH	TUMKUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
967	Tumbadi on SH 3	TUMKUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
307	WITHIN 2 KM BETWEEN NARASIMHARAJA CIRCLE TO	TOWINGIN	RECOLAR	100	UFLIN		35	35	1223	23	00		1.5	,
968	SALAGAME ROAD, HASSAN	HASSAN	REGULAR	101	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
969	BTW URIDIGERE AND IRAKASANDRA	TUMKUR	REGULAR	101	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
505	HASSAN TO ARSIKERE ROAD WITHIN 5 KMS FROM				0. 2.1	20			1225			2.00.0.200		
970	DAIRY CIRCLE, HASSAN	HASSAN	REGULAR	225	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
971	HD Kote to Yelehund on SH	MYSORE	REGULAR	110	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
972	MADAPURA, MYSORE TO HD KOTE ON RHS	MYSORE	REGULAR	140	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
973	Kuderu, On Umathur -Santhemarahalli Highway	CHAMARAJANAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
974	SH 27, Within 5 KM from Sakleshpur	HASSAN	REGULAR	157	OPEN PH	DC	20	20	400	25	60	Draw of Lots	15	5
975	M K HUBLI TO KITTUR	BELGAUM	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
976	GADAG TO HULKOTI ROAD ON LHS	GADAG	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
977	Within 5 Kms from Dharwad High court (On NH 4)	DHARWAD	REGULAR	222	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	KHANAPUR TO LONDA ROAD WITHIN KHANAPUR													
978	TALUKA LIMITS, ON NH 4A-748	BELGAUM	REGULAR	154	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
979	Bellad Bagewadi (on SH-73)	BELGAUM	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
980	R.H S From Tadas X road to Chabbi X road on NH4	DHARWAD	REGULAR	215	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state (of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area o				e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
981	CHALAGERI,ON PUNE -BANGALORE ROAD(NH4) ON LHS BETWEEN KM STONE 285 TO 294 TOWARDS BANGALORE	HAVERI	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
982	KOLIKOPPA VILLAGE ON NH4, LHS FROM HUBLI TO BELGAUM	BELGAUM	REGULAR	235	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
502	WITHIN 2 KM OF KHADAKLAT CROSS LAXMITEK TO	DELO/IOIII	incode in	200	01 EII	20		10	10/0	20	10	51411 01 2013		5
983	NIPANI	BELGAUM	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
984	BELGAUM TO M K HUBLI ON NH48	BELGAUM	REGULAR	185	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
985	GADAG TO HULKOTI ROAD ON RHS	GADAG	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	WITHIN 1KM OF PATTANKUDI CIRCLE ON NIPANI-													_
986	CHIKODI ROAD	BELGAUM	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
987	NIPANI ON CHIKODI ROAD LHS	BELGAUM	REGULAR	125	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
988	BAILHONGAL TO MURGOD ROAD ROAD, WITHIN BAILHONGAL CITY LIMITS	BELGAUM	REGULAR	210	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
989	MANGASULI VILLAGE ON SH12	BELGAUM	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
303	BETWEEN TULASIGERI CROSS TO BHANTNUR CROSS	BELGAOIVI	REGOLAR	150	OFEN	DC	35	35	1225	25	00	Diaw of Lots	15	5
990	ON SH-20	BAGALKOT	REGULAR	122	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
991	Jamkhandi Bijapur road within 5 kms of Kumbarahall	BAGALKOT	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
992	GOKAK NAKA TO MALDINI CROSS	BELGAUM	REGULAR	142	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
993	NAREGALL VILLAGE LIMITS	GADAG	REGULAR	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
994	INAMHONGAL VILLAGE ON SH-34,WITHIN 500 MTS RADIUS OF INMAHONGAL VILLAGE	BELGAUM	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
995	MANTUR CROSS TO KALADAGI CROSS ON SH 53	BAGALKOT	REGULAR	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
996	SHEDBAL TO KAGWAD ATHANI TALUKA	BELGAUM	REGULAR	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
997	WITHIN 2 KMS OF KULGOD CROSS ON SH 54 or SH 44	BELGAUM	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	RAMDURG TO BADAMI ROAD, AT HALAGATTI CROSS													
998	ON RHS ON SH14	BELGAUM	REGULAR	106	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
999	Within 5 kms of Mudhol bus stand on Mantur Road SH 53	BAGALKOT	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1000	JANGAWAD VILLAGE ON KERUR- BATAKURKI ROAD SH-134	BAGALKOT	REGULAR	115	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1000	WITHIN GULEDGUDDA VILLAGE LIMITS	BAGALKOT	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

					LOCATION LIST									
		Notice for App	ointment		/ Rural Retail O		nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area d	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1002	YARAGATTI EXIT TOWARDS BAGALKOT, WITHIN 0.5KM ON BOTH SIDE	BELGAUM	REGULAR	104	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1003	GOKAK CITY FALLS ROAD WITHIN 3 KMS OF RIDHI SIDHI GLUCOSE FACTORY ON STATE HIGHWAY	BELGAUM	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1004	WITHIN 3 KM OF ANKALGI CROSS ON SH-1/SH-54	BELGAUM	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1005	YARAGATTI EXIT TOWARDS MUNAVALLI,WITHIN 0.5 KM FROM YARAGATTI BUS STAND TO EXIT TOWARDS MUNVALLI	BELGAUM	REGULAR	104	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
1005	NEGLUR ON SH 57	HAVERI	REGULAR	104	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	MUNDARGI TO GADAG ROAD , WITHIN MUNDARGI								-	-				
1007	TALUKA LIMITS	GADAG	REGULAR	101	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1008	LAKKIKOPPA ON SH	HAVERI	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	KORALAHALLI VILLAGE,MUNDARGI TO HUVINHADAGALI ROAD,SH-45,WITHIN 3KMS								1005					
1009	BEFORE KORALAHALLI VILLAGE	GADAG	REGULAR	102	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1010	WITHIN 2KM OF DADDI VILLAGE HUKKERI TALUKA	BELGAUM	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1011	HAVERI TOWN 2	HAVERI	REGULAR	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1012	GANJENDRGADA TO GADAG ROAD,WITHIN GAJENDRGADA CITY LIMITS	GADAG	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1013	BEDKIHAL VILLAGE CHIKODI TALUKA	BELGAUM	REGULAR	105	OPEN CC 1	DC	25	20	500	25	45	Draw of Lots	15	5
1014	WITHIN 1.5KM OF TELSANG CROSS ON SH12	BELGAUM	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1015	MAKARVALLI ON SH-1,HAVERI	HAVERI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1016	TIPPAIKOPPA TO KODAMAGGI ON SH	HAVERI	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	within VILLAGE LIMITS OF GUDUR ON BADAMI													
1017	HIGHWAY	BAGALKOT	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1018	BATAKURKI VILLAGE LIMITS	BELGAUM	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1019	KERUR VILLAGE(CHIKODI TALUKA)	BELGAUM	REGULAR	150	ST	CFS	25	20	500	0	0	Draw of Lots	0	3
1020	SANGANKERI CROSS, WITHIN 1 KM RADIUS OF SANGANKERI CROSS ON STATE HIGHWAY	BELGAUM	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1021	AIGALI CROSS ON ATHANI TIKOTA ROAD	BELGAUM	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1022	Kagwad (On SH-12)	BELGAUM	REGULAR	100	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
1023	Hubli Dharwad Bye pass (NH 4)	DHARWAD	REGULAR	235	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4

Notice for Appointment of Regular / Rural Retail Outlet Dealerships in the state of Karnataka Value Type of RO Estimated monthly Potential # Category Type of Site* Minimum Dimension (in M.)/Area of the site (in Sq. M.).* Finance to be arranged by the applicant Mode of Selection SI. No Name of location Revenue District Regular/ (SC/SC CC 1/SC PH/ST/ST CC 1/ST (SC/DC/CES) Errontage Depth Area Estimated requirement Estimated fund required for development Fixed (Draw of						LOCATION LIST									
St. No Name of location Revenue District Figure of Rod Eatmanded Rod Category Rod Type of Sie Molenum Dimension (n M) Alexe of the and (n B v ebs) Finance to be arranged by the applicant. Mode of Selection St. No Name of location Revenue District Regular / Rod (KS-HSD) (NS+HSD) Co/DCC/ES) Frank Estimated working requirement RO (Rs in Rod webpoment (Labbit (MS+HSD) Estimated working requirement RO (Rs in Rod webpoment (Labbit (Labbit) Estimated working requirement RO (Rs in RO			Notice for App	ointment				nins in the	e state d	of Karr	nataka				
St. No Name of location Revenue Diarica Regulari Regulari Runal KMS+HSD (mSS CSC/SC PLOPENCEN CC 1/0BC PHO/PENCEN Fortage cruster Lasks and base Estimated scapital required for dovelopment (Rs) Estimated required for required f				Type of	Estimated monthly Sales			Minimum M.)/Area d	Dimension Dif the site	on (in	Finance to b	0 ,			
1025 KADAPUR CROSS ON SH-12, CHIKODI TALUKA BELGAUM REGULAR 100 OPEN DC 35 35 1225 25 60 Draw of lots 15 1026 NANDGAD VILLAGE LIMITS. BELGAUM REGULAR 100 OPEN DC 20 400 25 45 Draw of lots 15 1027 Saunshi Village DHARWAD REGULAR 100 OPEN DC 35 35 1225 60 Draw of lots 15 1028 GATE BELGAUM OT WITHIN SKM OF THIRD RAILWAY REGULAR 260 SC CFS 20 400 0 0 Draw of lots 15 1029 BELGAUM TAUKA BELGAUM REGULAR 200 OPEN DC 20 400 25 45 Draw of lots 15 1030 WITHIN 2KM OF EXAMBAVILLAGE, CHIKODI TAUKA BELGAUM REGULAR 210 OBEC DC 20 400 25 45 Draw of lots 15 1031 <t< th=""><th></th><th>Name of location</th><th>Revenue District</th><th></th><th></th><th>1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC</th><th>(CC/DC/CFS)</th><th>Frontage</th><th>Depth</th><th>Area</th><th>working capital requirement for operation of RO (Rs in</th><th>fund required for development of infrastructure at RO (Rs in</th><th></th><th>Fixed Fee / Min bid amount (Rs in Lakhs)</th><th>Security Deposit (Rs in Lakhs)</th></t<>		Name of location	Revenue District			1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC	(CC/DC/CFS)	Frontage	Depth	Area	working capital requirement for operation of RO (Rs in	fund required for development of infrastructure at RO (Rs in		Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1025 KADAPUR CROSS ON SH-12, CHIKODI TALLUKA BELGAUM REGULAR 100 OPEN DC 35 35 1225 25 60 Draw of lots 15 1026 NANDGAD VILLAGE LIMITS. BELGAUM REGULAR 100 OPEN DC 20 400 25 45 Draw of lots 15 1027 Saunsh Village DHARWAD REGULAR 100 OPEN DC 20 400 0 Draw of lots 15 1028 GATE BELGAUM REGULAR 260 SC CFS 20 400 0 Draw of lots 15 1028 WITHIN SKM ADDUS OF KANGRALIKHURD, BELGAUM REGULAR 200 OPEN DC 20 400 25 45 Draw of lots 15 1030 WITHIN 2KM OF EXAMBA VILLAGE, CHIKODI TALUKA BELGAUM REGULAR 210 OBC DC 20 400 25 45 Draw of lots 15 1031 CHIKKBAGEWADIJ,WITHIN BALHONGAL CITY LIMITS BELG	1024	KERUR WITHIN CITY LIMITS ON NH-218	BAGALKOT	REGULAR	190	SC CC 1	CES	35	45	1575	0	0	Draw of Lots	0	3
102 NANDGAD VILLAGE LIMITS. BELGAUM REGULAR 200 OPEN DC 20 20 400 25 45 Draw of Lots 15 1027 Saunshi Village DHARWAD REGULAR 100 OBC DC 35 35 1225 25 60 Draw of Lots 155 1028 GATE BELGAUM REGULAR 260 SC CFS 20 400 0 D Draw of Lots 0 1029 BELGAUM TRUNS OF KANGRALI KIURD, BELGAUM REGULAR 200 OPEN DC 20 400 25 45 Draw of Lots 15 1030 WITHIN SKM ADTULAGE, CHIKODI TALUKA BELGAUM REGULAR 200 OPEN DC 20 400 25 45 Draw of Lots 15 1030 WITHIN SKM ADTULAGE, CHIKODI TALUKA BELGAUM REGULAR 210 OBC DC 20 400 25 45 Draw of Lots 15 1031 CHIK									-			-		-	5
1027 Sumshi Village DHARWAD REGULAR 100 08C DC 35 1225 25 60 Draw of Lots 15 1028 BELGAUM CITY WITHIN SKM OF THIRD RAILWAY GATE BELGAUM REGULAR 260 SC CFS 20 400 0 0 Draw of Lots 0 1029 BELGAUM TALUKA BELGAUM REGULAR 200 OPEN DC 20 400 25 45 Draw of Lots 15 1030 WITHIN SKM OF DELGAU MADAD (VIA BALHONGAL CITY UMTHS BELGAUM REGULAR 200 OPEN DC 20 400 25 45 Draw of Lots 15 1031 CHIKKBACEWADI,WITHIN SALLONGAL CITY UMITS BELGAUM REGULAR 210 OBC DC 20 400 25 45 Draw of Lots 15 1032 STAND TO DAVANGERE HAVERI REGULAR 165 OPEN DC 20 400 25 45 Draw of Lots 15 1033 C															5
1028 GATE BELGAUM REGULAR 260 SC CFS 20 400 0 0 Draw of Lots 0 1029 WITHIN SKM RADIUS OF KANGRALI KHURD, BELGAUM TALUKA BELGAUM REGULAR 200 OPEN DC 20 20 400 25 45 Draw of Lots 15 1030 WITHIN ZKM OF EXAMBA VILLAGE, CHINCOI TALUKA BELGAUM REGULAR 200 OPEN DC 20 400 25 45 Draw of Lots 15 1031 CHIKKBAGEWADI),WITHIN BAILHONGAL CITY LIMITS BELGAUM REGULAR 210 OBC DC 20 20 400 25 45 Draw of Lots 15 1031 CHIKKBAGEWADI),WITHIN BAILHONGAL CITY LIMITS BELGAUM REGULAR 165 OPEN DC 20 20 400 25 45 Draw of Lots 15 1032 STAND TO DAVANGERE HAVERI REGULAR 165 OPEN DC 25 20 20 400 25															4
WITHIN SKM RADULS OF KANGRAU KHURD, BELGAUM TALUKA BELGAUM BELGAUM ALUKA REGULAR 200 OPEN DC 20 400 25 45 Draw of Lots 15 1030 WITHIN 2XM OF EXAMBA VILLAGE, CHIKODI TALUKA BELGAUM REGULAR 200 OPEN DC 20 400 25 45 Draw of Lots 15 1031 CHIKRAGEWADI, VITHIN BALHONGAL CTY UMITS BELGAUM REGULAR 210 OBC DC 20 400 25 45 Draw of Lots 15 1031 CHIKRAGEWADI, WITHIN BALHONGAL CTY UMITS BELGAUM REGULAR 165 OPEN DC 20 400 25 45 Draw of Lots 15 1032 STAND TO DAVANGERE HAVERI REGULAR 230 SC CFS 20 400 0 0 Draw of Lots 15 1033 CIRCLE BELGAUM REGULAR 230 SC CFS 20 400 0 D Draw of Lots 15 1034 N		BELGAUM CITY WITHIN 5KM OF THIRD RAILWAY													
1029 BELGAUM ALUKA BELGAUM REGUAR 200 OPEN DC 20 20 400 25 45 Draw of lots 15 1030 WITHIN 2KM OF EXAMBA VILLAGE, CHIKODI TALUKA BELGAUM REGUAR 200 OPEN DC 20 400 25 45 Draw of lots 15 1031 CHIKKBAGEWADI),WITHIN BALH-MONGAL CITY LIMITS BELGAUM REGULAR 210 OBC DC 20 400 25 45 Draw of lots 15 1032 CHIKKBAGEWADI),WITHIN BALH-MONGAL CITY LIMITS BELGAUM REGULAR 165 OPEN DC 20 400 25 45 Draw of lots 15 1032 CIRCLE BELGAUM REGULAR 150 OPEN DC 20 400 0 0 Draw of lots 15 1033 CIRCLE BELGAUM REGULAR 230 SC CFS 20 20 400 0 Draw of lots 15 1033 Navalgund (1028	GATE	BELGAUM	REGULAR	260	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1030 WITHIN 2KM OF EXAMBA VILLAGE, CHIKODI TALUKA BELGAUM REGULAR 200 OPEN DC 20 400 25 45 Draw of Lots 15 BAILHONGAL TO BELGAUM ROAD (VIA 1031 BELGAUM ROAD (VIA MIRKABGEWADI/WITHIN SALM OPSAL CTY LIMITS BELGAUM REGULAR 210 OBC DC 20 400 25 45 Draw of Lots 15 1031 CHIKRAGEWADI/WITHIN SALM OPS KRTC BUS STAND TO DAVANGERE HAVERI REGULAR 165 OPEN DC 20 400 25 45 Draw of Lots 15 1032 STAND TO DAVANGERE HAVERI REGULAR 165 OPEN DC 20 400 0 O Draw of Lots 15 1033 CIRCLE BELGAUM REGULAR 200 SC CFS 20 400 0 O Draw of Lots 15 1033 KITUR CITY LIMITS BELGAUM REGULAR 200 OBC DC 20 400 25 45 Draw of Lots 15		WITHIN 5KM RADIUS OF KANGRALI KHURD,													
BAILHONGAL TO BELGAUM ROAD (VIA CHIKKBAGEWADJ),WITHIN BAILHONGAL CITY LIMITS BELGAUM REGULAR 210 OBC DC 20 20 400 25 45 Draw of Lots 15 1031 CHIKKBAGEWADJ),WITHIN SAULHONGAL CITY LIMITS BELGAUM REGULAR 165 OPEN DC 20 400 25 45 Draw of Lots 15 1032 STAND TO DAVANGERE HAVERI REGULAR 165 OPEN DC 20 400 25 45 Draw of Lots 15 1033 CIRCLE BELGAUM REGULAR 230 SC CFS 20 20 400 25 45 Draw of Lots 15 1034 Navalgund (Inside Town) not on NH DHARWAD REGULAR 200 OBC DC 25 20 500 25 45 Draw of Lots 15 1035 KITUR CITY LIMITS BELGAUM REGULAR 200 OPEN CC 1 DC 25 20 500 25 45 Draw of Lots															5
1031 CHIKKBAGEWADI),WITHIN BAILHONGAL CITY LIMITS BELGAUM REGULAR 210 OBC DC 20 400 25 45 Draw of Lots 15 RANEEBNUR ON PR BOAD ZKM FROM KSRTC BUS HAVERI REGULAR 165 OPEN DC 20 400 25 45 Draw of Lots 15 1032 STAND TO DAVANGERE HAVERI REGULAR 165 OPEN DC 20 400 0 0 Draw of Lots 15 1033 CIRCLE BELGAUM REGULAR 230 SC CFS 20 400 0 0 Draw of Lots 15 1034 Navalgund (Inside Town) not on NH DHARWAD REGULAR 200 OBC DC 20 400 25 45 Draw of Lots 15 1035 KITTUR CITY LIMITS BELGAUM REGULAR 200 OBC DC 20 400 25 45 Draw of Lots 15 1037 MAUBGOD VILLAGE LIMITS. BELGAUM	1030	WITHIN 2KM OF EXAMBA VILLAGE, CHIKODI TALUKA	BELGAUM	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
RANEBENNUR ON PB ROAD 2KM FROM KSRTC BUS STAND TO DAVANGERE HAVERI REGULAR 165 OPEN DC 20 20 400 25 45 Draw of Lots 15 1033 STAND TO DAVANGERE BELGAUM REGULAR 230 SC CFS 20 400 0 0 Draw of Lots 0 1034 Navalgund (Inside Town) not on NH DHARWAD REGULAR 150 OPEN DC 25 20 400 0 0 Draw of Lots 0 1035 KITTUR CITY LIMITS BELGAUM REGULAR 200 OBC DC 25 20 400 25 45 Draw of Lots 15 1036 KALLEHOL BELGAUM TALUKA BELGAUM REGULAR 100 OPEN CC 1 DC 25 20 500 25 45 Draw of Lots 15 1037 NEGINHAL VILLAGE LIMITS BELGAUM REGULAR 200 SC CFS 25 20 500 0 Draw of Lots 15															
1032 STAND TO DAVANGERE HAVERI REGULAR 165 OPEN DC 20 20 400 25 45 Draw of Lots 15 NIPANI TOWN WITHIN 3KM OF KSRC BUS STAND CRICLE BELGAUM REGULAR 230 SC CFS 20 400 0 0 Draw of Lots 15 1033 Navalgund (Inside Town) not on NH DHARWAD REGULAR 150 OPEN DC 25 20 500 25 45 Draw of Lots 15 1035 KITUR CITY LIMITS BELGAUM REGULAR 200 OBC DC 25 20 500 25 45 Draw of Lots 15 1036 KALLEHOL BELGAUM TALLKAA BELGAUM REGULAR 200 OSC CFS 25 20 500 0 0 Draw of Lots 15 1037 NEGINHAL VILLAGE LIMITS BELGAUM REGULAR 120 OBC DC 20 400 25 45 Draw of Lots 15	1031		BELGAUM	REGULAR	210	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1033 CIRCLE BELGAUM REGULAR 230 SC CFS 20 400 0 0 Draw of Lots 0 1034 Navalgund (Inside Town) not on NH DHARWAD REGULAR 150 OPEN DC 25 20 500 25 455 Draw of Lots 15 1035 KITTUR CITY LIMITS BELGAUM REGULAR 200 OBC DC 20 400 25 455 Draw of Lots 15 1036 KALLEHOL BELGAUM TALUKA BELGAUM REGULAR 200 OCC CFS 20 500 25 45 Draw of Lots 15 1037 NEGINHAL VILLAGE LIMITS BELGAUM REGULAR 200 SC CFS 20 500 25 45 Draw of Lots 0 1038 VILLAGE LIMITS BELGAUM REGULAR 200 OBC DC 20 400 25 45 Draw of Lots 15 1039 HUKKERI TALUKA BELGAUM	1032		HAVERI	REGULAR	165	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1034 Navalgund (Inside Town) not on NH DHARWAD REGULAR 150 OPEN DC 25 20 500 25 45 Draw of Lots 15 1035 KITTUR CITY LIMITS BELGAUM REGULAR 200 OBC DC 20 400 25 45 Draw of Lots 15 1036 KALLEHOL BELGAUM TALUKA BELGAUM REGULAR 200 OPEN CC 1 DC 25 20 500 25 45 Draw of Lots 15 1037 NEGINHAL VILLAGE LIMITS BELGAUM REGULAR 200 SC CFS 25 20 500 25 45 Draw of Lots 15 1038 VILLAGE LIMITS. BELGAUM REGULAR 200 OBC DC 20 400 25 45 Draw of Lots 15 1038 VILLAGE LIMITS. BELGAUM REGULAR 150 OPEN DC 20 400 25 45 Draw of Lots 15 1040		NIPANI TOWN WITHIN 3KM OF KSRTC BUS STAND													
1035 KITTUR CITY LIMITS BELGAUM REGULAR 200 OBC DC 20 400 25 45 Draw of Lots 15 1036 KALLEHOL BELGAUM TALUKA BELGAUM REGULAR 100 OPEN CC 1 DC 25 20 500 25 45 Draw of Lots 15 1037 NEGINHAL VILLAGE LIMITS BELGAUM REGULAR 200 SC CFS 25 20 500 0 0 Draw of Lots 0 MURGOD VILLAGE, WITHIN 2 KM OF MURGOD BELGAUM REGULAR 200 OBC DC 20 400 25 45 Draw of Lots 15 1038 HUKKERI, HUKKERI TALUKA BELGAUM REGULAR 150 OPEN DC 20 400 25 45 Draw of Lots 15 1040 KANGRALI KHURD BELGAUM TALUKA BELGAUM REGULAR 120 OPEN DC 20 20 400 25 45 Draw of Lots 15 1040		CIRCLE	BELGAUM		230			20	20		-	-	Draw of Lots	0	3
1036 KALLEHOL BELGAUM TALUKA BELGAUM REGULAR 100 OPEN CC 1 DC 25 20 500 25 45 Draw of Lots 15 1037 NEGINHAL VILLAGE LIMITS BELGAUM REGULAR 200 SC CFS 25 20 500 0 0 Draw of Lots 0 1038 VILLAGE LIMITS. BELGAUM REGULAR 200 OBC DC 20 20 400 25 45 Draw of Lots 15 1039 HUKKERI, HUKKERI TALUKA BELGAUM REGULAR 150 OPEN DC 20 20 400 25 45 Draw of Lots 15 1040 KANGRALI KHURD BELGAUM TALUKA BELGAUM REGULAR 120 OPEN DC 25 20 500 25 45 Draw of Lots 15 1040 KANGRALI KHURD BELGAUM TALUKA BELGAUM REGULAR 120 OPEN DC 25 20 500 25 45 Draw of Lots						-	-						Draw of Lots	-	5
1037 NEGINHAL VILLAGE LIMITS BELGAUM REGULAR 200 SC CFS 25 20 500 0 0 Draw of Lots 0 1038 WIRGOD VILLAGE, WITHIN 2 KM OF MURGOD BELGAUM REGULAR 200 OBC DC 20 20 400 25 45 Draw of Lots 15 1039 HUKKERI, HUKKERI TALUKA BELGAUM REGULAR 150 OPEN DC 20 20 400 25 45 Draw of Lots 15 1040 KANGRALI KHURD BELGAUM TALUKA BELGAUM REGULAR 120 OPEN DC 20 20 400 25 45 Draw of Lots 15 1040 KANGRALI KHURD BELGAUM TALUKA BELGAUM REGULAR 120 OPEN DC 25 20 500 25 45 Draw of Lots 15 1041 SAUNDATTI MUNICIPAL LIMITS BELGAUM REGULAR 175 SC CFS 20 20 400 0 0															4
MURGOD VILLAGE,WITHIN 2 KM OF MURGOD 1038BELGAUMREGULAR200OBCDC20204002545Draw of Lots151039HUKKERI, HUKKERI TALUKABELGAUMREGULAR150OPENDC20204002545Draw of Lots151040KANGRALI KHURD BELGAUM TALUKABELGAUMREGULAR120OPENDC25205002545Draw of Lots151041SAUNDATTI MUNICIPAL LIMITSBELGAUMREGULAR200OBCDC20204002545Draw of Lots151042Ranebennur TownHAVERIREGULAR175SCCFS202040000Draw of Lots151043Mudalgi town within municipal limitsBELGAUMREGULAR110OPENDC20204002545Draw of Lots151044RAXI VILLAGE, HUKKERI TALUKABELGAUMREGULAR110OPENDC25205002545Draw of Lots151045Kalghatgi TownDHARWADREGULAR187OBCDC25205002545Draw of Lots151045Kalghatgi TownDHARWADREGULAR187OBCDC25205002545Draw of Lots151045Kalghatgi TownDHARWADREGULAR187OBCDC25205002															5
1038VILLAGE LIMITS.BELGAUMREGULAR200OBCDC20204002545Draw of Lots151039HUKKERI, HUKKERI TALUKABELGAUMREGULAR150OPENDC202040025450Draw of Lots151040KANGRALI KHURD BELGAUM TALUKABELGAUMREGULAR120OPENDC252050025450Draw of Lots151041SAUNDATTI MUNICIPAL LIMITSBELGAUMREGULAR200OBCDC202040025450Draw of Lots151042Ranebennur TownHAVERIREGULAR175SCCFS202040000Draw of Lots01043Mudalgi town within municipal limitsBELGAUMREGULAR110OPENDC252040025455Draw of Lots151044RAXI VILLAGE, HUKKERI TALUKABELGAUMREGULAR110OPENDC252050025455Draw of Lots151045Kalghatgi TownDHARWADREGULAR187OBCDC252050025455Draw of Lots151045Kalghatgi TownDHARWADREGULAR187OBCDC252050025455Draw of Lots151045Kalghatgi TownDHARWADREGULAR187OBCDC2520500254	1037		BELGAUM	REGULAR	200	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
1039 HUKKERI, HUKKERI TALUKA BELGAUM REGULAR 150 OPEN DC 20 20 400 25 45 Draw of Lots 15 1040 KANGRALI KHURD BELGAUM TALUKA BELGAUM REGULAR 120 OPEN DC 25 20 500 25 45 Draw of Lots 15 1041 SAUNDATTI MUNICIPAL LIMITS BELGAUM REGULAR 200 OBC DC 20 20 400 25 45 Draw of Lots 15 1042 Ranebennur Town HAVERI REGULAR 175 SC CFS 20 20 400 0 0 Draw of Lots 15 1043 Mudalgi town within municipal limits BELGAUM REGULAR 110 OPEN DC 20 20 400 0 0 Draw of Lots 15 1044 RAXI VILLAGE, HUKKERI TALUKA BELGAUM REGULAR 110 OPEN DC 25 20 500 25 45 Draw	1020			DECLUAR	200	0.50	DC.	20	20	400	25	45	Drow of Lot	4 5	4
1040KANGRALI KHURD BELGAUM TALUKABELGAUMREGULAR120OPENDC25205002545Draw of Lots151041SAUNDATTI MUNICIPAL LIMITSBELGAUMREGULAR200OBCDC20204002545Draw of Lots151042Ranebennur TownHAVERIREGULAR175SCCFS202040000Draw of Lots01043Mudalgi town within municipal limitsBELGAUMREGULAR110OPENDC20204002545Draw of Lots151044RAXI VILLAGE, HUKKERI TALUKABELGAUMREGULAR110OPENDC25205002545Draw of Lots151045Kalghatgi TownDHARWADREGULAR187OBCDC25205002545Draw of Lots151045Kalghatgi TownDHARWADREGULAR187OBCDC25205002545Draw of Lots151045Kalghatgi TownDHARWADREGULAR187OBCDC25205002545Draw of Lots151045WIHIN 5KM OF GANESHPUR VILLAGE BELGAUMELGAUMELGULAR187OBCDC25205002545Draw of Lots151045Kalghatgi TownDHARWADREGULAR187OBCDC252050025							-	-							4
1041 SAUNDATTI MUNICIPAL LIMITS BELGAUM REGULAR 200 OBC DC 20 400 25 45 Draw of Lots 15 1042 Ranebennur Town HAVERI REGULAR 175 SC CFS 20 400 0 0 Draw of Lots 0 1043 Mudalgi town within municipal limits BELGAUM REGULAR 110 OPEN DC 20 400 25 45 Draw of Lots 0 1044 RAXI VILLAGE, HUKKERI TALUKA BELGAUM REGULAR 110 OPEN DC 25 20 500 25 455 Draw of Lots 15 1044 RAXI VILLAGE, HUKKERI TALUKA BELGAUM REGULAR 110 OPEN DC 25 20 500 25 455 Draw of Lots 15 1045 Kalghatgi Town DHARWAD REGULAR 187 OBC DC 25 20 500 25 455 Draw of Lots 15 104		,													5
1042 Ranebennur Town HAVERI REGULAR 175 SC CFS 20 20 400 0 0 Draw of Lots 0 1043 Mudalgi town within municipal limits BELGAUM REGULAR 110 OPEN DC 20 400 25 450 Draw of Lots 15 1044 RAXI VILLAGE, HUKKERI TALUKA BELGAUM REGULAR 110 OPEN DC 25 20 500 25 450 Draw of Lots 15 1045 Kalghatgi Town DHARWAD REGULAR 187 OBC DC 25 20 500 25 450 Draw of Lots 15 1045 Kalghatgi Town DHARWAD REGULAR 187 OBC DC 25 20 500 25 450 Draw of Lots 15 1045 Kalghatgi Town DHARWAD REGULAR 187 OBC DC 25 20 500 25 450 Draw of Lots 15					-									-	5
1043 Mudalgi town within municipal limits BELGAUM REGULAR 110 OPEN DC 20 20 400 25 45 Draw of Lots 15 1044 RAXI VILLAGE, HUKKERI TALUKA BELGAUM REGULAR 110 OPEN DC 25 20 500 25 45 Draw of Lots 15 1045 Kalghatgi Town DHARWAD REGULAR 187 OBC DC 25 20 500 25 45 Draw of Lots 15 1045 Kalghatgi Town DHARWAD REGULAR 187 OBC DC 25 20 500 25 45 Draw of Lots 15 WIHIN 5KM OF GANESHPUR VILLAGE BELGAUM ELGAUM ELGAUA 187 OBC DC 25 20 500 25 45 Draw of Lots 15							-	-							4
1044 RAXI VILLAGE, HUKKERI TALUKA BELGAUM REGULAR 110 OPEN DC 25 20 500 25 45 Draw of Lots 15 1045 Kalghatgi Town DHARWAD REGULAR 187 OBC DC 25 20 500 25 45 Draw of Lots 15 WIHIN 5KM OF GANESHPUR VILLAGE BELGAUM Image: Constraint of the second se											-	-		-	5
1045 Kalghatgi Town DHARWAD REGULAR 187 OBC DC 25 20 500 25 45 Draw of Lots 15 WIHIN 5KM OF GANESHPUR VILLAGE BELGAUM Image: Constraint of the second sec					-	-		-	-					-	5
WIHIN 5KM OF GANESHPUR VILLAGE BELGAUM															4
	1045	· ·	DHAKWAD	REGULAR	187	UBC		25	20	500	25	45		12	4
	1046		BELGAUM	REGULAR	150	sc	CES	25	20	500	0	0	Draw of Lots	0	3
1047 Betgeri town GADAG REGULAR 110 OPEN DC 20 20 400 25 45 Draw of Lots 15															5
1048 CHIKALKI CROSS BAGALKOT REGULAR 105 OPEN DC 20 20 400 25 45 Draw of Lots 15	-	*													5

					LOCATION LIST	- BPCL								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state (of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
	YARAGATTI EXIT TOWARDS GOKAK,WITHIN 0.5 KM FROM YARGATTI BUS STAND TO EXIT TOWARDS													
1049	GOKAK	BELGAUM	REGULAR	112	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
1050	MishriKoti	DHARWAD	REGULAR	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
1051	Byadgi,KAGINELLI ROAD,NEAR APMC MARKET(WITHIN 2KM),BYADGI	HAVERI	REGULAR	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	GADAG TO MULGUND ROAD, BEFORE MEDICAL													
1052	COLLEGE	GADAG	REGULAR	103	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1052	Gadag City within municipal limits (Not on Mulgund	CADAC		154	0.00	DC.	20	20	400	25	45	Danua of Late	15	
1053	road) WITHIN 5KM OF PATTANKUDI VILLAGE CHIKODI	GADAG	REGULAR	154	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1054	TALUKA	BELGAUM	REGULAR	100	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
1055	SANTI BASTWAD BELGAUM TALUKA	BELGAUM	REGULAR	120	ST	CFS	25	20	500	0	0	Draw of Lots	0	3
1056	KUNCHANOOR VILLAGE LIMITS JAMKHANDI TALUKA	BAGALKOT	REGULAR	100	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
1057	Within Municipal limits of Mudhol	BAGALKOT	REGULAR	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1058	WITHIN 2KM OF RAMPUR (NEAR BALOBA CROSS)	BELGAUM	REGULAR	100	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
1059	KANGRALI VILLAGE TO SAI COLONY, BELGAUM TALUKA	BELGAUM	REGULAR	140	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
1060	Sirguppi	DHARWAD	REGULAR	122	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	WITHIN 2 KM OF NANDIHALLI VILLAGE BELGAUM													
1061	TALUKA	BELGAUM	REGULAR	100	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
1062	Betgeri town near to bus stand around 3 km	GADAG	REGULAR	110	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1063	Within city limits of Jamkhandi town	BAGALKOT	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1064	BEKKERI RAIBAG TALUKA	BELGAUM	REGULAR	100	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
1065	ALATAGE VILLAGE BELGAUM TALUKA	BELGAUM	REGULAR	100	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
1066	WITHIN 3KM OF JAINAPUR VILLAGE CHIKODI TALUKA	BELGAUM	REGULAR	100	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
1067	APMC Road Gokak	BAGALKOT	REGULAR	120	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
1068	YAMAKANMARDI	BELGAUM	REGULAR	100	ST	CFS	25	20	500	0	0	Draw of Lots	0	3
1069	WITHIN 3 KM OF SHIPPUR VILLAGE ON TAVANDI AJRA ROAD	BELGAUM	REGULAR	100	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
1070	Within 1 km of Nandi Sugar, Chikkodi Taluk	BELGAUM	REGULAR	100	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
1071	Akhol	BELGAUM	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

					LOCATION LIST									
		Notice for App	nintment				nins in the	state	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1072	Tegur (On NH4)	DHARWAD	REGULAR	160	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1073	Saundatti Town	BELGAUM	REGULAR	100	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1074	Karagudari Village , Hangal Taluk	HAVERI	REGULAR	120	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
1075	NAGNUR NEAR JAMKHANDI SUGARS LTD.	BAGALKOT	REGULAR	120	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
1076	WITHIN 5KM OF GOAVES CIRCLE BELGAUM CITY	BELGAUM	REGULAR	350	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1077	MUSHIGERI VILLAGE LIMITS	GADAG	REGULAR	100	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
	TILAKWADI THIRD RAILWAY GATE TO PEERANWADI													
1078	JUNCTION	BELGAUM	REGULAR	325	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
	JAMKHANDI ON KUNCHANOOR ROAD WITHIN CITY													
1079	LIMITS	BAGALKOT	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1080	WITHIN 3KM OF SHAHPUR BELGAUM CITY	BELGAUM	REGULAR	250	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1081	BELGAUM CITY, WITHIN 7KM OF HEAD POST OFFICE	BELGAUM	REGULAR	200	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1082	CHIKODI ON ANKLI ROAD WITHIN 3KM FROM BASAVESHWAR CIRCLE	BELGAUM	REGULAR	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1083	IN AND AROUND 5 KMS OF SAVALGI CROSS	BAGALKOT	REGULAR	115	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
	TILAKWADI THIRD RLY GATE TO RAILWAY STATION													
1084	BELGAUM	BELGAUM	REGULAR	180	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1085	Byahatti Village	DHARWAD	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1086	HANCHINAL ON KOGNOLLI ADI ROAD	BELGAUM	REGULAR	100	ST	CFS	25	20	500	0	0	Draw of Lots	0	3
1007	WITHIN 2KM OF UCHGAON VILLAGE BELGAUM	DELCALINA	DECLUAR	105	0.00	20	25	20	500	25	45	Duraw of Lat	45	
1087	TALUKA	BELGAUM	REGULAR	105	OBC	DC	25 20	20 20	500 400	25 25	45	Draw of Lots	15 15	4
1088	Hebsur Road Dharwad (with City limits)	DHARWAD	REGULAR	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1089	L.H.S on Gadag Road from Chenamma Circle towards Gadag (Before Railway Crossing)Hubli.	DHARWAD	REGULAR	155	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1089	Nipani Town, on Lakhanapur Road	BELGAUM	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	4
1090	ANGOL BELGAUM CITY	BELGAUM	REGULAR	270	SC	CFS	20	20	400	25	45 0	Draw of Lots Draw of Lots	0	3
1091	R.N Shetty Road, Hubli City	DHARWAD	REGULAR	154	OPEN	DC	20	20	400	25	60	Draw of Lots	15	3
1092	GANDHINAGAR,BELGAUM	BELGAUM	REGULAR	320	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1093	GANDHINAGAR,BELGAUM Nekar Nagar, Hubballi	DHARWAD	REGULAR	320 150	OPEN	DC	20	20	400	25	45	Draw of Lots Draw of Lots	15	4
1094	Nekar Nagar, Hubballi Within 5 Km from Masur to Shikaripur	HAVERI	REGULAR	150	SC	CFS	20 35	35	400	25	45 0	Draw of Lots Draw of Lots	0	4
1032	SEVALAL WITHIN 1 KM FROM NAGARA CROSS(4	NAVEKI	REGULAR	100	36	UFS	33	35	1225	U	U		0	3
1096	CROSS) ON SH 1	HAVERI	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

					LOCATION LIST									
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1097	HIREKARUR ON SH 62	HAVERI	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1098	JAMKHANDI ON KUDACHI ROAD	BAGALKOT	REGULAR	190	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1099	Laminton Road, Hubli City	DHARWAD	REGULAR	155	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1100	WALAGERI ON SH 137	HAVERI	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1101	KATARKI	BAGALKOT	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	KOGNOLLI TOLL PLAZA TO SOUNDALGA ON RHS ON													
1102	NH4	BELGAUM	REGULAR	285	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1103	On NH4, LHS towards Haveri from Shiggaon	HAVERI	REGULAR	220	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1104	Vidyanagar, Hubli City	DHARWAD	REGULAR	175	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1105	Mahalingpur on Chikodi Road(SH-18)	BAGALKOT	REGULAR	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1106	KALKHAMB ON SH-54 BELGAUM TALUKA	BELGAUM	REGULAR	210	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1107	NIPANI BUS STAND TO BASAVESHWAR CIRCLE	BELGAUM	REGULAR	200	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1108	Hebbali Village	DHARWAD	REGULAR	100	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
1109	Mantur on SH-55	BAGALKOT	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1110	Gadenkeri cross to Kerur on NH-218	BAGALKOT	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1111	Belur Industrial Area	DHARWAD	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1112	Terdal town on Kudachi Road	BAGALKOT	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1113	Kusugal Village	DHARWAD	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1114	Within 5 Kms from Nagarhalla Toll Plaza on NH 50	BAGALKOT	REGULAR	175	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1115	ATHANI TOWN	BELGAUM	REGULAR	155	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1116	Doddahosur (On SH-31)	BELGAUM	REGULAR	200	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1117	Gudgeri Village(Not on Gudgeri to Laxmeshwar Road	DHARWAD	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1118	FROM BORGAONWADI TO BORGAON CIRCLE ON LHS	BELGAUM	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	WITHIN 1KM OF BARAGAON CROSS , KHANAPUR TO													
1119	PARISHWAD ROAD	BELGAUM	REGULAR	151	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1120	Kankumbi (on SH-31)	BELGAUM	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1121	WITHIN 3KM OF CHIKODI BUS STAND	BELGAUM	REGULAR	150	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1122	CHIKODI ON ANKALI ROAD WITHIN 2 KM OF CHIKODI POST OFFICE	BELGAUM	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1123	KUDACHI ON BELGAUM TO BAGALAKOT ON LHS ON SH20	BELGAUM	REGULAR	200	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5

					LOCATION LIST	- BPCL								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state (of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	pe arranged by pplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1124	SANGAM CROSS	BAGALKOT	REGULAR	125	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1125	WITHIN 2 KM OF SORAGAON CROSS ON MUDHOL MAHALINGPUR STATE HIGHWAY	BAGALKOT	REGULAR	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1126	Gadag to Mulgund Road on SH-6	GADAG	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1127	SULEBHAVI ON SH-133	BAGALKOT	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1128	BELGAUM CITY TO MARIHAL ON SH20	BELGAUM	REGULAR	120	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1129	YADWAD TO LOKAPUR ROAD WITHIN 2 KMS OF DALMIA CROSS	BELGAUM	REGULAR	162	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1130	NANDGAD (ON SH-93)	BELGAUM	REGULAR	200	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1131	DESUR TO THIRD RAILWAY GATE ON LHS	BELGAUM	REGULAR	190	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1132	WITHIN CITY LIMITS ON ATHANI-JAMKHANDI ROAD	BELGAUM	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
1133	Mahalingpur within city limits	BAGALKOT	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
1134	HUNGUND TOWN ON SH-20	BAGALKOT	REGULAR	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1135	Gadag City to Mundargi Village on SH (State Highway No .45)	GADAG	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1136	NIPANI TOWN WITHIN 5KM OF COURT COMPLEX	BELGAUM	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
	MAMDAPUR VILLAGE, WITHIN 1 KM RADIUS OF			100			a-	<i>a</i> -	10	a –				_
1137	MAMDAPUR VILLAGE	BELGAUM	REGULAR	120	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1138	Muttalgeri Badami Taluka on SH	BAGALKOT	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1139	Tulasigeri to Khajjidoni On SH-20 WITHIN 2 KMS OF TUNGAL CROSS ON JAMKHANDI	BAGALKOT	REGULAR	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1140	WITHIN 2 KMS OF TUNGAL CROSS ON JAMIKHANDI ATHANI ROAD	BAGALKOT	REGULAR	170	OPEN	сс	25	20	500	25	10	Bidding	30	5
1140	WITHIN 2KM BELGUNDI VILLAGE BELGAUM TALUKA	BELGAUM	REGULAR	130	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
1141	KULENUR, SANGUR	HAVERI	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1142	RTO Circle to Hubli Cross on Navanagar Bypass Road	BAGALKOT	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
1143	Neginhal (on SH-31)	BELGAUM	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1145	Belgaum City, Old PB Road (Vadgaon to RTO Circle)	BELGAUM	REGULAR	350	OPEN	CC	20	20	400	25	10	Bidding	30	5
1146	ARABHAVI VILLAGE	BELGAUM	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1147	THIRD GATE TO PEERANWADI, BELGAUM CITY	BELGAUM	REGULAR	260	OPEN	CC	20	20	400	25	10	Bidding	30	5
1148	BENAKANHALLI BELGAUM TALUKA	BELGAUM	REGULAR	100	SC PH	CFS	25	20	500	0	0	Draw of Lots	0	3
1149	AMINGAD CITY LIMITS 2 KMS OF AIHOLE CROSS	BAGALKOT	REGULAR	110	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4

					LOCATION LIST	- RPCI								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1150	From Gandhinagar Cross to Kalghatgi Cross (On old PB Road, Dharwad)	DHARWAD	REGULAR	290	OPEN	сс	20	20	400	25	10	Bidding	30	5
1151	GANDHINAGAR BELGAUM CITY	BELGAUM	REGULAR	250	OPEN	CC	20	20	400	25	10	Bidding	30	5
1151	SADLGA VILLAGE CHIKODI TALUKA	BELGAUM	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1152		BELGAOIM	REGOLAR	100	OBC	DC		35	1225	25	00	Diaw of Lots	15	4
1153	NIPANI WITHIN 3 KM OF BASAVESHWAR CIRCLE ON NIPANI MUDHOL ROAD	BELGAUM	REGULAR	230	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1154	BELGAUM CITY WITHIN 8 KM OF PRAKASH TALKIES	BELGAUM	REGULAR	220	OPEN	CC	20	20	400	25	10	Bidding	30	5
1155	BELGAUM CITY WITHIN 5KM OF APMC POLICE STATION	BELGAUM	REGULAR	210	OPEN	СС	20	20	400	25	10	Bidding	30	5
1156	Within Govankoppa Village limits on NH-218	BAGALKOT	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1157	SHYADAMBI ON RHS TOWARDS HUBLI ON NH4	HAVERI	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1158	From President Hotel to Navanagar (on old P.B Road)	DHARWAD	REGULAR	210	OPEN	СС	20	20	400	25	10	Bidding	30	5
1159	WITHIN 5 KM OF AZAM NAGAR CIRCLE BELGAUM CITY	BELGAUM	REGULAR	180	OPEN	СС	25	20	500	25	10	Bidding	30	5
1160	OLD PB ROAD, BETWEEN KHASBAG AND	BELGAUM		175	OPEN	СС	20	20	400	25		Bidding	30	5
1160	KAPILESHWAR COLONY, BELGAUM CITY KADROLLI TO KITTUR ROAD ON RHS ,ON NH4	BELGAUM	REGULAR REGULAR	1/5	OPEN	DC	35	45	1575	25	10 75	Draw of Lots	30 15	4
1101	On Gokul Road (From Big bazar Mall to NH4	DELGAUIVI	REGULAR	100	UBC		33	45	13/2	25	15		15	4
1162	Highway)	DHARWAD	REGULAR	261	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1163	Bangattigudihal	DHARWAD	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1164	L.H.S From Tadas X road to Gabbur X road on NH4	DHARWAD	REGULAR	158	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1165	HUNGUND TOWN TOWARDS ILKAL ROAD WITHIN CITY LIMITS	BAGALKOT	REGULAR	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
1165		BELGAUM	REGULAR	100	SC	CFS	20	20	500	0	0	Draw of Lots	30 0	3
1100	Within 2km Of Hirekudi Village, Chikdoi Taluka WITHIN 2KM OF BELAGAVI INTERNATIONAL CRICKET	BELGAUIVI	REGULAR	100	<u> </u>	UFS	25	20	500	0	U	Draw OF LOTS	U	3
1167	STADIUM	BELGAUM	REGULAR	150	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
1107		DELGAUIVI	REGULAR	130	UPEN		25	20	500	25	40		15	3
1168	GADAG TO BELLARY ROAD,AFTER HALLIGUDI VILLAGE ON LHS ,WITHIN HALLIGUDI VILLAGE LIMITS	GADAG	REGULAR	157	OBC	СС	35	45	1575	25	10	Bidding	30	4
1169	Rajdhani Colony, Hubli City	DHARWAD	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
1170	Peeranwadi to zadshahpur on LHS within 2KM of Peeranwadi Junction	BELGAUM	REGULAR	150	OPEN	СС	25	20	500	25	10	Bidding	30	5

					LOCATION LIST	- BPCL								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state	of Kar	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area of	n Dimensic	ion (in	Finance to be	be arranged by opplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1171	Uppin Betageri to Dharwad road in Uppin Betageri Village limit	DHARWAD	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1171	Rayapur (on Old P.B Road)	DHARWAD	REGULAR	130	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
11/2	KAKATI TO SUVARNA VIDHAN SOUDHA ON NH4		heoden.	150			+ <u>-</u> 20	- 20	400	25	+	Diaw of Lots	1.5	
1173	BELGAUM	BELGAUM	REGULAR	450	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1175	Yemmanur village	DHARWAD	REGULAR	107	OPEN PH	DC	20	20	400	25	45	Draw of Lots	15	5
1175	SHELWADI	DHARWAD	REGULAR	100	SC	CFS	20	20	400	0		Draw of Lots	0	3
1176	GADAG TO BETGERI ROAD, WITHIN 1 KM OF SAHASARJUNA CIRCLE, IN BETGERI LIMITS	GADAG	REGULAR	200	OBC	СС	20	20	400	25	10	Bidding	30	4
1177	HATTARGI TOLL PLAZA TO DADABANHATTI ON LHS ON NH48	BELGAUM	REGULAR	360	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1178	GADAG TO HATALGERI ROAD, WITHIN 0.5 KM OF CHENTANA CIRCLE,	GADAG	REGULAR	210	OBC	сс	20	20	400	25	10	Bidding	30	4
1179	Mahalingpur on Kulgod road(SH-54)	BAGALKOT	REGULAR	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1180	Ullagaddi Khanapure to Chikalgud On NH4 ON LHS	BELGAUM	REGULAR	360	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1181	Varur Village on NH4	DHARWAD	REGULAR	286	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1182	Peeranwadi to Jamboti on LHS Within 4 km of Peeranwadi Junction	BELGAUM	REGULAR	300	OPEN	сс	35	35	1225	25	10	Bidding	30	5
1183	BETWEEN SULGA TO P B ROAD ON BAUXITE ROAD	BELGAUM	REGULAR	310	OBC	CC	20	20	400	25	10	Bidding	30	4
1184	NAREGALL TO GADAG ROAD.	GADAG	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BORAGAON VILLAGE ON BORAGAON SADALGA	1	1	1		'	1 '	1 '	1 '	1				
1185	ROAD	BELGAUM	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1100	FROM BATEGERA (B) ON SH, WITHIN 1.2 KM ON LHS	CUURADCA	DECULAR	200			1	25	1225	25	60	Danie of Late	15	
1186	TOWARDS SEDAM, SEDAM TALUK, GULBARGA DT	GULBARGA	REGULAR	260	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1187	GULBARGA CITY -2 WITHIN 10KMS FROM JEWARGI-VIJAYAPUR CROSS	GULBARGA	REGULAR	180	OBC	CC	20	20	400	25	10	Bidding	30	4
1188	LHS TOWARDS SINDAGI AFTER NEW BYPASS ROAD ON NH-218	GULBARGA	REGULAR	175	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1188	GULBARGA CITY -1 (WITHIN MUNICIPAL LIMIT)	GULBARGA	REGULAR	200	OPEN	CFS	20	45 20	400	25	10	Bidding	30	5
1193	ON NH-09(NEW NH-65) BETWEEN HUMNABAD AND	GULBAKGA	REGULAN	200	UPEN		- 20 /	20	400	25	10	вицинд	30	5
1190	MANNAEKHELLI LHS TOWARDS HYDERABAD	BIDAR	REGULAR	350	OBC	СС	35	45	1575	25	10	Bidding	30	4

					LOCATION LIST	- BPCI								
		Notice for App	ointment		/ Rural Retail O		hips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area d	Dimensi	on (in	Finance to b	pe arranged by pplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
	GULBARGA CITY, WITHIN 1KM FROM HIGH COURT													_
1191	ON OUTER RING ROAD	GULBARGA	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
1192	WITHIN 4KMS FROM KHARGE CHOWKE (GULBARGA) RHS TOWARDS SEDAM ON SH-10	GULBARGA	REGULAR	270	OPEN	сс	20	20	400	25	10	Bidding	30	5
1193	GULBARGA CITY EXIT LHS TOWARDS AFZALPUR	GULBARGA	REGULAR	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1194	5KMS FROM MAHARASHTRA BOARDER ON NH-150E	GULBARGA	REGULAR	175	OBC	CC	35	45	1575	25	10	Bidding	30	4
1195	GULBARGA CITY ON NEW JEWARGI ROAD RHS TOWARDS JEWARGI	GULBARGA	REGULAR	225	OPEN	сс	20	20	400	25	10	Bidding	30	5
1196	WITHIN 4KM FROM MAHATMA GANDHI SUGAR FACTORY ON UDGIR-BIDAR ROAD	BIDAR	REGULAR	360	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1197	ON NH-9(65), BETWEEN RAJESHWAR AND SASTAPUR LHS TOWARDS PUNE	BIDAR	REGULAR	390	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1198	BIDAR CITY ON MANGALPET ROAD	BIDAR	REGULAR	210	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1199	GULBARGA CITY ON RING ROAD BETWEEN KHARGE CIRCLE AND HUMNABAD CIRCLE LHS TOWARDS HUMNABAD	GULBARGA	REGULAR	180	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
	WITHIN 8KMS FROM NAUBAD TOWARDS KHANAPUR													
1200	ON NH-50	BIDAR	REGULAR	190	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1201	BIDAR CITY, MAILUR & GUMPA RING ROAD	BIDAR	REGULAR	205	OBC	CC	20	20	400	25	10	Bidding	30	4
1202	IJERI CROSS, JEVARGI TALUK ON NH-150A	GULBARGA	REGULAR	185	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1202	WITHIN 5KMS FROM BHALKI CROSS ON NH-50	BIDAR	DECLILAD	300	ODEN	сс	25	45	1575	25	10	Didding	20	-
1203	TOWARDS HUMNABAD WITHIN 2.5KMS FROM RAMTEERTH CROSS ON LHS	BIDAK	REGULAR	500	OPEN		35	45	12/2	25	10	Bidding	30	5
1204	TOWARDS HUMNABAD ON NH-09 (NEW NH-65) AT HALLI (V)	BIDAR	REGULAR	545	OPEN	сс	35	45	1575	25	10	Bidding	30	5
1205	BASAVAKALYAN TOWN NEAR NAVARANG THEATRE	BIDAR	REGULAR	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1206	BIDAR CITY ON OUTER RING ROAD	BIDAR	REGULAR	190	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	WITHIN 6KMS FROM RAJAPUR JUNCTION LHS													1
1207	TOWARDS SHAHBAD ON NH-150	GULBARGA	REGULAR	190	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1208	HALLIKHED (B) ON NH-50	BIDAR	REGULAR	320	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1209	KANSOOR CROSS ON SH 125 OR SH 126	GULBARGA	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

					LOCATION LIST	RDCI								
		Notice for Ann	aintmont		/ Rural Retail O		inc in the	stata	of Korr	ataka				
		Notice for App	Sintment			itiet Dealersr	iips in the	state	JI Karr	атака				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	M.)/Area o	Dimension of the site M.). *			e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
	WITHIN 6KMS FROM BHANGOOR CROSS ON NH-09													
1210	(NEW NH-65) LHS TOWARDS HUMNABAD	BIDAR	REGULAR	485	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1211	NANDUR VILLAGE ON SH-149	GULBARGA	REGULAR	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1212	BHIMANAHALLI VILLAGE ON SH	GULBARGA	REGULAR	200	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1213	SEDAM WITHIN MUNICIPAL LIMIT	GULBARGA	REGULAR	300	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
	BETWEEN MATALA CROSS TO CHANDIKAPUR ON NH-													
1214	09 (65) LHS TOWARDS PUNE	BIDAR	REGULAR	400	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1215	AFZALPUR TOWN(WITHIN MUNICIPAL LIMIT)	GULBARGA	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1216	BAPUR VILLAGE ON SH-15	BIDAR	REGULAR	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	KUDI VILLAGE ON GULBARGA - VIJAYAPUR (NEW													
1217	BYPASS) ROAD	GULBARGA	REGULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	WITHIN 1KM FROM ZAMISTANPUR RING ROAD													
1218	CIRCLE LHS TOWARDS SH-15, BIDAR DT	BIDAR	REGULAR	180	OPEN	CC	20	20	400	25	10	Bidding	30	5
1219	BIDAR CITY (WITHIN MUNICIPAL LIMIT)-4	BIDAR	REGULAR	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1220	CHITTAPUR ON SATNOOR VILLAGE ROAD ON SH -126	GULBARGA	REGULAR	125	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1221	WADI TOWN (WITHIN MUNICIPAL LIMIT)	GULBARGA	REGULAR	190	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1222	WITHIN 4KMS FROM KHARGE CHOWKE (GULBARGA) LHS TOWARDS SEDAM ON SH-10	GULBARGA	REGULAR	230	OPEN CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
1223	HUMNABAD TOWN (WITHIN MUNICIPAL LIMIT)	BIDAR	REGULAR	205	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
	BASAVAKALYAN TOWN (WITHIN MUNICIPAL LIMIT)-													
1224	3	BIDAR	REGULAR	205	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1225	BIDAR CITY ON QILA ROAD	BIDAR	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1226	BIDAR CITY, NEAR BUS STAND	BIDAR	REGULAR	190	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	BETWEEN KARNATAKA BOARDER AND KARAJAGI ON												1	
1227	SH-154	GULBARGA	REGULAR	145	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1228	KALGI VILLAGE ON SH-125	GULBARGA	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1229	HALLIKED (B) WITHIN MUNICIPAL LIMIT	BIDAR	REGULAR	140	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1230	GOUR VILLAGE ON SH- 163, BASAVAKALYAN TALUK	BIDAR	REGULAR	195	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1231	KARAKNALLI ON SH-122	GULBARGA	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1232	Khatak Chincholi VILLAGE, BHALKI (TQ)	BIDAR	REGULAR	165	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1233	JEVARGI WITHIN MUNICIPAL LIMIT	GULBARGA	REGULAR	190	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1234	BETWEEN BIDAR AND KAMTHANA ON SH-15	BIDAR	REGULAR	220	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
) If the	minimum dimension mentioned here is different f	rom the minimum dim	oncions mor	ationad by Stat	to Authoritios than	the dimensions a	nnlicable or	the date	of adv	rticomont for t	ho stato as give	n by the suther	itios will be	troated

					LOCATION LIST									
		Notice for Ann	ointment		/ Rural Retail O		nins in the	o state (of Karr	ataka				
				Estimated			-						T	T
			Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c				e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1235	RATKAL VILLAGE ON SH-32	GULBARGA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1236	BASAVAKALYAN TOWN (WITHIN MUNICIPAL LIMIT)- 2	BIDAR	REGULAR	195	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1237	BASAVKALYAN TOWN	BIDAR	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1238	SEDAM ON YADHALLI ROAD (SH-122)	GULBARGA	REGULAR	280	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1239	BHATAMBRA ON SH 123, BHALKI TALUK	BIDAR	REGULAR	155	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1240	BASAVAKALYAN TOWARDS BHALKI ON SH-34	BIDAR	REGULAR	170	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1241	SANGAM, BASAVESHAWAR CHOWK, MAIN ROAD ON SH-04 OR SH-123	GULBARGA	REGULAR	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1242	BHUSNOOR , ALAND TALUK ,ON SH 34	GULBARGA	REGULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1243	ALAND TOWN RHS TOWARDS OMERGA ON SH-32	GULBARGA	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1244	GULBARGA CITY EXIT LHS TOWARDS ALAND WITHIN 2 KM ON SH-10	GULBARGA	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1245	HALBARGA - BIDAR ON SH04	BIDAR	REGULAR	170	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	BASAVAKALYAN TOWN (WITHIN MUNICIPAL LIMIT													
1246	NOT ON HIGHWAY)	BIDAR	REGULAR	235	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1247	WITHIN 5KM FROM CENTRAL UNIVERSITY ON SH-10	GULBARGA	REGULAR	115	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1248	KADAGANCHI VILLAGE ON HIGHWAY	GULBARGA	REGULAR	390	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1249 1250	BIDAR CITY WITHIN MUNICIPAL LIMIT TAJ SULTANPUR VILLAGE ON SH-51	BIDAR GULBARGA	REGULAR REGULAR	340 110	OBC PH SC PH	DC CFS	20 35	20 35	400 1225	25 0	45 0	Draw of Lots Draw of Lots	15 0	3
1250		GULBAKGA	REGULAR	110	SC PH	UL2	35	35	1225	U	U	DIAW OF LOTS	U	5
1251	WITHIN 4KMS FROM SHREE CEMENT FACTORY ENTRANCE ON SH-15	GULBARGA	REGULAR	205	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1231	SEDAM (WITHIN MUNICIPAL LIMIT) ON SH-10 RHS	OULDANUA	RECOLAR	203	UFLIN		35	35	1223	23	00		1.5	5
1252	TOWARDS MUDHOL	GULBARGA	REGULAR	395	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1252	MIRKHAL ON SH-165, TALUK BASAVAKALYAN	BIDAR	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	WITHIN 3KMS FROM CHITTAPUR BUS DEPOT LHS													
1254	TOWARDS MALKHED ON SH-126	GULBARGA	REGULAR	390	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1255	KANDAGUL CROSS ON SH 32	GULBARGA	REGULAR	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1256	RIPPANPALLI WITHIN 2KMS FROM TELANGANA BOARDER ON SH-10	GULBARGA	REGULAR	280	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1257	EKAMBA ON SH-122	BIDAR	REGULAR	145	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

					LOCATION LIST									
		Notice for App	ointment		/ Rural Retail O		nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1258	FROM KONCHAVARAM CROSS TOWARDS TANDOOR WITHIN 500 METERS ON LHS ON SH-122, CHINCHOLI TALUK	GULBARGA	REGULAR	170	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1250	WITHN 7KMS FROM HADAGALHARATU CROSS ON	GOLDANGA	REGOLAR	1/0	UT EN			35	1225	23		Draw of Lots	15	
1259	GULBARGA TO AFZALPUR ROAD	GULBARGA	REGULAR	190	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1260	BETWEEN ALAND TO SALGERA ON SH-32	GULBARGA	REGULAR	115	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1261	FATHEPUR TO MANEKHANAHALLI ON SH 122	GULBARGA	REGULAR	210	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1262	BIDAR CITY (WITHIN MUNICIPAL LIMIT)-3	BIDAR	REGULAR	250	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1263	CHITTAPUR WITHIN MUNICIPAL LIMIT	GULBARGA	REGULAR	300	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1264	BHALKI TOWN (WITHIN MUNICIPAL LIMIT)-1	BIDAR	REGULAR	225	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1265	FROM KODLA TO SEDAM ON SH-15 WITHIN 2 KM TOWARDS SEDAM	GULBARGA	REGULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1266	SINDAGI TOWN NOT ON NH OR SH	BIJAPUR	REGULAR	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1267	BHALKI TOWN (WITHIN MUNICIPAL LIMIT)	BIDAR	REGULAR	205	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1268	SHAHABAD TOWN ON SH-50, WITHIN 2 KM FROM SHANKARWADI BRIDGE	GULBARGA	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1269	NAGOORA VILLAGE WITHIN 2KMS FROM SASDHU GHAT CHOWKE RHS TOWARDS BIDAR ON SH122	GULBARGA	REGULAR	115	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1270	HULSUR CROSS ON SH-165 OR SH-11	BIDAR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1271	BIDAR CITY (WITHIN MUNICIPAL LIMIT)-2	BIDAR	REGULAR	250	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1272	HALLIKHED (B) TOWN ON MANNEKHELLI ROAD(WITHIN MUNICIPAL LIMIT)	BIDAR	REGULAR	210	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
1273	KURUGODU - 2, WITHIN MUNICIPAL LIMITS	BELLARY	REGULAR	192	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1274	KUDLIGI TOWN, GUDEKOTA ROAD ON SH	BELLARY	REGULAR	138	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
1275	PARAMADEVANAHALLI ON NH 67 LHS FROM BELLARY TO ANANTAPUR	BELLARY	REGULAR	260	OBC	СС	35	45	1575	25	10	Bidding	30	4
1276	VENIVEERAPURA TO START POINT OF NEW BELLARY BYPASS, LHS ON NH 67 (OLD NH 63)	BELLARY	REGULAR	371	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1270	UJJINI ON SH	BELLARY	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1277	BELLARY TOWN, OPD CIRCLE TO MOTI CIRCLE	BELLARY	REGULAR	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
1273	BELLARY CITY WITHIN 1.5 KM RADIUS OF KANEKAL	DELCAN	ALGOLAN	1/0			20	20	400	23	10	Didding	50	5
1279	BUSTAND	BELLARY	REGULAR	230	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

					LOCATION LIST	- BPCL								
		Notice for App	ointment	of Regular ,	/ Rural Retail Ou	utlet Dealersh	nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c				e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1200	LHS ON THE PROPOSED KUDATINI BYPASS (NH 67)	DELLADY	DECLUAR	260	ODEN		25	45	4575	25	10	Diddiaa	20	F
1280	TOWARDS BELLARY	BELLARY	REGULAR	260	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1281	CHAPPARADAHALLI ON SH2	BELLARY	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1282	BETWEEN KUDLIGI AND HOSAHALLI ON NH 50	DELLADY	DECLUAR	107		CFC	25	45	4575	0	0	Duraw of Late	0	2
1282	TOWARDS CHITRADURGA EITHER SIDE KOTTURU VILLAGE, ON SH 131 TOWARDS	BELLARY	REGULAR	187	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1283	HAGARIBOMMANAHALLI WITHIN 2 KM FROM BUSTAND	BELLARY	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1284	TALURU VILLAGE, CHANNALA TO TALURU ON EITHER SIDE OF NEW SH 128	BELLARY	REGULAR	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1285	SINDHANNUR TOWN	RAICHUR	REGULAR	140	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1286	NAVALI ON SH 63	KOPPAL	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1287	DAROJI ON SH 29	BELLARY	REGULAR	145	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1288	HOSPET TOWN WITHIN MUNICIPAL LIMITS	BELLARY	REGULAR	155	OPEN	CC	20	20	400	25	10	Bidding	30	5
1289	ROYAL CIRCLE TOWARDS GUNTHAKAL WITHIN BELLARY MUNICIPAL LIMITS	BELLARY	REGULAR	240	OPEN	СС	20	20	400	25	10	Bidding	30	5
1290	HOSPET TO KAMALAPUR ON SH 49, EITHER SIDE	BELLARY	REGULAR	180	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1291	EMMIGANUR ON SH 132 EITHER SIDE	BELLARY	REGULAR	104	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1292	LHS FROM BELLARY TO AP BORDER(TOWARDS HIRIYUR) ON NH 150A	BELLARY	REGULAR	245	OPEN	СС	35	45	1575	25	10	Bidding	30	5
	BAGAWADY ON SH 128 LHS TOWARDS													
1293	MANTRALAYA	BELLARY	REGULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1294	KAMPLI WITHIN MUNICIPAL LIMITS	BELLARY	REGULAR	140	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
	GUNASAGARA (KUDLIGI TALUK) EITHER SIDE ON SH													
1295	131	BELLARY	REGULAR	129	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1296	TORANAGALLU TO KPCL LHS ON NH 67	BELLARY	REGULAR	384	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1297	BELLARY CITY, COWL BAZAAR	BELLARY	REGULAR	200	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1298	HOSPET TOWN, WITHIN 2 KMS RADIUS OF CITY HOSPITAL	BELLARY	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1299	BETWEEN TEKKELAKOTE AND SIRUGUPPA ON NH 150A EITHER SIDE	BELLARY	REGULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

					LOCATION LIST	- BPCL								
		Notice for App	ointment	of Regular ,	/ Rural Retail Ou	utlet Dealersh	nips in the	e state o	of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c				e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1300	MARIAMANNAHALLI ON SH25 WITHIN 5 KM FROM NH 50	BELLARY	REGULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1301	ALADAHALLI, BELLARY TALUK ON PROPOSED BELLARY BYPASS (NH 67)	BELLARY	REGULAR	280	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1202	HALINUR CROSS TO SIRUGUPPA WITHIN 5 KM		DECLUAR	210	ODEN	56	25	25	1225	25	60	Denve of Lots	15	F
1302 1303	EITHER SIDE ON SH 63 BELLARY CITY - 2, WITHIN MUNICIPAL LIMITS	BELLARY BELLARY	REGULAR REGULAR	210 255	OPEN OPEN	DC CC	35 20	35 20	1225 400	25 25	60 10	Draw of Lots Bidding	15 30	5
1303	SHAHABAD TOWN ON SH-125	GULBARGA	REGULAR	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1304	HOLEGUNDI (HADAGALLI TALUK) ON SH	BELLARY	REGULAR	123	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1305	BADANAHATTI ON SH 132 EITHER SIDE	BELLARY	REGULAR	160	OBC	DC	35	35	1225	25	60	Draw of Lots	15	5
1300	BELLARY TOWN, MOKA ROAD	BELLARY	REGULAR	200	OPEN	СС	20	20	400	25	10	Bidding	30	5
1307	SANDUR -2, WITHIT MUNICIPAL LIMITS	BELLARY	REGULAR	169	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1300	GOWRIPUR, SANDUR TALUK ON SH 40	BELLARY	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	HOSPET TOWN, WITHIN 2 KMS RADIUS OF LAKSHMI													
1310	TALKIES	BELLARY	REGULAR	100	OPEN	DC	20	20	400	25	45 60	Draw of Lots	15	5
1311 1312	SANGANAKAL ON SH 132 SANDUR TOWN WITHIN MUNICIPAL LIMITS	BELLARY BELLARY	REGULAR REGULAR	145 177	OPEN CC 1 OBC	DC DC	35 20	35 20	1225 400	25 25	60 45	Draw of Lots Draw of Lots	15 15	5
1312	HAGRIBOMMANAHALLI 2 WITHIN MUNICIPAL LIMITS	DELLAKT	REGULAR	1//	UBC		20	20	400	25	45		12	4
1313	LIMIT	BELLARY	REGULAR	214	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1314	HAGARIBOMMANAHALLI TOWN WITHIN MUNICIPAL LIMITS	BELLARY	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	BETWEEN SAI BABA CIRCLE AND SRI KRISHNADEVARAYA CIRCLE ON HOSPET BYPASS													
1315	ROAD	BELLARY	REGULAR	181	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1316	TARANAGAR, SANDUR TALUK ON SH 40	BELLARY	REGULAR	114	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1317	BETWEEN SANNUR AND MUTPA ON SH-10	GULBARGA	REGULAR	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1318	KURUGODU TOWN WITHIN MUNICIPAL LIMITS	BELLARY	REGULAR	172	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1319	KOTTURU TO ITTIGI ON SH45 WITHIN KOTTURU TOWN PANCHAYAT LIMITS	BELLARY	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1315	UTTANGI (HADAGALLI TALUK) ON SH	BELLARY	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1321	LHS ON MARIYAMMANAHALLI TO CHILAKANAHATTI ON NH 13 (NEW NH 50)	BELLARY	REGULAR	195	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

					LOCATION LIST	- BPCI								
		Notice for App	ointment		/ Rural Retail Ou		nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1322	HUVINAHADAGALLI WITHIN MUNICIPALITY LIMIT	BELLARY	REGULAR	105	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1323	SHAHPUR CITY-2 WITHIN MUNICIPAL LIMITS	YADGIR	REGULAR	150	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
1324	shahpur road,yadgir(SH-15)	YADGIR	REGULAR	290	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1325	BETWEEN TORANGALLU TO VADRAHALLI EITHER SIDE ON NH 67	BELLARY	REGULAR	280	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1326	RUPANAGUDI ON SH 128	BELLARY	REGULAR	115	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1327	raichur to mantralay raod on NH-167	RAICHUR	REGULAR	260	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1328	HULKAL VILLAGE TOWARDS JEWARGI ON NH-150A, WITHIN 2 KM RADIUS	YADGIR	REGULAR	250	OPEN	сс	35	45	1575	25	10	Bidding	30	5
1329	Krishna bridge to yermaras on RHS-NH167	RAICHUR	REGULAR	290	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1330	FROM MASKI TO SANTEKALLUR ON NH-150A	RAICHUR	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1331	RAICHUR CITY TOWARDS CHANDRABANDA ROAD	RAICHUR	REGULAR	240	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1332	HIREKOTNIKAL, RAICHUR ON SH 23	RAICHUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1333	Mudgal to Medkinal on SH	RAICHUR	REGULAR	145	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1334	RAICHUR CITY-2	RAICHUR	REGULAR	210	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1335	yadgir to mustur road on MDR(yadgir station road)	YADGIR	REGULAR	215	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1000	shripuram junction 2 km from junction RHS towards													_
1336	sindhannur	RAICHUR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1337	WITHIN 2 KMS FROM M P PRAKASH NAGAR, WITHIN HOSPET MUNICIPAL LIMIT	BELLARY	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1337	2KM STRETSH AFTER RAIHUR BYPASS ON SH-20	RAICHUR	REGULAR	280	OPENCCI	DC	35	35	1225	25	60	Draw of Lots	15	5
1338	within 2km radius from devapur cross on sh-61	RAICHUR	REGULAR	280	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1339	nawalkal village on SH-20	RAICHUR	REGULAR	180	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1340	SOMALAPUR TO GOREBAL ON SH-63	RAICHUR	REGULAR	169	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1341	ASHAPUR ROAD,RAICHUR	RAICHUR	REGULAR	109	OBC	DC	25	20	500	25	45	Draw of Lots	15	4
1342	GUGAL TO HIRERAIKUMPI ON LEFT SIDE	RAICHUR	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1344	DEVDUDRGA CITY WITHIN MUNICIPAL LIMITS	RAICHUR	REGULAR	190	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1345	DEVDURGA ON GULBARGA ROAD,RHS	RAICHUR	REGULAR	200	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1346	anpur village on SH-16, yadgir	YADGIR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1347	From Narayanpur cross on SH-11 within 300 meters on RHS towards KSRTC Bus Stand, Basavakalyan	BIDAR	REGULAR	180	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

					LOCATION LIST	- BPCI								
		Notice for Apr	ointment		/ Rural Retail Ou		hips in th	e state	of Kar	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area o	n Dimensio	ion (in	Finance to b	be arranged by applicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	of	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	
1348	FROM IMPERIAL FUNCTION HALL TO MUNDERGA CROSS ON SH-16	YADGIR	REGULAR	220	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1348	KOLAKUNDA CROSS ON SH-122	GULBARGA	REGULAR	150	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
1345	raichur city,WITHIN 0.5 KM RADIUS OF SASHIMALA		heodean	150					1223	- 25		Diawortota	1.5	
1350	TALKIES	RAICHUR	REGULAR	280	OPEN	СС	20	20	400	25	10	Bidding	30	5
1351	KARAJAGI ON SH-154	GULBARGA	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1352	yadgir town	YADGIR	REGULAR	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1353	WITHIN 3KM OF KODAGANUR CROSS ON TALIKOTI KEMBAVI ROAD	BIJAPUR	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1354	RAM SAMUDRA ON SH 16(YADGIR TO GURMTIKAL BEFORE RAICHUR CROSS)	YADGIR	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1355	RAICHUR CITY-1	RAICHUR	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1356	WADI ROAD, YADGIR ON SH-149	YADGIR	REGULAR	220	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1357	sirwar town within municipal limits	RAICHUR	REGULAR	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1358	MATALA ON SH-51	BIDAR	REGULAR	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1359	within 2 km radius at SH 128 cross, on SH 20(kavital)	RAICHUR	REGULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1360	Krishna bridge to yermaras on LHS-NH167	RAICHUR	REGULAR	300	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1361	CHENNUR VILLAGE DISTRICT YADGIR	YADGIR	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1362	from gunj circle to raichur by pass-city bounds	RAICHUR	REGULAR	325	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1363	BYAKOD TO YALGOD ON SH124 IN SINDAGI TALUK	BIJAPUR	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1364	KHANAPUR VILLAGE SHAHPUR TALUK	YADGIR	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	2 KM STRETCH ON EITHER SIDE OF BHIMA BRIDGE-	, 	[
1365	YADGIR	YADGIR	REGULAR	250	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1366	SHORAPUR	YADGIR	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1367	YADGIR CITY TOWARDS RAMSAMUDRA ON SH-16	YADGIR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1368	gurmitkal on SH-126	YADGIR	REGULAR	250	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1369	basaveshwara circle-hunsagi on SH 61 within 4km radius	YADGIR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1370	GUNDAWAN TO SONAKANAHALLI CROSS ON LHS NH52	BIJAPUR	REGULAR	260	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1371	TALIKOTI TO MUKIHAL ON SH124	BIJAPUR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3

					LOCATION LIST	- BPCL								
		Notice for App	ointment	of Regular	/ Rural Retail O	utlet Dealers	nips in the	e state o	of Karr	nataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	pe arranged by pplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
	DEVAR HIPPARGI ON TAMBA ROAD WITHIN TOWN													
1372		BIJAPUR	REGULAR	200	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1373	ZALKI TO HALSANGI CROSS ON RHS ON NH52 WITHIN 5KM OF BATGUNKI VILLAGE ON HALSANGI-	BIJAPUR	REGULAR	380	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1374	INDI ROAD	BIJAPUR	REGULAR	100	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
1375	Mulvad Cross to Ronihal on NH 218	BIJAPUR	REGULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1376	KAVALGI TO HADAGALI VILLAGE ON NH218	BIJAPUR	REGULAR	230	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1377	HORTI TO GUNDAWAN ON LHS ON NH52	BIJAPUR	REGULAR	290	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1378	BIJAPUR CITY ON INDI ROAD BEFORE NH13 CROSS	BIJAPUR	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1379	DEVAR HIPPARGI TO KONDAGULI-KORAWAR CROSS ON TALIKOTI ROAD	BIJAPUR	REGULAR	127	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1380	BAGALKOT ROAD (NH52) FROM IBRAHIMPUR TO JUMNAL RAILWAY LEVEL CROSSING	BIJAPUR	REGULAR	225	OPEN	сс	35	45	1575	25	10	Bidding	30	5
1381	KANNAL CROSS TO AGASNAL ON NH52 ON RHS	BIJAPUR	REGULAR	370	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	MARGUR CROSS TO DHULKED VILLAGE ON LHS ON													
1382	NH52	BIJAPUR	REGULAR	375	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1383	BIJAPUR CITY WITHIN MUNICIPAL LIMITS	BIJAPUR	REGULAR	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1384	UNNIBHAVI CROSS TO YELAGURU ON NH50	BIJAPUR	REGULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1205	BISNAL CROSS TO BIJAPUR DISTRICT BORDER ON	DUADUD	DECUMAE	220	0551		25		4575	25	75	Danie († 1	45	-
1385	NH50 (OLD NH218)	BIJAPUR	REGULAR	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1386 1387	SALOTAGI VILLAGE IN INDI TALUKA	BIJAPUR	REGULAR	100 150	OPEN CC 1	DC DC	35	35 35	1225 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
1387	WITHIN 2KM OF MATTIHAL CROSS ON SH124 DEVAPUR CROSS ON NH-150A WITHIN 4KMS	BIJAPUR YADGIR	REGULAR REGULAR	150	OBC ST	CFS	35 35	35 45	1225	0	60 0	Draw of Lots Draw of Lots	0	4
1388		YADGIR		165	OPEN	DC	20	45 20	400	25	45		15	3
1389	SHAHPUR TOWN WITHIN MUNICIAPL LIMITS BASAVAN BAGEWADI TOWN ON MUTTAGI ROAD	YADGIK	REGULAR	150	UPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1390	(SH124)	BIJAPUR	REGULAR	205	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1391	INDI TOWN ON INGALGI ROAD	BIJAPUR	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1392	SOLAPUR ROAD IN BIJAPUR CITY (NOT ON NH)	BIJAPUR	REGULAR	210	OPEN	CC	20	20	400	25	10	Bidding	30	5
1393	Within 4km of Tumbagi on Talikoti Devar Hippargi road	BIJAPUR	REGULAR	205	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1394	NAGATHAN ON LHS FROM BIJAPUR TO INDI	BIJAPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

					LOCATION LIST	- BPCI								
		Notice for App	ointment				nips in the	e state (of Karr	ataka				
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1395	BIJAPUR CITY ON RING ROAD WITHIN 2KM OF JAMKHANDI ROAD CROSS	BIJAPUR	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1396	INDIRA AUTO NAGAR, BIJAPUR CITY	BIJAPUR	REGULAR	140	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1397	KAMBAGI TO HOSUR VILLAGE ON SH55	BIJAPUR	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1398	BIJAPUR CITY ON MANAGOLI ROAD	BIJAPUR	REGULAR	215	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1399	NTPC main gate to Muthagi Cross on SH124	BIJAPUR	REGULAR	165	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1400	WITHIN 4KM RADIUS OF BASAVESHWARA CIRCLE IN TIKOTA TOWN ON SH12	BIJAPUR	REGULAR	205	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1401	WITHIN 2KM OF JEVOOR VILLAGE ON ZALKI- CHADCHAN ROAD	BIJAPUR	REGULAR	270	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	On Ring road from Afsalpur Takke road cross to													
1402	Solapur road intersection in Bijapur city	BIJAPUR	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1403	NALATHWAD TOWN WITHIN 4KM OF VEERESHWAR CIRCLE - NARAYANPUR ROAD	BIJAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1404	BIJAPUR CITY ON DARGA JAIL ROAD	BIJAPUR	REGULAR	175	OPEN	CC	20	20	400	25	10	Bidding	30	5
1405	NH13 cross to Aliyabad on SH34	BIJAPUR	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1406	Babanagar to Maharashtra Border on SH-43	BIJAPUR	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1407	DEVOOR TO DINDAWAR ON SH41 IN DEVAR HIPPARGI TALUKA	BIJAPUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1408	BIJAPUR CITY ON STATION ROAD FROM AMBEDKAR CIRCLE TO GOLGUMBAZ POLICE STATION	BIJAPUR	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1409	BASAVAN BAGEWADI WITHIN 3KM OF BASAVESHWARTEMPLE ON HUVIN HIPPARGI ROAD	BIJAPUR	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	MUDDEBIHAL ON SH41 TOWARDS NALATHWAD ON													
1410	LHS	BIJAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1411	HITNAL ON SH 130	KOPPAL	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1412	BHANAPUR TO BANNIKOPPA, ON NH 67, LHS TOWARDS GADAK	KOPPAL	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1413	HIREARELIHALLI TO MANDALMARI ON SH 36	KOPPAL	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1414	MUNIRABAD TO HITNAL TOLL ON NH13(NEW NH50), LHS TOWARDS KUSHTAGI	KOPPAL	REGULAR	225	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1415	IRKALGADA ON SH 36	KOPPAL	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

	LOCATION LIST - BPCL													
	Notice for Appointment of Regular / Rural Retail Outlet Dealerships in the state of Karnataka													
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area c	Dimensi	on (in	Finance to b	e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1416	PARAPUR ON SH 63	KOPPAL	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1417	BUDUGUMBA CROSS TO KUKANPALLI, ON NH 50 (OLD NH 13), LHS TOWARDS KUSHTAGI	KOPPAL	REGULAR	205	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1418	PUTAKMARI TO KUSHTAGI ON NH 50(OLD NH13)LHS TOWARDS KUSHTAGI	KOPPAL	REGULAR	204	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1419	KARATAGI ON SH 63	KOPPAL	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1420	ALWANDI ON SH 23	KOPPAL	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1421	KIRLOSKAR STEEL PLANT TO KOPPAL GADAK BYPASS ON NH 67, LHS TOWARDS KOPPAL	KOPPAL	REGULAR	210	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1422	ANEGUNDI ON SH 130	KOPPAL	REGULAR	100	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
1423	valmikinagar-yadgir not on SH/NH	YADGIR	REGULAR	130	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
1424	YELABURGA 2 WITHIN MUNICIPAL LIMITS	KOPPAL	REGULAR	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1425	KOPPAL TO HALAGERE ON NH 67 (OLD NH 63)	KOPPAL	REGULAR	210	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1426	BUDIGUMBA ON SH 23	KOPPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1427	DASANALLA ON SH 23	KOPPAL	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1428	KUSHTAGI-TAWARGERE ON SH 30 2KM FROM NH 50	KOPPAL	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1429	HERUR TO SULEKAL ON SH 29	KOPPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1430	BASAVAPATTNA TO ODDARAHATTI ON SH 23 GUDUR TO HUNUGUND ROAD,KATAPUR CROSS ON	KOPPAL	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1431	SH 14,KOPPAL	KOPPAL	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1431	BANDI CROSS ON SH 129 OR SH 30, KOPPAL	KOPPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1432	DOTIHAL ON SH 47	KOPPAL	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1434	HIRESINDOGI ON SH 23 OR 129	KOPPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1435	YELABURGA WITHIN MUNICIPAL LIMIT	KOPPAL	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1436	HASSAN ROAD, WITHIN KOPPAL MUNICIPAL LIMITS, NOT ON SH	KOPPAL	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1437	BELLARY CITY - 1 (WITHIN MUNICIPAL LIMITS)	BELLARY	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1438	BEWOOR ON SH	KOPPAL	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1439	KANAKAGIRI WITHIN MUNICIPAL LIMITS	KOPPAL	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1440	KOPPAL CITY WITHIN MUNICIPAL LIMITS	KOPPAL	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1441	GANGAVATY 2, WITHIN MUNICIPALITY LIMITS	KOPPAL	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

	LOCATION LIST - BPCL Notice for Appointment of Regular / Rural Retail Outlet Dealerships in the state of Karnataka													
			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area d				e arranged by oplicant	Mode of Selection		
SI. No	Name of location	Revenue District	Regular/ Rural	(MS+HSD) in Kls	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	(Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1442	KOPPAL CITY 2 WITHIN MUNICIPALITY LIMITS	KOPPAL	REGULAR	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1443	GANGAVATHI TOWN WITHIN MUNICIPALITY LIMIT	KOPPAL	REGULAR	115	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1444	KUSHTAGI WITHIN MUNICIPAL LIMITS	KOPPAL	REGULAR	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1445	HULLHAIDER ON SH 29	KOPPAL	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1446	KUSHTAGI CITY 2 , WITHIN MUNICIPALITY LIMITS	KOPPAL	REGULAR	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1447	GUNNAL TO KUSHTAGI ON NH 50 (OLD NH 13) RHS TOWARDS KUSHTAGI	KOPPAL	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1448	GULBARGA CITY ON NEW JEWARGI ROAD LHS TOWARDS JEWARGI	GULBARGA	REGULAR	280	OPEN	сс	20	20	400	25	10	Bidding	30	5
1449	HAGRIBOMMANAHALLI 3 , WITHIN MUNICIPALITY LIMIT	BELLARY	REGULAR	199	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
1450	STATION BACK ROAD IN BIJAPUR CITY	BIJAPUR	REGULAR	200	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

a). If the minimum dimension mentioned here is different from the minimum dimensions mentioned by State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted online by 24/12/2018.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	CC	OBC	5000	ROs	CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Territory	Districts Covered	Address	Contact No.
Bangalore	Bangalore Urban, Bangalore Rural, Kolar, Chikkaballapur	Territory Coordinator (Retail), Bangalore M/s. Shrestha, BPCL Petrol Pump, 1 st Floor, C.A Site No 2, HRBR Layout, 3 rd Block, On Outer Ring Road, Kalyan Nagar, Bangalore – 560043	6364698600 9480887162
Mysore	Tumkur, Hassan, Mandya, Ramanagara, Kodagu, Mysore, Chamarajnagar	Territory Coordinator (Retail), Mysore Mysore Depot, Behind FCI Godown, Mysore- 570016 Contact No : 0821 2510031	6364674581 9620197115
Mangalore	Dakshin Kannada, Uttara Kannada, Udupi, Chikmagalur, Shimoga, Davangere, Chitradurga	Territory Coordinator (Retail), Mangalore Mangalore Coastal Installation, Near APMC Yard, Baikampady, Mangalore-575 011 Contact No. 0824-2407796	6364550782 6364550783 9686656970
Belgaum	Belgaum, Dharwad, Haveri, Gadag, Bagalkot	Territory Coordinator (Retail), Belgaum Near Desur Railway station, At Post : Desur, Zadshahapur, Belagavi-590 014 Contact No. 0831-2494968,	6364687101 9712927278
Gulbarga	Gulbarga, Bidar, Bijapur, Yadgir, Raichur, Koppal, Bellary	Territory Coordinator (Retail), Gulbarga Bilgundi Garden, 1 st Floor, Above SBI Bank, Sedam Cross, Ring Road, Gulbarga – 585102	9740531528 9480887163

Facilitation Centers

Applicants may either approach or contact the facilitation centers established by BPCL for any information regarding advertisement.

Territory	Address of Facilitation Center	Contact Number
	M/s Shrestha, M/s BPCL Petrol Bunk, 1st Floor, C.A Site No 2, HRBR Layout, 3rd Block, On Outer Ring Road, Kalyan Nagar, Bangalore – 560043	6364698600
Bangalore : for the Districts of Bangalore Urban, Bangalore Rural, Kolar & Chikkaballapur	M/s BP-Nelamangala, Company Owned Company Operated Outlet, Sy No 9/1, Kuluvanahalli, On NH-4, Nelamangala, Bangalore Rural District, Pin - 562111	6364034802
	M/s BP-Chikkaballapur, Company Owned Company Operated Outlet, Sy No 69, on NH-4, Guvalakanahalli Village, Chikkaballapur Taluk & District, Pin: 562101	6364698599
Gulbarga : for the Districts of	Territory Office, Bilgundi Gardens, 1st Floor, Sedam Cross, Ring Road, Gulbarga. Pin - 585102	9480887177
Gulbarga, Bidar, Bijapur, Yadgir,	Hospet – Srinivasa Petroleum, Near Sidhalingappa Chowk, Bellary Road, Hospet	9567242590
Raichur, Koppal & Bellary	Raichur- BPC Raichur Depot, Goods shed Road, Raichur	9470148290
	BPCL. Desur Depot, Near Desur Railway Station, Post Jhadshahapur, Belgaum, Pin - 590014	6364687101
5	BPCL SmartFleet Care Centre, c/o. M/s. Desai Brothers, Udyambag, Off Khanapur Road, Belgaum	6364687104
Belgaum, Dharwad, Haveri, Gadag & Bagalkot	Bharat Petroleum Corp. Ltd. Navalur Lubes Depot, Navlur, P B Road, Dharwad. Pin - 580009	6364687105
5	Melligeri Towers, Shop No. FF47, 1 st Floor, Block 'E' Station Road , Bagalkot Taluk/ Distt. Pin – 587101	6364687106

Territory	Address of Facilitation Center	Contact Number
Mangalore : for the Districts of		6364550782
Dakshin Kannada, Uttara Kannada, Udupi, Chikmagalur, Shimoga,	Mangalore Coastal Installation, Near APMC Yard, OffNH-17, Baikampadi, Mangalore. Pin – 575001	6364550783
Davanagere & Chitradurga		9686656970
	BP-CHENNAPATNA , COCO Outlet, Bangalore Mysore Highway, sy.No.166 @2/1, Belagere Village, Maraluru Hobli, Chennapatna Taluk, Ramnagara District. Pin – 562112	6364575195
Mysore : for the Districts of Tumkur, Hassan, Mandya, Ramanagara,	BP- SIRA, Company Owned Company Operated Outlet, NH-4(48), Yemmerhalli, SIRA, Tumkuru District. Pin -572137	6364575196
	BPCL, HPCL Hassan Terminal, KIADB Industrial Area, Mysore Road, Hassan. Pin – 573201	6364575197
	BPCL Mysore Depot, Behind FCl Godowns, Metagally Post, BM Shree Nagar, Mysore. Pin – 570016	6364575198 6364575199

The list & contact details of **BPCL Sales Officers** along with the names of districts they are handling are given below. Applicants may contact the concerned district sales officer too for any queries or clarifications.

S.no	Territory	Name of Sales Officer	Names of Districts Handling	Mobile No
1	Gulbarga	Ramraj G	Bijapur	7736318972
2	Gulbarga	Nikhil T Jayan	Koppal	9567242590
3	Gulbarga	Dilip Kumar	Raichur & Yadgir	9470148290
4	Gulbarga	Gade Sai Durga Venkata Prasad	Bellary	7200606031
5	Gulbarga	Sayed Sadath	Gulbarga & Bidar	9480887177
6	Mysore	Deepa K Kadampat	Mandya & Mysore	9448994451
7	Mysore	Manish Mittal	Mysore, Chamarajnagar & Kodagu	9492414193
8	Mysore	Sarun George	Tumkur	9480887172
9	Mysore	Kiran Naik	Mandya & Ramangaram	9100949357
10	Mysore	Ankar Biswas	Hassan & Mandya	9401182712
11	Belgaum	Nikhil Salunke	Belgaum & Gadag	8197911452
12	Belgaum	Baibhav Bishal	Bagalkot	9538466656
13	Belgaum	Vijaykumar Ashanna Siddi	Dharwad & Haveri	9989305444
14	Belgaum	Rakesh Rai	Belgaum	9448994473
S.no	Territory	Name of Sales Officer	Names of Districts Handling	Mobile No
15	Belgaum	Jithin P	Haveri	9809976331
16	Bangalore	Meka Ravi Hari Prasad	Chikkaballapur & Kolar	9448282928
17	Bangalore	Shubham Singh	Bangalore Rural	9108084488
18	Bangalore	Sabarinath S	Bangalore Urban	9448990900
19	Bangalore	Sujeet Jayarajan	Bangalore Urban	9025501988
20	Bangalore	Himika Boliya	Bangalore Urban	9900816751
21	Mangalore	Sagar Jotiram Toundakar	Shimoga & Chikmagalur	9481322932
22	Mangalore	Vankadoth Chandrakanth Naik	Chitradurga	7893171045
23	Mangalore	Aswin A Mohan	Dakshin Kannada & Chikmagalur	9448990904
24	Mangalore	Vignesh B	Udupi & Uttara Kannada	9591189366
25	Mangalore	Avaes Kashif AZ	Davangere & Shimoga	9019039019